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LUURUL

SGwntuwqhuinpjwl wnwenlpwgp vhdSwwbu wwjlwlwynpywé t
Jwpbtidwwhjwlwl qunwihwpbliph hwppiuwn ghGwbngh b inwbwlyGtph
ogunwagnpSiwip: Ujn wentdny, dwiwlwlywyhg nbnbuwgbnp Ywjwg-
dwl Ywpunp pwnwnphg t bhwlnhpuwlnd Gpw dwpbdwwnhywyw
Yppywénipinibp: bpbwlh whbunwywlb hwiwjuwpwbh nbintuwghunne-
pjwlh dwynipinbinp dwpbdwwphywih wdphnGh Ynndhg dwlwéd dwphk-
dwuwhiwlywd wopwpwbbph nwuwdwiniwb 6pwqpbpp Gywunwlw-
ninnyweé 60 funpwglbpnt wywqw niwnbuwqbtnh hhdGwpup dwpbdw-
nhywywh ghntihpltipp:

Unjl tulinpwghppp Yuquyt t Gplwth whnwhwo bwiwjuwpwbh
nlunbuwghnnipjwl pulynipintitnnud «dbp nidwywl GpYpwswthnip)nil
L géwjhl hwGpwhwahy» wrwpyuwih nwuwydwlniws dpwgphb hwiw-
wwuwwufuwb: Lpw nwubhhlGg bGpwpwdhbGGbpnud plngpyywéd GG nLpe
900 tuGnhpGtp’ YnnpnhlGwunwihl hwiwlwpqbp L ytyunnplbp, ninnp L
hwppnipjwl hwdwuwpniiGlip, dwwnphgbtp L npnzhsltp, qbéwihl hw-
uwuwpnuiGbph L wohwjwuwpnudGtph hwdwywpgbip, qéwha L tyy-
Lthnjwl wwpwoénpynlGGbip, qéwjha dLwipnfunipyniGblip L pwowyniuw-
Jha dubip pidwGbphg:

tlhpwpwdhGltpp ubuynd GG whhpwdtizn nbuwlywl Gnuph utind
wpwnpwipny b hwiwpwé GO0 hwiwwwwnwuhiwl niwmbuwghnw-
Ywb plnyph dtY0wpwbnip)ntGGtipny nu fuGnhpbbpny:

hGnpwghppp Ywpnn t ogunwlwp [hGhp Gwbl wyp dwyniiintinnbliph
nuwbnnGbph hwdwn:

huGnpwahppp Ywqdbihu vhpny oqundly LGp dbp qnpépGuLpGERh
wpdtipwynp wrwowpynipniblGtiphg nu nhwnnnnipinlbbtphg: UnwGabw-
Yh 20nphwlwinipjwdp tbp plngénid Bplwbh whwnwywl hwiwjuwpu-
Gh nbOwnbuwghuninipjwG dwyntinbinh wypndbunplbp 3. Twqupywbh, U.
Uwhwljwlp L nngblun N Ywypjwbh dnnwiwl nt pindGwynp wowy-
gnip)nilp: Utp BpwpinwghuningniGl Ghp huynlGned bpblwlh wybunw-
Ywl hwdwpuwpwbh dwpbiwwnhywjh dwlnintinh hwipwhwygh L Gpy-
pwswihnip)wl widphnbh wuwwnwyhglbphl, hwwnjwwbu' wypndtiunp
3nt. UnjuhujwlGhb L nngllGunGtp L. Gwipunjwlhb nu 4. Ohhwynujwbh,
fuGnpwagpph dwlpwiwulG pGptpgiwl nu wpdtipwynp funphnipnbbph
hwdwp:



dGrLAFSUWUL Gruru2uent@3uu surrse

1. uNNPAbLUSLEGNh JUULLUNAGP

Utwinh YnnpnhGuwnGtp 6O Yngdned wyG pytipp, npnGg dhongny npnp-
ynud t yewnp nppplb ninnh Ypw, hwppnipyjwl ypw, tnwpwdnipjub dbo:

1.1, YWYwpuywbd YnnpphGwwnGp nuinnh Ypw: Ntnhnp, nph dpw
pGunpdwé t nunnnipyntl Yngynid t wewbgp: CanniGwé t pGupywd nun-
nnpynt00 wlywll) ppwhwl, huy hwiwnwy nuinnnipynilp’ pwgwuw-
Ywl. ChnptGe mnnh Ypw bGpynt wwppbp O L E ytunbp wjlwbu, np
O-hg E nunanipynilGp hwdpGyGh nignp ypw pGunpdwé npulwG ninnne-
pjwG htwn: OE hwuwywoéh dhongny swihynud bt wiklh dh hwwnywéh
tpywpnipyniG (OE -G dwupnwph dhwynpG t° |OE| = 1): Nunhnp, nph
dnpw pGunpywé t nuinanepnilp, O wviqelwlbng L dwuinwph Shwynpp,
Ynsdnud t Ynnpaplbuwinuypl wawlgp (Ox pyuphG wnwigp):

PyuwyhG wrwhGgph Ypw qubynn Ywiwjwlwld M ybwnh pbywmmnywl
YnnpnpGun wldwanud 66 OM hwwndwdh Gpywpnipynilp, Ybipgpwé
wynu Gawhny, tpt O-hg M nunnnupynilp hwipGyGnud t wowGgph
npwlwh ninnmpjwl htwn L GhGne Gowany’ hwywrwy nbwpnid: Uja
thwuwnp, np M LG nbh X YnnpnhGwinp qpuGgynud b wyuwbiu® M(x):
Ujuwhuny, ninnh Ypw qunGynn guibywgwé M Ytwnh hwiwwwwnwupuw-
Gtgynud t npnawyh hpwywG phy (hp YnnpnhGunp) L hwiwnwyp
npqwé hpwiwb pyny YnnpnhGwinwihl wrwGgph ypw npnynd t wyl
Ghwy YGwp, nph YnnpnhGwwnG t wyn phdp: Uju hwuwnp hGwpwynpni-
pjnti t wwihu Ybwnp hnjuwptt nhowpyl) hwiwwywwnwupuwd phyp’
Gpw YnnpnhGwwnp:

bpt Mi(x1) -p b Ma(X2) -p YnnpnhGwuinwihG wewbGgph bpyne Ytintp
G0, www Gpwlg Ghebt htnwynpaipynilp wipynid t htwnbyw| pwlwdlny
p My, M) =| M1M2| = IXz - X1|1

1.2, YWlwpmywG ninquaymG YnnpnhlwnGbp hwppnipjwl Ypw:
Swppnipjwl Ypw nwlblp hwyjwuwp Jwuauwpny tpyne thinfuninnw-
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huwjwg YnnpnhGwwnwihG wowbGgpltp’ Ox (wpughuGiph wnwGgpp) L
Oy (opnhGwwnGtph wnwGgpp): YnnpohGwwiwhG wowlgpliph hwn-
dwh O Yl wGqwbnud GG fnnppplunntbinh uyqpluwlbur. Gpt OE,—p L
OE; —p hwiwwwuwuhwlwpwp Ox b Oy wnwGgpltph dwuwnwph
dhwynpGlpG 6G, www |OE,| = |OE,| = 1:

Ohgnip” M -p hwppmpjwl Judwjwiwh Yt b SwakGp M Ytwnny
Oy ynnpnhGwwwiht wowGgphl gnigwhtn ninhn: OX wowGgph htwn
Gpw hwwndwG M, ytwnh (ypntiyghwih) x YnnpnhGwinG wiwinid 56 M
Ytinh wowehl YnnpphGwin, Ywd M Ytwnh wpughu: 6pti M-p M Ltinnh
wpntiyghwt t Oy wowGgph dpw, wwyw M, Ytwnh y YnnpnhGund
wGwlnud 56 M Ytwnh Gpypnpn Ynnpahbwin, Yuwd M Ytwnh opnhGuin:
UG thwuwnp, np M 4G niGh x L y nbupunjwl nunnwlniG Ynnpnh-
Guuwnbtp qpubgymd t wjuwbu™ M(X, y): Ujuwhuny, hwppnipjwl ypuw
jpwpwlgnp Yhnh hwiwwwwnwuhiwlnipjwl dt9 £ npdnud pytiph
Ywpquynpywé qnuq: Uynwu Ynndhg, pytiph npdwé (X, y) Yupquynp-
Jwé qniygh hwdwp hwppnipjwl pw gnynepynid ntGh dpwy Ybwp, nph
njwpuywl nqqwoynl YnnpnhGwnbGhpd &6 x-p L y-p: UnnpnhGw-
nwht wnwOgpObpt wyn wrwGgpltiphl swwwnywlnn hwppnipjw yb-
wbipp pwdwlnud GG gnpu dwubph, npnlGp Ynsgynid GG pwnnpnlbp:

Bpt My(X4, Y1) -0 L My(X2, ¥2) -p hwppnipjwl Yuidwjwlwl Yewnbp &G,
wuww GpwOg sheb hbnwynpnipynilGp npnzynid £

P My, M) = MM, =\/(X2 -x) +(y,—y,)° pwlwalny:

1.3. YWYwpwywl npnubynG YnnpnhGwwnlGbp nwpwonipjwb dbo:
PGnhwlmp O uyqplwybwnnyg, dpLlnyl dwupwwpwihG dhwynpny L
npnwyh Ywpgny hwiwpwywiywé tiptip thnfuninqnuwhwjwg wnwbgplh-
pp vwpwdnmpjulb dbe Ywqind &G YnnpnhGwinGtiph nlijwpunjwh
nunnwiyniG hwdwywpg: O Ybwnp Ynsynmd t hwdwlwpgh uyqpbulybn,
huly wnwbgpblpp” YnnpnhlwwwihG wnwGgpllp, pGn npnud wnwehlp
wpughultph Ox wnwlgp, tpypnpnp’ opphGwunGtph Oy wnwlgp,
Gppnpnp” wwy hywunGlbph Oz wnwlgp:

Ohgnip' M -p nwpwénipjwl juidwjwlwl Yo b SwhkGp w)n Yyb-
wnny YnnpphbwwwjhG wnwigpltphl ninnuhwywg Gptip hwppnipyniG-
GGp, npnGg hwwndw( YGwbkpp hwiwwwunwuhuwld wnwGgpbtiph hbun
Gwlwytop M, My, M,: 6pti M, {tiinp Ox wnwGgph Yypw nibh X ynnp-
nhGwwp, My-p° Oy wnwlgph dpw y YnnpphGwwp U M,—p° Oz
6



wnwigph Ypw z YnnprhGunp, wyw M Ybwnh nbiwpuywb ninqwyyne
YnnpnhGwwnGbip GG Yyngynid X, y, z pYtipp: UjG hrwuwnp, np M YbwnG niGh
X, ¥ b Z YnnpnhGwwnGbpp qpwlgyntd b wyuwbu™ M(X,y,z): Ujuwhund,
vwnwonpjwl jwiwjwlwt Ybnh hwiwywunwuluwanipjwl Gt L
npyniud pytiph Jupqwynpywd tinjul Gpw nbywpunywb Ynnp-nhGwwnlb-
pp: 3wlwowlp” Gpt wpgwé t (X, Y, z) pdtph Ywpquynpdwd tinjwyp,
www Jwpbh b ywenglp dhwy M Yeno wGybu, np x-p thGh Gpw
wpughup, y-p° opnhGwwnp, z-p° wwihyuwwinp: YnnpnhGwwnw)hl wnwbgp-
Otiph jnipwpwbiginip qnuyg npnand b YnnpnhGwunwihG hwppnipniG:
Oxy, Oxz, Oyz-ny GuwGwyqwé YnnpnhGwwwihG hwppnipyniGGbipp
w)n hwppnipintGGaphl swwwnwbnn Yhnbpp pwdwinid GG nip dwubph,
npnbp Yngynd G oyunwGinbbp:

Epb Mi(X1, ¥, Z4)-p b My(X, Y2, Z2)-p nwpwénipjwl tipynt Yudw)w-
Ywh Ybwnbp G0, wwyw Gpwag dhelk htnwynpnipjnilp npn2ynud b hb-
nljw pwlwalny

P M1, My = [ MM| = J(x, - x,)* + (3, =37 +(2, - 2,)* :

1.4. Jwndwdh pwdwlnuip npdwé hwpwpbpnpjwip: bpl M(x, y, z)
Yawnp Mi(Xy, Y1, 249) bW Ma(X2, Y2, Z2) Swjpwlbwntipny hwndwép pwdw-

. MM
Gnud £ A hwpwpbpmpjwdp, hwaqws M; -hg” A =|—1—|. wwuw Gpw
MM, |
YnnpnhGwuwnGbpp npnzydnud GG
+Ax, +A +A
=020y N T2 700 pygwaltnny:

1+4 ' 1+A 1+ 4

1.5. Qulqwoébbph hwiwywpgh Swhpnipjwlb YhGupnGp: thgnip M,
M., ..., M, quigywéGbpp nbnunpdwé 66 nwpwénpywl My(X,, vy, Z4),
Ma(X2, Y2, Z3), ..., Mn(Xn, ¥n,Zn) Ytnbipnid hwiwwwwnwuhiwbwpwp: Upn
nbwpnd hwiwywpgh M(X, y, z) dwipnipjwlG Yhwpnbh YnnprhGuwn-
Gbpp npnzynid LG

_mx, +tmyx, +..+mx, my +m,y, +..+tmy,

] ’

m +m,+..+m, m+m,+..+m,



g= e +m,z, +...+m,z,

m +m, +..+m,
pwlwdlbpny:

1.6. PLbnwjhG YnnpnhGwwnGbin: anpprjuJﬁ ypw pGunpkGp nplut Ybw,
OwOwyblp wih O-nY L wiwlkGp pbbe: COGnpkGp Gwlk O-hg nnipu
tynn Ox Swnwqupp’ GYwd dwunwpny, npp YwldwokGp phbruypl
wnwligp: dtpghtGp hwppnipjwl Juwiwjwywd M YGwn: LywGwlybbp
P -ny (0L p <+oo) wyn YGwnh hbnwynpnipynilp plubinhg L wyl wojw-
GbOp plbnuyhl pwnwiphn. PLbnwhG YwojwbbGp wit @ (0<@<2m)
wayynibp, npny dwidujwph hwlwewy ninanipywip wbwnp b ynnbp Ox
Swnwquypp GhGsk OM-h htitn hwipGlGhp: M Ybwnp plbinwghG ynnpnh-
Gwwbbp GO Yngdnd Gpw o plbnwihG wpwdhnp L @ plLbinwhG
walyynilp (qpdnd t° M(0,9)): Gpt hwppnipjwl Ypw vwhiwbyws b
Gwbk Oxy nbywpunywh ninnwblynid hwiwlwpgp, www (X, y) nblwpun-
jwli L (p,9) pubnwhl YnnpnhGwwnbGtpp Ywwynd GG x =pcos@,
y=psin@ pwlwdlbpny:

1.1. Ljwpwgpti pywjhl wowlgph wjG ewnbph pwqdnipjnilp, npnlg
YnnpnhGwwnlbpp pwywpwpned G0 hbnbyw] wwjdwbGatpha.

1) |1 =2 2) x-3<0 3) -2<x<5
4 l<x<? 5) [2-3x>4 61 <
2—x
2—Xx

x*+x-12>0 8) x> +8x+15<0 9) > 0:

x—
| AC|
1.2. GGk /1=|—C—73|— hwpwptpnipyniGp, npny C Ybwnp npnhnud ¢

A L B dwjpwybwnbpny hwindwép, tipb

1) A(2),B(6),C(4) 2) A(-1),B(5),C(3) 3) A(5), B(-2),C(3)
4) A(1),B(13), C(5):



1.3. Qunlbp hbwnlyw) dwjpwybinbipny hwindwéh dhelGwybwh Ynnpnh-
Gwuwp

1) A(3), B(5) 2) A(-1), B(5) 3) A(-1), B(-3) 4) A(2), B(12):

1.4, Bwjht wnwlgph Yypw qwGht; M YGwh YnnpnhGuwp, bpb
hwjnGh k, np

M M|
1) M,(3). M2(7)h)l=__=
MM, |
M M|
2) M2, M,(5) b A =IMML
) M(=2), M,(5) Yo
MM| 1
3 M,(-1), M.3) L A= gl
) M, (-1), M,(3) MM 2
HM O, MG b A=MML_L
MM, 3

1.5. Spqwé A(5) L B(-3) ytimbph hwidwp pywihG wnwbGgph Ypw
qunlby

1) B -h Gyuwnidwdp A -hG uhdbnphy M Yhwnh YnnpnhGunp

2) A-p Gyuwndwip B - hG uhdtwphy N YGwp YnnpnhGunp:

1.6. A(-2),B(19) 6Swjpwybtntpny hwindwép wpnhqwé t bpkp
hwywuwp dwubiph: Snibp wpnhiwh Ywnbph YnnpnhGuwnGtipp:

1.7. A L B éwjpwytintipny hwinduép P(-25) L Q(-9) Llbwnbpny

wpnhywé t Gphp hwdwuwp dwubph: QG A L B Yuwbph
YnnpnhGwuinGtpp:

18. A L B Ybtwbpp hwiwwwwrnwupiwlwpwp Ox L Oy npuyw

YhuwwawbGgpltph Ytinbp GG by OACB nuinnuGlwh ququpGtph
YnnpnhGwwnGbpp Oxy hwppnipjwl Ypw, tipk

1) |OA|=5,|0B|=2 2) |OA|=m,|OB|=



1.9. QunGt Ox wnwlgph GYuwndwdp htnbjw) Ynbphld updbunphy
(hwdwswth) Ytwntpph ynnpnhGwwnGlipp.
A(2,3), B(-3,2), C(-1,-1), D(-3,-5), E(4,6), F(a,b):

1.10. QunGt; Oy wnwGgph Guwndwip htunljw) YeinbphG uhdtnphy

YGwtiph YnnpnhlGwwnGtipp.
A(-1.2), B@3.-1), C(-2,-2), D(-2.5), E@B.,-5), F(a,b):

1.11. Oxy hwppnipjwl dpw qunGh) YnnpnhGuwnGliph ulyqplbwybnh
GYwwnidwdp htwbjw) Ywnkpha updtinphy Ytintiph ynnpnhGwwnGlipp.
A3, 3)., B(2,-4), C(-2,1), D(,-3), E(-5,4), F(u.b):

1.12. QuGt; YynnpphGwwwiha hwppnipjwl wrwehG L Gppnpn
pwnnpnlGtiph Yhunpnh Guwndwdp hGnlyw) Yhnbpht uhdbnphy Ytink-
nh YnnpahGuunGtipp.

A(2,3), B(5,-2), C(-3,4):

1.13. N°p pwanpnnid t guinGynid M (x, y) Ytwp, bpb
1) xy>0 2) xy< O 3) x—y=0 4) x+y=0
5) x+y>0 6) x+yv<0 7)x-y>0 8)x-y<0:

1.14. P(-3,3) ququpny pwawlniunt whynGwqgétpp hwwnynd LG
UnnpnhlGwwnGtiph  ulyqplwlbnid: Qunlbp pwnwyniunt Ojnu  bptp
ququwpltpp:

1.15. Qunlty ABCD qnquhtinwqéh D ququph YnnpnhGuinGbpp,
tpti Gpw djnLu ququplGbipG G A(0, 0), B(5,0), C(12,-3) Ytwbtpp:

1.16. 3wdty A4, 0), B(12,-2), C(5,-9) ququplbtipny tnwlyjwh
wwnwqhop:

1.17. Qb
1) Ov wnwlgph wjl YGwnp, npp hwywuwp t hbnwgywé A(-3,5) L
B(6, 4) Ytintinhg
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2) Ox wnuwGgph wyl Ytwnp, npp hwydwuwp t hbnwgdwé C(L, 1) L
D(3, 5) Ytwtphg:

1.18. Spqwé LG A(4. 3, 5), B(-5,3,1), C(2.-3,0), D(0,0,-3)
Ywbipp: Qb Gpwig wypntlyghwabph YnnpnhGwwGbpp
Oxy, Oxz, Oyz hwppnipjniGatiph L Ox, Oy, Oz wnwGgplhph Ypw:

1.19. Quit| D(a, b, ¢) YtwnhG uhdbwnphly Ytwh YnnpnhGunGlipp
Oxy, Oxz, Oyz hwppnipjniGGiph b Ox, Oy, Oz wnwGgplbph
GYwwndwdp:

1.20. N°p oluwbwnGtpnd GG quGynd wyl YGwnbkpp, npnGg Ynnpnh-
Gwwnbtipp pwdwpwpnid G0 hbwnbjw] wwydwbhG

Dx+v=0 2)x—-y=0 3)x-z=0 4)x+z=0 S)y—-2z=0
6) xy>0 7) x2<0 8) yz>0 9) xyz>0 10) xyz <0
1) y+2z=0:

1.21. Qb R =3 wnwyhn mGlgnn wjG qGnh YtGunpnGh Ynnpnh-
GwuwnGtipp, npp 2n2wihnud t Gpbp YnnpnhGwwnwihG hwppnipinhGbpp L
qunGynuy t

1) tpypnpn 2) hhlgtpnpn 3) yYtgtipnpn 4) jnptipnpn 5) mpbipnpn
olyunwbwnniy:

1.22. QuGt; YnnpnhGwwnGliph  uyqpGwlytinh  hGrwynpnipynilp
A(—4,7,0) L B(0,-1, 2) swypwybntipnd hwundwéh shoGuwlykinhg:

1.23. Spywd 6 AQG,1,-2), B(2,2,-3) b C(2,0,-1) ytwnbnp:
QunGty ABC tnwGyjw

1) wwpwghép 2) dholwqétiph tipywpnipjncGalipp:

1.24. Qb w)G Ybewh YnnpnplwinGtipp, npp hwywuwp t htnwgywé
A(-2,3,5) L B(3, 2,-3) yhwnbphg L qunGynd t

1) Ox 2) Oy 3) Oz wnwlgph Ypw:
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1.25. Spqwé G A(3,-1,6), B(-1,7,-2) L C(1,-3,2) ytwnbpp:
Uwuwgnigt, np ABC btnwGjniG0 nunnuGlyniG E:

1.26. Spywéd G ABCD qniqwhbnwqéh A(2,-3,-5),B(-1, 3, 2)
ququwpltipp L wiynGwqoétph hwwndwl E(4,—1, 7) Ytwp: Sk qni-
qwhtinwqgoéh Gjniu ququplbbipp:

1.27. Splwé &0 ABCD qniqwhbnwqdh
AQG3,-4,7), B(-5,3,-2)u C(, 2,-3) quwqupltpp: Gunlb|
qniquhbtnwqdh snppnpn ququpp:

1.28. Qulty C, D, E, F Ytwnbph YnnpnhGwunGbinp, bpt hwynGh t, np
Gpwlp A(-1,8,3) L B(9,—7,-2) éwjpwytnbpny hwunjwoép pwdw-
Gned GG hphlGg hwywuwp dwutiph:

1.29. Qb wyl hwwywéh Sdwypwytwmbph YnnpnhGwwGtipp, npp
C(2,0,2) L D(5,-2,0) yanbpny pwdwlbynid t tpbip hwyjwuwp dw-
ubph:

1.30. Spwé GO GnwlOywbo A(l, 2,-1), B(2,-1,3) L C(-4,7,95)
ququwpltipp: Quwnit) tnwllwl B ququph GGpphl wiGljwbd Yhunpnh
GpywpnipyncOp:

1.31. Qunbk) A(xy, y4), B(Xx2 y2) L C(X3, ¥3) ququplbpny binwlljwh
Swlpnipjwl YGGuinpnbp (Sholbwaqdtiph hwwndwb Yhwp):

3
1.32. A(7, E ), B(3, 5) L C(2, 4) ybnbpnud wbnwnpywé GG hwiwww-

nwufuwlwpwp 60, 40 L 100 q. qulgyuwoéltp: GGk wyn hwiwywpgh
owlpnLpjwl Ysawnpnbp:

1.33. Qunlbp A(Xy, Y1, 24), B(X2, Y2, Z2), CXa, Ya, Z3) b D(X4, Y4, Z4)
ququpltipny pwawihuwnh swlpnp)wl YEGnpnap:

1.34. A(-7, 3, -2), B(0, 2, 1), C(4, -1, 0) L D(-1, 0, -3) ququpltipny
pwnwlhuwnh 6woOpnipywl YkGuipnGp YnnpnhGwunwihG  hwdwlywpgh
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ulqplwlbwnh npnawlyh nbnwywpdhg hbunn qunGymud t M(6, -2, 1) yb-
wnnwd: PGy YnnpnhlwwnGbip YnGGOwl pwawbhunh ququplbpG wn
Gni)G nbinwwndh wpnyniGpnud:

1.35. UnnpnhlGwunGtph pbbnwihl hwdwywpgnd Ywnnighy hbunbjwy
YyGwtipp

n n 3
AQ3,—).B2,n), C(3,-—), D(—, —):
( 2) (2, m), C( 4) (2 3)

1.36. Guby pubowipG wowGgph GYwindwdp A(3,%),B(2,—%),

C(l,%) YbwntiphG uhdbnphy Yewbph plbinw)hG YynnpnhGwnGbpp:

1.37. AnGbp pLbnh GYuwdwdp A(, -}), B(5, 12z—), C(2, %) ytiwnb-

phG uhdtwnppy Yewnbph pbbnwihl YnnpnhGwnGtpp:

1.38. UnnpnhGwwnGtiph plbnwiht hwiwywpgniy
4r K7/4
AQ, ——9—), B(5, T) Ytinbpp ABCD qniquhbnwqgéh ququpllp
GG, huy Gpw wiyniGwqdstpp hwwynud BG pbbenld: Qnlhp gniquhbtnw-
q6h GjnLu Gpynt ququipltipp:
2n /4

1.39. Qunlb) A(&—T) L B(6, g) Swjpwltwntbpny hwuwndwéh dhe-

Guytinh pubinwyhG YnnpnhGwuwnGhipp:

1.40. QunGL; pubnwhG  YnnpphGwwnbbpny wpyws  A(p,, 6,) L
B(p,, 0,) ytwnbiph htnwynpnipyniGp:

1.41. PLErwhG YnnpnhGwinGbpny npdwé A(lZ,—g—) L B(3, %)

Ybuinbpp pwnwyniunt Yhg quauplbtp GG: GGk U tpyme qu-

quwplbtph pltinwjhl YnnpnhbGwuwnGtipp:
13



1.42. PLLnwjhG YnnpahGwinlbpny wpygwé A(4,—%) L B(8. %)

Ytwntpp YubnGuynp bnwlljwlh ququpltp G0: Iwyb; wyn Gnwllyjwl
dwybiptiup:

1.43. UnnpnhGwinGtiph pLbinwhl hwiwywpgh vyqplwybnp L plbinw-
Jp0 wnwGgpp hwipGylnud 60 hwlwwywunwupwlwpwp pElwpuoywb

hwiwhwpgp uygplwybnh L Ox npwlywl YhuwnwbGgph hbin: GnGhg
plbinwypht hwﬁwhwnqnid wnpqué A6, %), B(5,0) U C(lO,—’—;—)
Ytiwnbph nbYwpuywa YnnpnhGwnGbpp:
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2. dBusnrutnr

2.1. A uyqpOwytitnny L B dtippGuybunnyg a = AB ntnnnpnywé hwn-
Ywoél wawlnid GG ¢b4wnnp: Uunid GG, np AB JGlunpp wnbnwnnyws t

A Ybwnhg: AB hundwéh tpywpnipyniGlG wijwlnd 66 AB JGywnnph
dnpney Ywod Gphwpmpyne: UpLuGnyla Ywd gniquhbin ninhnGtph Jpw
quaynn ybtywnpGbpp Yngdmd G0 Awdwgpd, huy dphulnylt  Yuwd
qniqwhtin hwppnip)niGbbiph Jpw quGynn Jtywnplbpp’ Awdwhwnp:
tpt ybywinph ulhgpp L Ybpep hwdpGyGnud GG, ophGwly AA, www
wynwhup 4Ghwnpp Yngymd t graywlwi b GruGulhymd 8 = AA: 2pn-
Jjwywa yblywnnph dnnnip hwdwuwnp t qpn, nunpnipntbp yuwdwjwlwa t,
L hwdwpynid t, np wjb guGliugwé Jhwnnph hbn Yuqintd t hwdwghé
qniyq: Upwynp 6G Ynsynid wyl Jeywnnpllpp, npnlg dnnnyp hwywuwnp t
dbkyh: Ny qpnpuywd a Jelwnppt hwiwghé L Gnuyl nennnipynlGG

niGtignn (hwidninnydwd) Shwynp Jtluwnpp Ynsynd t a yaywnph opp:

Swdninnywd L hwjwuwp GpYywpnpiniGbbp nGtignn JtynnpGhpp
hwdwpymd 60 Awdwuwn: juyhuny, gullugwsé P Yenhg (dwubwiyn-
pwwbu' O ulyqplwybinhg) Yupbh t nbnwnpbp wpwé a ybyunnphl
hwywuwp dhwy F—Q— yGywnpp: Stnwnpktp a yyuinpp Ynnpnhlwnw-
1hG hwdwywpgh O uyqpluybnhg: a = oM Jehwnph gnnppplwnilin
b6 ynsymd Gpw M dGpeGulbnp YnnpnhGwwnltpp: Uuwbiu® OXxy hwp-
pnipjwli ypw quliynn a = O_M ytywnph YynnpnhGwuwnlGbn 66 hwanh-
uwbnid Bpyne pybip” X -p Ly -p (@ = (X, ¥)): OXyz wwpwénipjub vkg
a = OM (tlunph YnnpahGwinGbpg GGG bpkipp' X-p, y-n L z-p
(@ = (X, y. ), ipt" M(x. y, 2): Ywwp AB ytyunph YnnpnhGwwnGlinh b
Opw A(x4, y1, 24) ulqplwltinh m B(xz, y2, z2) dtipgGwybwh Ynnpnp-
GwwnGbph dhel unwgynid t AB = (Xa - X1 Y2 - Y1, Zz - 24) pwlwalny,
huy a = (x, y, z) ytywnph tipywnnipynlp®

la|=y/ x>+ y*+2°:



2.2. Jdtywnnph pwqiwwwunyndp pyny: a Jbywnph L k pyh wp-
nwnnjwy b yngdned uyG b Juhwnpp, nph pywpnpyniGp’ |b| = [k al,
pGn npmd a L b JbtyuwnpGbpp hwiniqnqyué 66, bpt k > 0 L
hwynnnuwé” k < 0 nbwpnid, huy0a=0:a=(x,y, z) (@ =(x, y)) yty-
winph L k pyp wpnwnpuwy b yehwnpp gpynud t b = ka = (kx, ky, kz)
(b = ka = (kx, ky)) wtupny:

2.3. JdbywnpGlph qnudwpnuip: @ L b Bpym JbywninpGeph gmdwp t
Ynsynud ¢ = a + b Jtywnpp, nph uihqpp hwiplGybGnud t a-h uyqplwlybinh
htw, huy dbpep” b-h Yupplwlbwnh hbwn, wwydwlng, np b-h ulhqpp
hwipGyGmd t a-h Jtpeh htwn (Grwllywl Guinb): ¢ = a + b Jbywnpp
hwinhuwlnd t Gwk a L b JbywnpGbph Ypw Yuonigwéd qni-
qwhtinwqéh walyniGwahép (gmniquhbinwqgdh Luwilnb): a L b Jtlwnnp-
Gtph vrwppbpmpinGp uwhdwOynd t npwbu a L (-b) Jtywnplliph
gnuiwp, npuntin (-b)-nd Gawlwyyws t (-1)b dehwnnpp: a = (x4, yy, Z4) L
b = (X2, Y2, Z;) ybywinpGtiph ¢ gnudwp b d nwppbipnipinia YeywnpGenh
ynnpnhGuwinGbipp npnadnud GG € = a + b = (X4+ Xy, Yo+ Ya, 24+2Z7) L
d=a-b=(X;- X2 Y- Ya 24 - Z;) pwlwadlbtipny:

2.4. JdtywnpGbph uywywp wpnwnpuwe: a L b deywnpGph vfuy-
Jqup  wmnwgmuwy Yngynd towyn JGywnpGeph  GplwpnipinlGGbph
L Gpuwigny juqidwé o whlyywh YnuhGnish wpnwnpwip” (a,b)=a-b=
=|a| |b|cosa: bpt (a, b) = 0, wwyw wyn YYwnpGhpG nnnwhwjwg
(onpngnluwy) GG: Uwpjwp wpnwnpwil a = (X4, y1, 1) W b = (Xa, ¥2, Z2)
ybywnplbph YnnpnhGwwnbtph dhgongny wpuwhwpnynd t htinbjwy
pwlwadlny’ (a, b) = XX, + yiy2 + 2422

2.5. dGhwinph wypnblghwh wnwbgph Ypw: thgnip rwpwénipjwlb aky
nndwé LG AB dtywnpp L u wnwigpp: Lawlwlklp A,-nd L By-ny hw-
Jwuyuwinwuppwliwpwp A L B Ybintphg u wewigph Ypw hetgdwé nin-
nwhwjwglph hhiptinp: AB yblwnnh wpnblghw u wewGgph Ypuw
ynsynd £ lA,B,l phup wyniu Gawlny, tpk X,E, -h ninnnipntlp hwd-
pGUGnLd t u wewGgph ninnnipjwl htiv, L Ghinwu Gawlny’ hwiwnwy
nbtwpnid: AB yelyuwnnph wpntyghwa v waowbGgph Yypw Yowlwlybip
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mn, AB : bpt -G AB yblwnph L u wnwlgph Ywqdws whlyniGa t,
wuyus

'TlnuXB— =]AB|~c0s a:

Mnab -ny Gawlwyynd t b Jaywinph wpntibghwh «a ytywnph Ypw»,
wjuhlpl a ny qpnjwlw yhiwnpny npnzynn u wnwbgph ypw'
(a,b)
g
a, b, ¢ ytiuinphtiph L k pdh hwiwp Shywn GG
Mpa(b + ¢) = Mp,b + Mpye L Mna(k b) = k Mpb

pwlwalbpp: AB ybywnnph wpnbyghwibpp YanpnhGwwnwihG wnwigp-
Gtiph dpw wjn yhiuwnph YanpnhGwuwnbbipb 66

Mnab = [b|- cosa =

X =|AB|-cosa Y= ]AB|-cosB Z= |AB|-cosy ,
nntn o, B,y -ny Grwlwhyws 66 AB yyunnph juqdws wiln GGb-
e Ox, Oy, Oz wnwGgpltiph htinn hwiwwwwnwuluwGwpwp: Lpwlg Yn-
uhGnuuGtipp Yngdnud GG AB Jtwinph nunnnpn YnuhGniuGtip®

X
cosq = = =, cos = ~ y, >’
1}x'+y‘+z“ \}x'+y'+z‘

Z

2 2 2'
\/x‘+y”+z

nGn npnud” cos® @ +cos® B +cos®y = 1: Uhwynp e Yblwnnph Ynnpnh-
GwwnGbpp hwdwuwp 6G hp nipnnpn YnuhlneuGbphG*
e=(cosa, cosfB,cosy):

cosy =

2.6. n - sjwhwGh bywnp t Yngymd n hpwlwb pybphg Yuquidwd Yunp-
quynpywsd hwdwhudpnmpmlp’ X = (X3, Xz,..., Xp), npwnbin X; -G Xx
Jtywnph i-pa YnnpnhGuinG t: Gpp n > 3, n - suwhwGh YbhwnnpGepp sni-
U600 wOdhpwywh Gpypwswhwiwd hdwuwn, vwlwil pugqdwphy, win
pynid Gwlk wGunbuwghnwlwl gqnpéplpwglbp GYwpwgptint hwdwp
hwpdwp GG: OphGwy, pGanGdwsd t wwypwGpGtiph hwywpwémb Gw-
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Gwyb q = (q1, 92.....9n) Ubihtnnpny, huy Gpwlg hwiwwwwnwuwb yw-
Gwnph qGtpp” P = (P4, P2...., Pa) Ytywnpny:

Bpynt x= (X4, X2,..., Xn) LY = (Y1, Y2...., Yn) N - swthw@h diyinnpGtp
hwdwuwp 6G° x =y, tipl Xx; = y;, 1 = 1,2,...,n: dwninpltiph gmdwpp L
Jtywnnph pyny pwqlwwwwnynidp uwhdwbynid ta

X + Y = (X3 ¥y, Xo* Yo, ... Xn* Yn), kX = (kXy, kX,,..., kXp)
pwlwdlbtpny: Gpynt JGywnpGhph vwywp wponwnmuy b Yngdnid
Xy = (X, ) = X4y + Xoy2 + ...+ Xp¥n  phdp: Uuwbiu, tpb
q = (41, G2....,qn)-0 Wwppbn wwynwbpGliph pwlhwybtph yeYwnpG t, huy
P = (P+, P2.-.., Pn)-0" Gpwlg ywdwnph qtiph Ytywnpp, wwyw (p, q)
ujuwpwp wpnwnpwil wpnwhwjnnd b win wypwGpltiph wlwnphg
unwgywé hwunipp:

2.7. dJdtywnplGtph qéwjhG YwpwoénipnGp: ay, a; ..., a
yGywnpGbpp Ynsynd 60 q@duylinpbl fufuywy, tipti qnynipynil niGhG
a, o,, ..., o, hpwywb pytip, npnGghg qnGb dtyp wwpptip t qnnjhg,
wjlwyhuhl, np a4, a, ..., a; ytiyunpltph hwlwywunwubuwb Qduyhl
yndphlwghwl™ o, a, + 0,2, + ... + o, a, —p nunrGw 6 qpnjulywa Yby-
wnpp: 3wywnwl nbwpnid, wyuhlpd, tipt ¢, a, + @,a, + ... + @, a,= 0
hwywuwnnipyntbp wbkinh mGh shwyG, bpp o, =a, =...=a, =0" Jby-
wnnplbpp Yngdnud GG @owylnpbl wihwfu:

UGnpwnwniwbp bpypwswihwlywb JeyunnpabphG’ ninnnpnwéd hwwn-
Jwoltiphh, wju nbuwlyniGhg: Gpynt ytywnnplbp qéwylnpba Yuihuywy
G0 wyl L Ohuyl wyl ntiypnid, Gpp GpwGp hwiwgho GG: Gpb e4-p L e,-p
ng hwdwqhé Ytlhwnplbp GG, wwyw Gpwlg hwiwhwpp gqwllwgwé
Gppnpn @ Jtywnpp Yupbith t ohwy duny Gepywjwglb; a = x4€4 + X, €,
nbupny, wyuhGpl’ ybpgnidtiy pun wyn yynnpGtph: Uuntd GG, npe; L e,
yGywnpGbpp Ywqinud GO wdjw; hwppnipjwl AbGp (pwqpu) bptp
yGywnplbp qéw)lnptit Ywhdws GG wyl L dpw)G wyG nbwpnid, bpp
Gpwlp hwiwhwpp tG: Ept e4-p, €,—p L €;-p ns hwdwhwpp YLywnpGtip
60, wwyw gwalhwgwséd a Jtywnp Ywpbih t dhwly aduny GhpYwjwglly
a = X8y + X, €; + X3€; intiupny: Ujnwhuh e,, e;, €; yijuwnpltipp Yuqunl
GG AbGp JEYunnpGtiph vwpwdédnpjw dkig, huly X4, X2, Xa—p A -h Ynnpnh-
Guunbbpl GG punn ey, €, e; htlph: Uwulwynpwpwp, bpp €4, €; L €3 YbU-
wnnpGtpp  ofuninnuhuywg 66, unwgdnud £ YnnpnhGwwnlbph nb-
Jupunywh ninnuGynil hwiwywnpg, pn npnud, tipt jeq] = |eo] = |es] = 1,
18



www wyn YEyunnpbbipl widwGmd 66 opplip L GawOwynud G i, j, k -ny
hwiwwwwwuluwbwpwp:  Wuwpuny,  vwpwonpjwulb  guliugwsé
a = (X4, X2, X3) Yuywnpp dhwpdbp dtpiniéynid t puwn i, j, k hbGph’
a = x4i + Xgj + x3K: Uyu Gbpluywgdwh dbe Xqi, Xj b X3k ybywnpGtpp
Ynsynud 60 a yeyuwnph pwnwnppsbbp hwiwwywnwufuwl wewagpltiph
ypw:

tpt ey, €,,..., e, n — swihwbh dtywnnplbpp qéw)lnptl wlywhu &a,
www wdikd dh a n - swihwbh gbunnp dhwpdbp GhpYwywgynid L
a=Xq€e + Xz€ +... + X8, mbupnq:

21. Spywéd bG P(-1, 2) L Q(-1, -4) ytwbpp: Npnatig R Ybwh
YnnpnhGwunGtipp, tpb

YPO=RP 2)PQ=QR 3)OP =PR:
2.2, Spywé A(3,—-1,2) L B(-12,1) ytwtph hwiwp gqunlbk|
—/ﬁ, ﬁ ytYywnplbph YnnpnhGuwwnbbpp:
2.3. Spywé a = (3, -1, 4) Ytywinph uyqpGwltinp M (1, 2,-3) Ytk t:
QG Gpw N YbLpeGwlbtnh YnnpnhGwinGbpp:

2.4 QunnGLL a = (2, -3, -1) ybywnph uyqplwlbwp, tipt Gpw Ybpplw-
Ytwnp N(1, -1, 2) G t:
2.5. Spdwé a L b YbywnpGhph hwdwp Yuenigby

1)3a 2) ——21‘b 3)2a+ %b 4) %a—Sb YtywnnpGbpp:

2.6. Spywé BG A(1, 2, 2), B(2, 3, 3), C(-1, 2, 1) L D(0, -1, 2) Ytwnbpp:
Qmﬁbl P ut:mh Unnnqhﬁwmﬁbnn bph
1)AP AB + CD 2)0P AB + BD 3) BP = AD + CB:

2.7. Spqwé 6O A(2, -4, 2), B(1, 1, -3), C(-2, 1, 4) L D(-2, 0, 2) yGwnknp:
At P Ytwnh YnnpnhGwwnbtpp, tpb

1)&?':%/1\_8 2) AP = 2AB+3CD 3) BP =-2AD + CB:
19



2.8. QunGhy a Yytjwnph oppp, tipk
1)a=(3,4,-12) 2)a=(6,-2,-3) 3)a=(3,-5, 8):
2.9. QG |a +b| L |]a - b|, tpt a=(3,-5,8), b=(-1,1, 4):

2.10. hgnip ¢ = 16i - 15j + 12k: Qpby ¢ -hG hwyninnywé d Ybywnnph
Jtipinuénipynilp i, j, k pwahunidy, tipk |d| = 75:

2.11. ABCDA'B'C’'D’ qniquhbtnwGhuwnnid wpdwé GG Gpw Ynntiph
htwn hwipGyGnam= AB,n= AD Lp= AA (JblwnpGhpp: Ywnnighi
htwnbjwy yywnnplbpp’

1I)m+n+p 2)m+n+—;-p 3)%(m+n)+p
4m+n-p 5)-m—n+%p:

2.12. SpJwo LG a = (3, -2, 6) L b = (-2, 1, 0) YtywnpGlipp: Gl
wnpywé Ytywnnpph ypnbyghwlbpp Ynnpnhlwwwihl wewbGgpltiph Ypw.

1)a+b 2)a-b 3)2a 4)-%b 5)2a +3b 6)%a—b:

213.a = (X, Y, z) yiwnpp Ox L Oy wnwGgplGtph htwn Guqdind t
o =60°, B =120° wGyniGatp, huy Oz wnwhGgph hbwn' unip wayndG:
QunGb| Gpw YnnpnhGunGtipp, tipt ja| = 2:

2.14. Qunak; a = (12, -15, -16) yywnph nignnpn YnuhGneulGbpp:

2.15. a yhwnpp Ox L Oz wnwlgplGhph hbw Yuqind t ¢ =120° L
Y =45° whlynbGbp: b Gg wayyniG Ywpnn b wyl Yuqoitp Oy wnwhGgph
htiwn:

2.16. Qb a ytywnph wpnbiyghwbbnp Ox, Oy L Oz wnwGgplGtph
dpw, tipt & =45°, B =60°, y =120°, huy |a| = 2:
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2.17. Spywé &G a = (2, -1, 3) L b = (-6, 3, -9) Yuywnpltinp: Unnighy
wjn ybywnpGbiph hwiwghé |hGbp: Iwdtdwwby Gpwlg GpYywpnip)nil-
Gbpp L nunnnupynLGGLipp:

2.18. Qulty o L B putipp, tpt huynGh t, np a = -2i + 3j + Bk L
b= ai- 6j + 2k ytunpllipp hwiwghé ba:

2.19. 3wdnqyty, np A(3,-1,2), B(1,2,-1), C(-1,1,-3), D(3,-5, 3)
ybwntpp uinwGh ququplbip LG:
2.20. Spywé LG A(-1,5,-10),B(5,—-7,8), C(2,2—-7), D(5,—-4,2)

Ybwbpp: 3wdngyty, np AB L CD ybinnpGtpp hwdwghé bG: Iwdbisw-
nb] Opwig GpywpnipynGGepp b nupnnupyntGGtipp:

2.21. Uinniqly p = (2, 3) L q = (1, 2) ytywnplbiph qdwylnptl wiyw-
lunipynilp:

2.22. dbpinioty a = (9, 4) Julwinpl puwn p = (2, 3) L q = (1, 2) 4by-
wnplOtiph:

2.23. 3wppnipjwi a = (3, 2), b = (-2, 1) L ¢ = (7, 4) ytwinpGliphg jni-
nwpwlgnipp yepnidk) puwn §ynwu Gpyneuh:

2.24. ABC btnwlyjwa AM, BN L CP tdheGuqétipp Ybpnidb| puin
Gpwa= AB Lb= AC Ynndbnh:

2.25. Spqwé 606 A(1,-2), B(2,1),C@3,2) u D(-2,3) Ytwtpp:
AD BD CD . AD+BD+CD ybywnphbnG wpnwhwjnb| AB u
AC ybYwnpGtph dhengny:

226. Spywé GG p =(3,-2, 1), q=(1,1-2) br = (2 1, -3) yuy-
wnpltpp: dbppnudt ¢ = (11, -6, 5) Ytywnpl puwn p, q L r YyunnpGtiph:

227.Spjwé kG p=(2,1,0,q=(1,-1,2), r=(2,2,-1)Ls=(3,7,-7)
ybywnpGtpp: dbppnusty Gpubghg jnupwpwbsynipG puwn dynwu bpliph:

21



2.28. Jwiwwywwwuluwlwpwp 3 L 4 GpywpnpyniGGbp nlGignnau b
2r
ybywnnpGlipp juqind 66 @ = T whyjniG: Jwpyty

1) (a, b) 2) (a, a) - 3) (b, b)
4)(a+b,a+b) 5)(33-2!),a+2b) 6)(a-b,a-b)

ufwjwp wpnwnpjwiGbpp:
2.29. a L b ybywnplGhpp hinfuninnuhwywg &G, huy ¢ - 0 GpwGghg
V(A
jncpwpwGsgniph htw Yugdni & @ = ? wGyyncb: Jwyby

1)(a+b+c,a+b+¢) 2)(3a-2b, b + 3¢)
3)(a+2b-3c,a+2b-3c)

tpt |a| =3, |b|=4 L |¢|=8:

2.30. 3wiwwywunwuhuwlbwpwn \/5 L 1 GpywpnipynLGGlp nGbkignn a b
/4
b ytywnnpllipp Yuqinud GG @ = g whynG: dnap=a+bLkqg=a-b
ytlwnpabiph Yuqiwé whyjnilp:

2.31.Spjwé a= (4, -2, -4) ub = (6, -3, 2) YywinpGbph hwiwp hwyby
htinlyw| wpunwhwjnnipywl wpdtipp’

1)@, b) 2) [a| 3) |b|
4) (2a - 3b, a + 2b) S5)(a+b,a+b) 6)(a-b,a-b):

232. A(1,-2,2), B(1,4,0), C(-4,1,1) u D(-5,-5,3) YbLuwbpp:
Uwwgnigtil, np AC L BD (bywnpltpl ninnwhwjwg bG:

2.33. Npn2tip @ -h w)l wpdbpp, nph hwiwpa= ai-3j+2kub=i+
2j - a k yayuwinpltpa nunnwhwjwg bG:

2.34. (it
1) tunpwOwpnh wayynibwqdh L Ynnh Yuqdwé wdlncGp,
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2) unpwlwpnh wGynGwqdp L Ghunbphg dGyh whyniGwqdh Yug-
Jwé wayjncbp,
3) unpwGwpnp Ghuwnp b wGynGwqsh Yyuqiws waynilp:

2.35. Spywé GG A(-1,-2,4), B(-4,-2,0) L C(3,-2,1) ytwnbpp:
QG ABC GnwllyjwG B ququphl wnplGplip GipphG wGyyndGp:

2.36. A(3,2,-3), B5,1,-1) L C(1,-2,1) ytwnbpp ABC GnwGy-
Juib ququwplbipG 6G: GGl Gpw A ququphl weplplip wpunwphG wa-
yjniGp:

15
2.37. x yywnpp hwiowaghé t a = (6, -8, -?) ytlwnphG L Oz wnwg-

ph htinn Yuqinid £ unip walyniG: Gt X 4ywnnph YynnpnhGwwnGbipp,
"tipli [x| = 50:

2.38. QuinGhbp a = (2, 1, -1) yeyuinphG hwdwqghé x dtywnph Ynnpnh-
GwuwnGbpp, Gpt (x, a) = 3:

239. Spws a = 3i + 2j + 2k L b = 18i - 22 - 5k tywnnpGLphG
nnnwhwjwg X ybywnpp Oz wnwGgph hbn Juqind t unip waynia:
GG X -h YnnpnhGunGtipp, tipk |x| = 14:

2.40. QunGb; wpqwé a = (2, 3, -1) L b = (1, -2, 3) YywinpGtiphG
nunnwhwjwg X Ybwnnpp, tipt (X, 2i - j + k) = -6:

2.41. Spjwé bGa=(3,-1,5) L b=(1, 2 -3) yuywnpllipp: QG Oz
wnwlgphb ninquwhwjwg X Ybywnnpp, tipk (x,a) =9, (x, b) =-4:

242 Spywo b a=2i-j+3K b=1i-2j+3k Lc=3i+2-4k
JtywnnpGipp: GG wyG X Ybywnnpp, npp hwiwp (x, a) = -5, (x, b) = -11
L (x, ¢) = 20:

2.43. qunGL| s = (4, -3, 2) yywnph wypnblghwG w)G wowGgph Ypuw,
npp YnnpnhGwwnwght wewGgpGtph hbn Yuqdnd b hwywuwp unep
whyyniGhtip:
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2.44 Qulbk s = (\/5. -3, -5) ytywnph wpnblghwl w)d wawbgph
dpw, npp Ox, Oz wnwGgplhph hbin Yugoinud t o =45°, ¥y =60°

waynGatp, huy Oy -h htwn™ unip waly)niG:

2.45. Spqwé tG A(3,—4,-2), B(2,5,—2) Ytwtpp: GGl AB
ytywnph wpntiyghw( wyG wnwGgph Ypw, npp Ox,Oy wnwGgpGhiph
htivn Yuwqonud t o =60°, B =120° whynGGlp, huy Oz -h htiw® pnip
wGyynG:

2.46. Gk a = (5, 2, 5) Ytijwvinph wpnbyghwG b = (2, -1, 2) Ybywnph
Ypw:

247. Spdwé O a=3i-6j-k, b=i+4j-5k Lc=3i-4j+ 12k
ybywnpGlipp: QunGkg ¢ -h wpnbyghw (a + b) -h Ypu:

248, Spywé HG a = (1, -3, 4), b = (3, 4, 2) Lc = (1, 1, 4)
JbywnnpGtpp: QG a -h wpntiyghw (b + ¢) -h Ypw:

249. Spwo G a=-2i+j+k b=i+5jLc=4i+4j-2k
JbywnnpGbpp: Snabg (3a - 2b) -h ypnbyghw ¢ -h Ypw:

2.50. Spywd GG A(-5,7,-6), B(7,-9,9) utwnbpp: QunGbp
a = (1,-3, 1) yuluinph wpnblyghwG AB Jsynnph Ypw:

2.51. Spywé 6O A(-2, 3,-4), B(3,2,5), C(1,-1,2) L D@3, 2,-4)
Ybintipp: Qunlity E JGywnnph wypnbyghwa C_D Jeywnph ypw:

2.52. Spwéd snpu swihwlh a=(2,-3,4,7), b= (6,0,-4,2) L
c=(-1, 1, 4, 5) ytwnplatph hwiwp qunlby.

1)a+b 2)a-c 3)2a-5b 4)5¢c + 4b

5)6a-2b+c 6)(a,b) 7)(2a-3b,a+2b) 8)(a+b,c-b)
9)(a-b,a+c) 10)(a, b+ 2c):
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2.53. 3wywnlh bG dtnGupynipjwl jnp wluwwnwlyhgltiph hnibhu L
hnithu wihulbph qupdwwpnipywl a = (52000, 29000, 36000, 41000,
74000, 27500, 31800) L b = (48300, 28700, 32400, 38000, 69100,
25000, 30000) JtywnpGtpp: Ognuwnu wiuhG GpwGg wpwdwnpb GG
wpdwynipn, JSwpbiind Gwhunpn Gpyne wihuGbph dhohl wfuwwnwywp-
4p: Qb wyn wuwwnwyhgGtiph wpdwynipnwyhG yéwph ¢ Yalunpp:

2.54. 2tnGwpynipyniGp npnawyh wuwpwlp pnnwplbihu ogunwgnp-
ond t snpu nbiuwlh hnudp: Inudpbph dwiuup wwypwbph dhwunph hw-
dwp pGnipwgpynid t s = (5, 4, 4, 3) Jaywnpny: Npntip 150 Shwynp wy-
pwlp wpunwnpbiint hwdwp hnwiph pGnhwGnip wpdtipp, Gpt qOtph
yGywinpb t* p = (100, 300, 400, 400);

2.55. QtinGwpYympniip nbpuGhywlwb ybpwuqhtdwb Guywwnwyny npn-
261 t Gepgpwyb) yuplwihb dhonglbp: U, P, 9 L 7 pwGltipp vwpwiwn-
pnud GG 20, 40, 25 L 30 410. npwd’ wwpbywl hwiwwwunwuppwlwpwp
25, 22, 20 L 18 % wnynuwnpnipltipny: tirGwpynipynilip nwpbytipphl
pOnwitlp nppw”G whwnp t Jwpp unwgwd Juplbph hwdwn:

2.56. Ununp, Pugpwinp L 9nep gt GG hhGq wbuwyh wwpwapbhn,
pGn npnud Uzninp 3 Shwydnp I tnbuwyh wypwiphg, 4 dShwynp® 11 —hg, 2
dhwynp® 1T -hg, Pwqpwing’ 2 Shwynp II-hg, 1 Shwynp IV-hg, 4 dhw-
unp V-hg 4, ytippwwbu, 9nnp’ 6 dhwynp I -hg, 2 dhwynp III 2hg, 1
Shwdnp I'V-hg, 3 dshwynp V —hg.

1) OGpYw)jwglh jnipwpwlynph qlnuiGbpp a, b L ¢ YbywnnpGbph
wnbupny,

2) dbyGwpwGt, a+ b +¢, a-c¢ L a+ ¢ -b JtjunpGtph nlunt-
uwghwnwwa hdwuwnp,

3) npn2tii hwSwhunpnGbphg jnipuwpwbsniph dwiuup, tipk ytpnhhzjuy
wuwpwlpGtph qGkpp bwnpt ™ p = (10, 5, 12, 20, 7),

4) dayOwpwib (p, a-¢), (pa+b+c) L (pa+c-Db)
dt6nLpyncGGbpp:
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3. 45h udUUULnEUC UrBNHB3UL 4ru

Nhgnip hwppntpjulb Ypw wnpdwé G0 YynnpnhGwnGbph ntijwpunjwo
ninnulyntG hwdwlwpgp b nplt L ghdp (Ynpp): Un q6h Ypw qunlynn
Ytwh x Ly YnnpnhOGwuinlipp, pnhwlipwwbu wuwé, Juiwjwlwb |hakg
s60 Ywpnn, npwop wbwp bt pwywpwptl npnawyh opphlwswithnipjwa,
npp wipynid b hwjwuwpdwb wbupny: UYLh unnyg™ hwppnipjwl ypw
quadnn L @dp hwywuwpnid t Ynsgynid wjt hwdwuwpnidp, nphb pwyw-
pwpnid 66 L q6h Jpw qunlGynn jnipwpwlsnip M(x, y) Ytwnh Ynnpnh-
Guwubbpp b 360 pwdwpwpnd guwbywgwd wyy” L q6h pw squnbynn Yb-
inh YnnpnhOwwGlpp: 36h hwywuwpnid Ywpnn bt hwinhuwlw) y = f(x)
(g6h npiwl pwgwhuwyn dlp), Ywd wybkih pnhwGnip® F(x, y) = 0 (wb-
pwgwhuyn npdw@ dup) hwywuwpnudp: 3wlwhu qép GoEpJujwgiwG
hwidwp hwpdwp bt wpnwhwjnb win q6h ypw qunlynn Ywnh X L y
YnnpnhGwwinGbpp d6Y wy” Gppnpn hinthnfuwywGh (t wwpwdtnph)
dhengnd™ X = @(1),y = W () (q0h Wwpwibnpwlwb GEplwjwgnidp):

Qhop Ynsgynid t hwlpwhwqww, pt wyd nplut nlwpnywl nunn-
walntd hwdwhwpgnud wpynd £ P(x, y) = 0 hwywuwpnuiny, npunkin
P(x, y)-p pwqiwGnwd t, pGn npnud, tipl pwqiwlnwdp n-pn wunhSwGh
t, wwyw ghép UYngynd t n-pn Ywpgh gqhd: Uwulwynpwuyybiu, wnwohl
Yupgh qétipp ninhn qotinG GG, huy Gpupnpn Ywpgh Jwplnp Ynptiphg
G0" tihwup, hhwtppnip, wwpwpenip: N hwipwhwqwlwh qotipp Yng-
ynid 60 wpwlughiGnblw:

3.1. Qb hwppnipjwl wyl g6h hwywuwnnidp, npp Yewnbpp hwyw-
uwpwytiv G hinwgdwé Ynnpnhbwwnwihl wewbgpltiphg:

3.2. h°0s hwywuwpiwb b0 pwdwpwnpned
1) hwppnipjwl wpughubbiph wewGgphg dtiY hbGnwdnpnipjwl ypw

quGynn Ytwnbiph YnnpnhGwwnltipp,
2) hwppnipywl opnplwwinbbph wnwbgphg bpynt hinwynpnipjwb Yypw

quygnn Ytwnbtph YnnpnhlGwwnGtnp:

3.4. Ywqlk A4, 0) L B(0, 2) ytwntiphg hwjwuwpwwbiu hinwgywé
ytwntiph pwqdnip)niOp GpYuwjwglnn hwywuwpnidp:
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3.5. bwqdbt, A(1, 1) L B(2, 2) Ybwnbphg hwjwuwpwwbiy hbnwgywé
ytwnbtiph pwqdnpyniGp GEpYwjwghnn hwywuwpnidp:

3.6. bpynt GpYwpmnpjwl bhwwnjwédh dh Swjpwlbwnp wpddnd
wpughulibph wnwOgpny, huy djniup’ opnhGwwnGtiph: Ywqdb| win hwwn-
wéh dphelwybiinh hinmwgdh hwydwuwnnidp:

3.7. Spwé GG qoh wwpwibnpwlwi hwyjwuwpnudGhpp: Upwnwpub-
1y t wywpwaitwnpp, qunbt] w)n qéh hwyjwuwpnudp.

x=t1 x=t° X = acost X =cost
1) 2) , 3) i 4) Lo
y=2t y=t- y=uasint y=cos’t
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4. Nt1h1 QhSLC IUrBNHB3UL YMU

4.1. Ninpn q6h plnhwGnip hwywuwpnilp: Gpt hwppnipjul Ypw
pGunpwé t Oxy nbywpujwh manuiynid hwdwluwpqp, wwyw X by
thninfuwwGGlph GYuwwndwdp wewohl Yuwpgh gwlGywgwd

Ax +By +C =0, A*+B?>0, (1)
hwywuwpnidp npnzned t nenhn qhd L, hwywnwyp, hwppnipjwl Ypw
Jwiwjwywl ninpn qhd npnadnid t wpwohlG Ywpgh hwdwuwpnedny:
Gwiwjwlywh A, B, C gnpéwlyhglbpny, pwjg wilybu np A? + B? > 0,
(1) hwqwuwpnuip Ynsdynd t mppn qdp plnhwlmp hwiwuvwpmd:
Chnhwlnip (1) hwywuwpndnd npnadnn nuinhn ghép oppngnlwy
n=(A, B) dtywnppG: Un yywnnpp Ynsynid t (1) ninnh Gnpduy Jbynnp:

4.2. \uinnp hwjwuwpnuip wnwigpltiphg wiywwnywséd hwwnywoébbpny:
bpt (1) hwdwuwpiwd A, B, C gnpéwypgltpp qpnihg wnwppbp &G,
www wjb Yuwpbip t pipbp hGnlyw) nbuph

X Y

—+==1

Sty (2)
npp Yngynid t nunhn qbh «wlhowwnydws (Yupygws) hwindwdbbpnys
hwywuwpnud:

43. Nuinnp YwlnlGwywld hwywuwpnidp: NMinpn q6hlG qniquhbn
Juwiwjwywl ns qpnwlwld ytywnpp Ynsynid t wyn nennh mgpnpn
ybyunnp: Spwé Mo(Xo, Yo) Ybwind wlglnn L q = (I, M) niannpn
ybywnnpG nubokignn nunhn q6h

X=X -
o _Y " Yo 3)
l m
hwyqwuwnnidp Ynsynid t nunnh ywinbwlywl hwywuwpnid:

4.4 tpym Ybwbtpnd whglnn ninpn qéh hwywuwpnip: Spwod
Mi(x1, y1) b My(x2, ¥2) hpwphg wnwpptip Ytntipnd wiglnn ninhn qoh
ninnnpn Ywpnn b hwinhuwlwg ¢ = M M, = (X2 - X4, Y2-Ys) Ybywnnpp L
(3) hwywuwpnuihg unwgyned t

X=X - y=¥y (4)

Xy =X Y, =Y
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M;(X1, Y1) b Ma(X,, y,) Ywnbpny whglnn ninnh hwywuwpnudp:

45 Nupnh wwpwibnpwywG hwdwuwpndp: Mo(Xe, Yo) Ybinny
waglnn L q = (I, m) nuipnnpn GYinpG nGbgnn ninhnp t Wwpwdbuph
dhengny Guplwjpwgynd t htwnbjw) hwdwuwpnidlbpny

x=x, +1t
, t€ (—o0,+00); (5)
Y=y, tmt
Mi(x4, y1) b Ma(Xa, ¥,) Ywnbipnd wiglnn ninpn qéh wwpwibnpwywa
wnpnudo b

{x:xl +(x, —x)t te (—ooto0):

yEy A -y

4.6. UGYynLGwihG gqnpéwlgny nunpn q6h hwywuwpnidp: Gpt (1)
hwywuwpiwG dbp B#0, www (ndbind wyG y-h GYuwndwdp L

A C
GawGwybind k=-—,b=-—, unwgynd t
2 Ybny B B 9y

y=kx+b (6)
hwywuwpnudp:
bpt @ -nY Grwlwlyblp ninnp Yuqiws waynlp OXx wrwGgph hbw,
wyw tga = Kk Lk -6 nuinhn q6h wayynGu)ht gnpdwlhgl t: Gpb nuinhnp
qniqwhtin t OX wnwGgphl, wwyw @ =0, k = 0 L (6) hwywuwpnLil
plnniGnud t y = b nbtiupp: Vwubwdnpwwtiu, Ox wrwigep npnzdnud t
y = 0 hwydwuwpniiny: Ox wewGgphG ninnwhwjwg ninhnl waynibw-
JhG gnpdwyhg gnilh:

4.7. 6pynt nuinpnGbph Yuqiwé whGynilGp: w) CGnhwlGnip hwdwuw-
nnuiﬁhpnt[ npjwé Ly AX1 + B1y + C1 =0 bLLy Azx + Bzy + Cz =0
ninhnGbph Yuquwé wayymGatphg atyp”™ @ -G npnynud k

A A, + BB,

JAI+B Al + B

cosax =

pwlwdlp oqlnipjwip:
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Ly L L, ninhnGlph qniquhtinnipjwl wwydwGG t° A B, =A, B, (tipb
Gwk A C,=A, €|, wyw nnhnbtpp hwipGyGnud LG):
Ly L Ly nuppnGGpp noppwhwjwgnipyulb wwpdw(a b
A A+ B B,=0:
p) 6pt Ly L L, nunhnGlpp vipwé 66 ubnGwlwh hwydwuwpnudbbpny’
XTX_YTH L X7X _ Y= )
[, m, l, m,

wwyw
I, +mm,

[7+m} -1 +m?
Vi m? I 4 m

Ly b L, mnhnGtph gniquhbinnipjwl wuydwhp YhGh™ [, m, =1, m,:

Cosa =

L1 b Lz ninpnGlph nunnwhwjwgnpjwl wwydwap' [, 1, +m m, =0:

q) Ly L L, wilynibGughG gqnpéwyhglbpnd wnpqwé y = kx + by L
y = kzX + b, nunhnGtph ywqiwé o wiynGGhphg dkp npnayned t

pwlwadlny: NinhnGlipp qniquhbin GG, Gpt ki = k; L nupwhwjwg’ tipp
k1k2 =-1:

4.8. Ninhn q6h Gnpdwy (Gnpdwynpywd) hwywuwpnidp: YnnpnhGwun-
gtiph ulyqpOwybwnnd wwbtbp wpdwé L nnnhG nuipnwhwjwg nlnhq b
P-ny GawlOwlbGp wyn ninpnGbph hwwndwb ybunp, huy pn ny OP yhy-
wnph  GpYwpnipymbp:  “hgnip OP#6 LU n- -0 OP JtunnphG
hwininnywé dhwdnp YbywnpG t, 6 -0 n Ytywnnph Yuqdiws wlyyn Gl t
Ox wnwigph htit’ n = (cosB, sinf) : M(X, y) titnp qunGynud t L ninnh
ypw wyl b dhw)0 wyl nbwpnid, Gpp Gpw YnnpnhGwunGtpp pwywpwpntd
G0

xcos@ + ysin@-p=0
hwywuwndwbp: Uyn hwywuwnidp Ynsynid t ninhn qbh Gnpduwy (Gnpdw-
yYnpywd) hwdwuwpnud: Mnpn q6h Ax + By + C = 0 pGnhwGnip hw-
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Jwuwpnudp Gnpdwy nbuph pbpbint hwdwp wbwnp t pwgqiwwwnlyby
L Gnpdwynpnn wpinwnphsny, pGuptiny M -h Gawlp

vA* +B?

C-h GwOhG hwywnwly:

u=%

4.9. 3wppnpjwl Yypw Ybwh htnwynpnpintGl nunnhg: Ept nunhnp
npquwé b Gnpdw hwywuwpmdny, www hwppnipywl Mg(Xe, Yo) Ytinh d
htinwynpnipjnthl wyn ntnnhg npn2ynid t

d=|x0 cosO + y, sinB—p|
pwlwdlLny: 6pb L ninpnp hwppnipjwl Yypw inpjwé t Ax + By + C =0
pGnhwlnip hwyjwuwpnuinyg, www Mo(Xe, Yo) Ytwnh d hinwdnpnipyniGp
L ninnhg’
4o 1A% T B, +C|

VA’ + B>

4.10. bpynt hnpnfuwluing qéwjhl whhwywuwpnud: Iwppnipjwl
w)b Ytwntiph pwqdnipjnilp, npnlg x L y YnnpnhGunbGtipp pwdwpuipmd
&0 Ax + By + C = 0 qéwjhl wGhwywuwndwap, A? + B2 > 0, jwqdnid
GG Yhuwhwppnip)niG (Yhuwhwppnipjnild Yuqinid G0 Gwl wyn wGhw-
Jwuwpiwbp spwydwpwpnn Ybnbpp, wjuhlpG Ax + By + C < 0 wiGhw-
JwuwpiwGp pwywpwpnn Ybwnbpp, huy Ax + By + C = 0 ninhnG wyn
Gpynt YhuwhwppnipjntGlbipp pwdwbnn tiqpwghéb t): SGunbuwqhunine-
pjwl 2wuwn fulnhpGtpnud npynid t Gl (pwgnighs uwhdwlwihwynd” X
L y atdnpjnilGlpp whwp t |hGEG ng pwgwuwlwb: Ujn vwhiwGwihw-
YnLip wrwihu t Lu Gpyme q@dwyhl wihwdwuwpnd” X2 0 L y2 O (pninp
w)b ytintpp, npnGp quibyned GG X = 0 ntnnhg we L y = 0 ninnhg ytp):
CLanhwbnip nbiwpnid

Ax+By+C 20

A,x+B,y+C, 20

hwiwywpgp GYwpwgpntd t m  Yhuwhwppnip)ntlGGph  hwwninudhg
unnwgynn pwqiwiynt whpnypp” nyjwy fulnph pnypwunpbh (nudnud-
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Gtph pwqinipyniGp, npp Ywpnn t (h0G] wluwhiwbwhwly, vwhiwbw-
thwy, GnuyGhuy nuwnwpl:

4.1. 3Lwljw| Ytwnbphg npn“Gp G0 wwwywOnd 2x-3y-3=0
mnnhG. A3, 1), B(2,3), C(6,3), D(-3,-3), EG,-1), F(-2,1):

42. A, B, C L D ytwnbpp wywunlwimi 66 3x -2y -6=0 nun-

nh&: QG| Gpwg opnhGwwbtpp, pt wyn Ytwnbtph wpughubbpp hw-
Jwuwp 0 hwiwywwnwuhuwlwpwp' 4, 2, -2 L -6:

43. A, B, C L D Uybwntpp ywwnlwond 6G x ~3y + 2 =0 mnnpG:

Qun04| Gpwhg wpughulbtipp, Gpb opnhlwwnGbpp hwywuwp GG hwdwujw-
nwwuppwlwpwnp 1, 2, -1 L -3;

44 Qb 2x -3y —12=0 niaah hwwndwG Yewnbpp YnnpnhGuwnw-
Jh0 wnwGgpGtph htwn:

45 Qb 3x-4y-29=0 L 2x+5y+19=0 nunhnGtph hwwn-
Jwl Ytwp:

4.6. Ywqub) ninnh hwjwuwpnuip, Gpt hwyinGh 66 Gpw k& woyniGw-
JhG gnpSwlhgp L wjG b hwwndwdép, npl wyn ninpnt wGwwnud t Oy
wnwgphg.

1)k=§, b=3 2) k=3, b=0 3) k=0, b=-2

4) k=——, b=3 5) k=-2, b=-5:

W

4.7. Npnzti wpdwd ninnh & wynGuwghG gnpéwhhgp b wyG b
hwwnywdp, npG ninhnl whgwwnd t Oy wnwlgphg

) 5x-y+3=0 2) 2x+3y-6=0 3) 5Sx+3y+2=0
4) 3x+2y=0 5) y-3=0:

48 Spwod t 2x+3y+4=0 nmnpap: Ywqity M(2, 1) Ytwny
wGglnn wyl nunnh hwywuwpnidp, npp
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1) qniqwhbn t inpywd nunnhG 2) ninnwhwjwg b npywd mnnhG:

49, Mnnwblwa bpynt Ynndbph  hwdwuwpnuiGlipg 607
2x-3y+5=0 L 3x+2y-7=0, huy A2, -3) Ytwp Gpw ququplt-
nphg 0bYG b Ywqibp ninqwblyjwb §jnwe Spyne Ynnibph hwywuwpnidGb-
pp:

4.10. NunnuGyjwi Gpynt Ynndkph L woynbwqdtiphg dGYh hwywuw-
pmilbpG 66 x -2y =0, x=2y+15=0 L 7x+ y—-15=0 hwiw-
wwwnwuhuwlbwpwn: Gt Gpw quiquplbipp:

4.11. it 2x-3v—-3=0 nmunnh GYuwndwdp P(-5, 13) Ybwnh uh-
dGwnphy Ytwnp:

4.12. QunGb] htwljw) ninpnlbphl gniqwhbn L Gpuighg hwywuwpu-
htin ntnnh Gnpiw; hwywuwpnidp.
1) 3x-2y-1=0, 3x-2y-13=0

2) 2x+3y-6=0, 4x+6y+17=0:
3) 3x—15y-1=0, x-5y-2=0

4.13. Qb M,(2, -5) L M5(3, 2) Yybwnbipny whGglnn nanh waynGw-
shG gnpowlhgp:

4.14. yuqibtp ABC bnwlOywl A(5,—4), B(-1,3). C(-3.-2) qu-

quplbpnyd wOglnn L GpwGg hwlnhwwlwg Ynnitipht gniquhbe nunpn-
Gtph hwywuwpnudGbpp:

4.15. bowlywh Ynnibph dhelwybintpp My(2, 1), My(5, 3) L M,(3, 4)
Ytwnbph 66 Ywqik] Gnwbyjwh Ynndtpp hwywuwpnidbbpp:

4.16. Spywsé GG P(2,3) L QO(-1,0) ybwbpp: Ywqity Q Ybwny
waglnn b PO -hG ninnwhuywg nuanh hwywuwpnuip:

4.17. Ywaqdib] w)G mnnh huywuwpnudp, nph hwiwp P(2.3) Ytwnp

YnnpnhlGwwGtph hwidwhwpgh uygplwytimhg wyn mnnphl vwpwo
nunqwhwywgh hhdpa t:
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4.18. Spywd L0 bnwGlwh A(2,1), B(-1.-1) L C(3, 2) ququplb-

pp: Ywqibp wyn GewOywb pwpdpnipyniGlbph pGrbhwGnip hwywuw-
nnudGLpp:

4.19. bnwlywh ququplbpt G A(l,—1), B(-2, 1), C(3,5) Ytwnbipp:
Ywqik; A ququpny w(glnn L BM dheGwqdhl ninnwhwjwg ninnh
hwdwuwpniip:

4.20. Spdwé b0 nwaywh A(2,-2), B(3,-5) L C(5,7) ququplb-
np: Ywqiby AN YhunpnhG C ququphg wwpywd ninnwhwjwgh hw-
JwuwpnLdp:

4.21. Spywé GG bnwllywh A3, 2). B(5,-2) L C(1, 0) ququpltpp:
Ywquib| bpw dholGwqébph hwywuwpnidGtipp:

422, Qunbb Mi(-1, 2) L My2, 3) ytwbpny wGglnn nnnp L
ynnpnhbwwnuwyhlt wpnwbgplbph bwwndwb Yewnkph YnnpnhGwunbbpp:

423. A(-3,-1) L B(2,2) ytwtpp ABCD qniquhbnwqéh Yhg
gwquwpltp &G, phuy O3, 0)-6° Gpw wiynbwgdtph hwndwl Yhwp:
LYwqub| gniquhtinwgéh Ynndtph hwywuwpndGbpp:

424 Spywsé GG nnnuwllwG Gpyne Ynnibph Sx+2y-7=0,
Sx+2y-36=0 L wGynbwqséh 3x+ 7y ~10=0 hwywuwpniGtpp:
Gwqdt) Gpw dyniu Gpyne nndtiph L wiynilwgsh hwywuwpniuiGtipp:

4.25  Spywé LG Gnwhyywh A(l,-2), B(5.4) L C(-2,0) ququplh-

np: Ywqik) Gpw A quwquwphlG Yhg Gtpphl L wpunwphl wiynGGEph
Yhunpnbtiph hwydwuwnpniibtpp:

4.26. Ywqdbt] wjl ninnp hwywuwpnudp, npG waglnud £t P(2, 3) yb-
inny b hwjwuwpwhtnt A(=7.3) nv B(11,-15) Ytintiphg:

4.27. QnGt, P(-8,12) ytwh wpnbyghwl A(2,-3) L B(-5,1)
ywntipny waglnn nuinnh ypus:
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428. it AB.—4) L B(-1.-2) ytwnbtpny wbglny nnnh
Gywuwndwip M (8,—9) ybwnhG updtinphy N Yybuinh ynnpnhGuwnGbpp:
4.29. QunGt) htwnbjw| nuinhnbbph uqdwd wayynbp.
1) Sx—y-=7=0, 3x+2y=0 2)3x-2y+7=0, 2x+3y—-3=0
3) x-2y-1=0, 2x—4v+3=0 4)3x+2y—-1=0, 5x-2v+3=0:

4.30. Ywqub M(2, 1) ybwing waglnn L 2x+ 3y +4 =0 nnnh htin
45° wiynG wqunn mnhnGbph hwywuwpnudGbpp:

4.31. Q(1, -1) ytwp pwnwyniunt YLGwpnGG t, huy Gpw Ynnibphg
dthp quGynud bt x — 2y + 12 =0 ninnh dpw: Ywqdb] pwawlniunt Gjniu
Ynnitiph hwjwuwpnuiGbpp:

432 bnwOlwl Ynnitiph hwdwuwpnmdGept &6 3x+4y-1=0,
x=7y—=17=0u 7x+ y +31=0: 3witdwwnbiny tnwGyjwl waynil-
Ghpp hwdnqybi, np wjb hwywuwpwupnil t;

4.33. Ywquib; wjl ninnp hwywuwpnidp, npG wGgbnud t M(2, -3)
ytwny L qniquwhtin t
) 3x=7y+3=0 2)x+9v~-11=0 3) l&x—24y-7=0

4) 2x+3=0 5) 3y-1=0
ninnh:

4.34. Mwpqgkb|, pb htiwnbjwg ninhnbtph qnuyqtphg npnGp G0 ninnw-
hwjwg.
D3x—-y+5=0, x+3y-1=0

2)3x—4y+1=0, 4x-3y+7=0
3)6x~-15v+7=0, 10x+4y-3=0
4)9x—12y+1=0, 8x+6y—-13=0
5)7x-2y+3=0, 4x+6y+17=0
6)5x-7y+3=0, 3x+2y-5=0:
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435. Qubht, ¢ wwpwdibwnph wyl wpdbpp, nph hwdwp
(a+2x+(@ -9y +3a” ~8a+5=0 ninpnp’

1) qniqwhbn t wpughulGbph wnwGgphl,
2) qniquwhtin t opnhGwwnbGtiph wewGgphd,
3) whghnud t YnnpnhGwinwhG hwdwlwpgh uyqplbwybinnny:

4.36. Npn2tiip m L n pybtph wjGwbu, np
(m+2n-3)x+2m-n+1)y+6m+9=0 nnhnbt wGgbh M(0, -3)
ytwny L gniquhbn (hGh Ox wowbgphh:

4.37. Qb m L n pYbipl wjlwbu, np
Cm-—n+S5)x+(m+3n-2)y+2m+7Tn+19=0 ninhnd wGglh M(5, 0)

ytuinnd L qniqwhtin |hGh Oy wnuiGgphG:
4.38. 3winqyhky, np htwnbywy nunpnGtpp qniquihta taG.

1) 3x+5y—4=0, 6x+10y+7=0 2) y+5=0, y-2=0
3) x=v2y=0, V2x-2y=0 4) f3x-1=0, 3x-+3=0:

439. Npngkip m L n pdtpG wjbwbu, np mx—-2y—-1=0 L
6x—4y—n=0 nnhnGtpp

1) |hGEG qniqwhtin  2) hwipbyGeG  3) ntOGbOwh d6Y pGnhwGnep Yhwn:

440. QG m L n pybp0 wylybu, np mx+8y+n=0 L
2x + my —1=0 nmnpnGbpp

1) LhGbG qniqwhtn  2) hwdpGUGEG  3) |GGG nunnwhw)jwg:

441, Qunlt m phy0 wjbwbu, np (M—-Dx+my-5=0 L
mx+ (2m—1)y +7 =0 nunpnbtipp hwingtd Ox wnwlgphl wwwnlw-
Onn Ybwnud:

442 Qunlt) m phyb wybwbu, np Cm+Dx+(m—-H)v+m-2=0
UL mx+(2m+3)y+m+6=0 nnphnlGtpp hwindsd Oy wnwigphl

wwunlwlnn Yewnn:
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4.43. Spywd 6 ABC btnwlGlwd A(3,-1), B(5,7) ququpltpp L
pwpdpnipniGlbph hwwniwh N(4,-1) Ybwp: Ywqib Grwblyjwh Ynnib-
nh hwywuwpnuiGlpp:

444, ABC btnwOywG ynnip L Gpynt pwpdpnipniGbbph hwyjwuw-
pnudltpG 60°
AB: 5x-3y+2=0, AM:4x-3y+1=0, BN: 7x+2y-22=0:

Ywqdb) Gpw djnwu Gpyne Ynndtiph L Gppnpn pwpépnipjwl hwywuw-
pnudGtipp:

445. ABC btnwGywG dholwqétphg btpynuG pGYwéd GG
x=2y+1=0, y—1=0 nmnhnlGtph ypw, huy A(l, 3) ytwp Gpw qu-
quwpOtphg dLY0 £ Ywquib] brwbyjwb Ynnitiph hwywuwpmiGtpp:

4.46. bnwlywl ququplbtphg vkyp B(—4,—5) ybtwnG L, huy tpynt
pwpdpnipnilGGbnl pOywé GG Sx+3v—-4=0, 3x+8v+13=0 nunpn-
Gbpp Ypw: Ywqib] wyn bnwbljwa Ynndtph hwywuwpnidbbpp:

4.47. ABC bnuwllywl ququwplbphg vtyp A(4,—1) ytwnh t, huy
Gpynt Yhurpnbbpb pGyws GG x—1=0, x—y—-1=0 mnhnGtpp dpw:
Ywqub} Gnwayjwb Ynndtiph hwywuwpriGtipp:

448 bnwOywh vnwppbp ququpltiphg tnwpywsé pwpdpnpjnilp L
Yhunpnp qunGynd G0 hwiwwwunwupwlwpwp 3x-4y+27=0 L
x+2y—=5=0 nunhnGbph ypw, huy B(2,—1) Ytwp Gpw ququwpGliphg
0tiYya L Ywquib) GnwGywa Yynndtph hwywuwpndGlpp:

449, bnwlywd Gnyh ququphg wwpwd pwpdpmpnlp L
Sholwqhép qulGynid GG hwiwwwunwuuwlwpwp 2x -4y +12=0 L
2x+3y =0 nnhnGtph ypw, huy C(4,-1) Ytwp Gpw ququpltiphg
GtYo t: Ywqub) Grwblyjwb Yynnitph hwywuwpndbbipp:

4.50. Gnwllws wwppbp ququpltiphg wnwpywséd pwpdpnipynilp
L dhplwghsl nOGG hwiwwywwnwoeppwlwpwp 3x+ y+11=0 L
x+2y+7=0 hwjwuwpnuiGpp, huy B(2, 7)ytwnp Gphw ququplb-
nhg dtyh k: Ywquib| Gnwayywh Ynndbph hwjwuwpnudGbpp:
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451, bnwllwb Gnj0 ququphg wnwpdwd Yhunpnb nt ‘ﬂhgﬁwqhén
qulynui 66 x+2y—-5=0 L 4x+ 13y +10=0 nunhnGtph dpw, huy

C(4,3) ytuwnp Gpw ququplbiphg dbyo £ Ywqik) trwGlyjwa Ynnikph
hwywuwpnudGbpp:

4.52. bnwOyjwh vnwnptip ququpltiphg nwwpdwd Yhunpnl nu dholw-
qh¢b nlGbG x -4y +10=0 L 6x+10v—-59=0 hwyjwuwpniGtpp,

huy A(3.—1) Ybwp Gpw ququpltphg dbYG L Ywqub) GnwGyjwG Ynn-
dGph hwwuwpnudabpp:

4.53. Ywqidbp wjl ninnh hwywuwpnidp, npG wGgGnud t YnnpnhlGw-
wwjhG hwiwYwnpgh uygqpluwytnny b x—y+12=0, 2x+y+9=0
nunhnGbph htin Ywqdned t 1,5 dwltptiung bnwayyniG:

454 P(3,0) ytwny whglnn nunpnGbphg pOwnpbp wyG, npp
2x=y~2=0 L x+ v+ 3=0 nnpnlGbpny wwpthwlwséd hwnywép
P ybtwiny yhugmid t:

455 Ywqubk wjl ninnh hwdwuwpnidp, npl wGglnud t YnnpnhGw-
wnwjhlt hwiwywpgh vyqplwybnng wylybu, np Gpw” 2x—y+5=0 L
2x -y +10=0 nunpnGtph dhol pGYwé hwinywdsh Gpywpnepnilp hw-

qwuuwp hGh \[16 -h:

4.56. Ywqit; wG ninnp hwdwuwpnudp, npG wGgGmd t C(-5, 4)
Ytwnd, huy Gpw wid hwwywsh btpywpnpiniGp, nplG pGlws L
x+2y+1=0 L x+2y-1=0 nunpnltpph dhel’ 5 t:

4.57. Qunlbt; w)b GnwOyywh dwybptup, npp 3x -4y —12=0 nnhnG
WUy wuinid § hwlwwywnwufuwa ynepnhbwwnwhl wayndGhg:

4.58. Qunlb| wjl ninnp hwywuwpnidp npl wagbnud t M(3, -7) Ybuwnny
L Ynnpnhbwwnuyhl wewbgpltiphg wipwwmd b hwydwuwp' ng qpnjw-
Ywl hwwnywsbbp:

4.59. QunGb| wyl ninnh hwywuwpnidp, npl wGgbnud £t M(2, 3) Ybuinny
L Ynnpnpbwwnwihlt wewOgpltphg wapwwnnd t hwywuwp' ng qpnjw-
Yuwb hwwnywsLtip:
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4.60. G0t wyl niqnh hwwuwpnudp, npG waglnd £ M(1, 1) Yewny
L YnnpnhGwwwjplt hwiwwywunwuluwld woynbhg wlhowwnd t 2-h
hwyjwuwp dwytiptu nlbtignn GrwalyyndG:

4.61. QunGb| wyl ninnh hwywuwpnedp, npG waglnud t M(5, -5) Ytunny
L YnnpnhGwwnwihl hwdwwywunwujuwb wiynibhg wiowwnid bt tnwG-
YniG, nph dwybpbup hwywuwnp t 50:

4.62. QunGt| w)b nuinnh hwywuwpnudp, npG wGgGnud t M(8, 6) Ytwnny
L YnnpnhOwwnuwyhl hwiwwywunwufuwb wayniGhg wiowwnd t tnwb-
YniG, nph dwytiptup hwywuwp t 12:

4.63. QunGhy wjh ninnh hwywuwpnudp, npG wGgGnud £ M(12, 6) Lb-
nnnd L YnnpnhlGwwnwihl hwiwywunwupuwb walyniGhg wGpwwnid t
Gnwlyyncl, npph dwybptiup hwywuwp t 150:

4.64. NunhnG wGgGnud £ M(4, 3) yawnny L YnnpnhGwwnwihG hudwuww-
nwufuwb woynbhg wiowwnd t 3 -p hwywuwp dwytpbu niGtgnn
GnwOy)ntG: QunObk; wyn mnnh hwwnidwG Yewbpp YnnpnhGuwunw)hG
wnwlgpGtiph htw:

4.65. Mupqb, pt htwnljw] hwjwuwpnuiGiphg npnGp GG Gnpdwg
inbuph

3 4 23
D3x-2y 320 2)2x-2y-1=0
) 3%75Y ) 3475

2 2
3) ix—l—'y+2-—-0 4) ——5—x+l—'_v—2=0
1313 13 13
5) —x+2=0 6) x-2=0
7) y+2=0 8)-v-2=0:

4.66. Nunnh hwywuwpnuip plipk; Gnpdwy ntiuph
4
1) 4x-3y-10=0 2) ;x—%y+10=0
3) 12x-5y+13=0 4) x+2=0:

4.67. Uywgnigtiy, np 2x+ v+3=0 nuinhnp hwwnd t A(-5, 1) L

B(3, 7) dwjpwytwntpny hwunywép:
39



4.68. 8nyg vy, np 2x —3v +6=0 ninhnp sh hwnnud A(-2, -3) L
B(1, -2) swjpwybtintpny hwinwép:

4.69. 3wyt htwnbyw| qniquhtin ninhnGliph Shel htnwynpnipjnilp.

D3x-4y-10=0 6x—8y+5=0
2)Sx-12v+26=0 S5x-12y-13=0
3)4x-3y+15=0 8x-6v+25=0

4.70. ABC btnwGYwl ququpltpt &G A(-10,-13). B(-2,3) L
C(2,1) yawnbpp: bl Gpw B ququph hGnwynpnipyniGp CM  dhe-
Owqény whglnn ninnhg:

471. Rwnwlnwunt Ynndbpp quGymd &G Sx-12y-65=0 L
Sx =12y + 26 =0 nuinhnGbph Yypw: Iwryt; pwnwynmunt dwitiptup:

4.72. A(2,-3) ququpny pwnwyntunt Ynnitipp 4x -3y +3=0 L
4x —3v—17 =0 ninhnlGbph ypw GG: Ywqoby Gpus djnu Bpyne Ynndbph
hwywuwpnidGtipp:

4.73. Rwnwlnunt Ynndbpp Sx+ 12y -10=0 L Sx+12v+29=0
ninhnGtph ypw 60 Ywqibk] Gpw dyne Bpyne Ynndtph hwywuwpnudGb-
pp. tpt hwywnGh t, np P(-3, 5) 4tiwp qunnGynid t wyn Ynndbphg dtiyp Yypw:

4.74. Ywqut, P(-2,3) ytiwng wagbnn L A(5,—-1), B(3,7) Ytiwnb-
nhg hwywuwpwhtn ninnp pGnhwbnp hwywuwpniip:

4.75. Ywquib] htwnljw ninhnGbiph uqiwéd whlyjwd Yhunpnh hwyw-
uwpnudp
) 3x-v+7=0, 3x-y-3=0
2) x-2y+3=0, x-2v+7=0
3) 3x+4y—-1=0, Sx+12y-2=0:



4.76. bawGlywa Ynnobpp x+y-4=0, 3x-7y+8=0 L 4x— y-31=0

nnpnGbpp ypw GG: Mwpqb, P(-3, 2) Ytwnh nhppl wyn bowhGlyjwh
GYwuindwdp:

477. 3x-2y+5=0 U 2x+ y-3=0 ninpnGbpny Yuqijwé wi-
YyniGGiphg npp°G & wWwwwand  YnnpnhGuwnwhG  hwiwlwpgh
ulyqpbwybwnp:

478. 3x—5v—4=0 UL x+2y+3=0 mnhnGtph Yuqdws unip,
pt” pnip whyywaa t wwnlywbnud P(2, -5) Ytwnp:

479. Uwqik) 3x-y-4=0 L 2x+6y+3=0 nunpnGtpny
Ywqiwéd wjl wayywa Yhunpnh hwdwuwpnidp, nphG wwwnwbned t
ynnpnhlGwwwiht hwiwywpgh uyqplwlbunp:

4.80. bwqity 3x+4v—-5=0 L Sx-12y+3=0 nunpnGbph Yugq-
dwé unip walyywb Yypunpnh hwywuwpnidp:

481. Ywqibp x-3v+5=0 L 3x—y+15=0 nmnhnGbph Yuqiws
pnip whyjwl Yhunpnh hwywuwpnudp:

482 Qunbty x+2y—-11=0 L 3x-6y—5=0 nnhnGtiph Yuqiws
L Q(1, -3) ybwnp wWwpniGwlynn whyywhd Yyhunpnh hwywuwpniip:

483. Oxy hwppnipjwl Jpw wwwlbpt| wihwdwuwpiwlp Yuwd
wlihwywuwpnuiGiph  hwdwlwpght  pwywpwpnn  Ytinbkph  pwqdne-
pjnLbp.

y2-1 y+x<1
1Ny2x 2) §- 3
)y ){r53 ){XZO
s <4 2y +x—-1<0
' < +2x <
4P = 5" " 6) {x>0
y2x y—2x<4
yz20
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2x+3y <0 x+y<2 X+ yv<s4
7)ix20 8) {dx+y22 9 {x+y21:
vz20 y20 x20

4.84. 3twnbkyw| ninpnGtpny vwhiwlwhwlywsé wnhpnypp Ghplwjwg-
Ot wahwywuwpniiGbph hwiwlwpgh ntupny.

Nyv=x,v=2-xbLy=02yv=2x,y=xbx=2

I3x+y=3,x20bLy=0 4)x+y=2,x-y=2Lx=0:

4.85. 3winGh t, np plpwghy wwpyw vwywennwlwl qudpjninp Ywuqg-
dnud £ 32000 n., huly Gwfunpn nwpnd w)l ugdk £ 29000 n.: Nppwi
Yywqdh wyd 5 wwpph htwn, t wwph hbwon, bipt vwywennwywl quad-
pjninh wéh ntidwyp Wwhwywbyh:

4.86. QLnOwpywuwnbpp pwiyhg Ytipgptip £ 2000000 n. tpjwpwdwiybun
Jupy wnwpbluwbd 16% (wwpq) nnynuwnpnypny: Mwpqbp wywpunph
swihp 6 wihu, 2 vwph, 5 vwph, t wph wig:

4.87. 3wpinlGhp t, np dGnGupynipjnilp tnwpwéph Jupdwywinipjwl L
w2fuwnmwyhglbph Juwpdwwnpnipjwlb hwiwp wiwh pnqnupydwld dw-
Juihg wpwpwywl YSwpnd t 200000 n.: Pwgh wyn, wpunwnpwaph
dhwynph hindhinfuntd dwhuup Yuqdnud t 200 n.: Mwnpwuwnh wpnwn-
pwiph dhwydnpp qwdwndnd t 250 npwdng: QunGhbp wpwpwlwl
pnnwpliwl w)b dwydwip, nph nbiwpnd dtinGwplnepinilp ng whnyp
YniObOw b ng k| Yhwu (6whuuwdwdydwh Yhwp):

4.88. Uyniph p qOhg Ywhws S =S(p), D= D(p) wnwowpyh L
wwhwlywpyh YwhjwdnipjnilGGtipp npynud 60 htwnlyw] pwlwdbbpny
$=08p+0,5, D=-04p+15:0pn2t wynph 2ntywjwywb ghGp:

4.89. Uyniph qOp Yuwhujwénipynibltpl wnwownpyhg b wwhwbowpyhg
npynd GG p=1,258 -0,625 L p=-25D+3,75 pwlwdlLbtpny:
QG| hwywuwpwynwéd qhlp:

4.90. caybpnpynilp Juwdwnnd t pGynyyq L Gney" Yhingpwidp 1200 n. L
1800 n. qbbpny: CGYnyqh wwhwbpwpyh wlyniip hwnpwhwpbint
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Gwwwwyny paybpnipynilp Gwhiwwnbub) t Jwdweph hwGbp pGYnyqh L
Gniph tuwnGnipn’ 1400 ppudng: P70y hwiwdwuGnipywdp whinp t
wwwpwuwyh uwrdnipnp, npytiugh hwunypp 80w widntnju:

4.91. caytipnipynilp shp b swdhs atnp phiptipnt Gywwwyny dwiuuby t
500000 n.: Ywdwnrphg utnwgyb] t hwiwwwwnwuhiwlwpwp 8% L 10%
whnyp, npp Ywquibp bt plnwabkGp” 46000 n.: Npnbp jnupwpwGsjnep
nbvwlwbne ypw Swjuujwd gnudwpp:

4.92. 3AnlGdwph 15-hG wwypwlph qhGp Ywqdik t 120 n., huy Gnyh
tnwpyuw dwjhup 15-hG° 140 n.: 3wduwpbiny, np qbh wsp qéuyhb b hwp-
4t wwpwbph qhGp Gnyl nwpdw ognutnnuh 1-ha, nbywnbtdptph 1-hG:

4.93. Shuwhunwnh Ypwwynid Gpynt wipu wnwye Jwswnyk) t 3,5 4,0.
npwih éfuwtunwn, huy pGpwghly wiound® 2,9 §16. npwih: Iwdwpbiny
Sfuwpuninh wwhwbOewpyp wbynidp YuyniG@® npn2bp Gpw JwSwaphg
unnwgywd gnidwph Ywhudwdnipintlp dwiwlwlyhg: Mwpqby, pb pwh’
wdhu wag qGnpnbtpp YhpwdwnpybG wyn Jwn unynpnipjnibhg:

4.94. 3wjnGh t, np wwpwbph dhwynpla hpwgynid t 300 npwainy, huy
n  dhwdnp wwpwlph pnqwpliwld Swhuup  wpunwhwpndnd Lt
C=150n+105000 pwGwadlny: Npnybp hwywuwpwynnpjwl pwiw-
Yp (GYwdwnh L YGwup pwgulwnipinilp): I6pwnwutih® t wpninp pn-
nwpynnh hwdwp C =1201+ 110000 hpwyhsuwyp:

4.95. Gwpwnh wwpbiwG dhehG O, wewwpyp b @), wwhwblownyp
npdnud 66 Q, =0.75p +400, Q, =-05p+150 pwlwaltpny, np-
wntin p -0 wpwphp d6Y Yhrngpwih qghGh t: Ywnnigb wyn pncbyghwatiph
qpwdhyltipp U hwaybi zwpwph zniywjwlwa qhlp:

4.96. Uvypwlph obY dhwynph 2nijwjwywl ghGp 500 npwd Lt U
wwydwaipnmd hpwgdwl dwywip 14 000 dhwynp t: 300 npwiny wjn
wwnw(y 1 wpntG sh pnnwpldh, huy 900 npwing’ sh hpwgyh: Gty
wwhwgt.nhih b wowewpyh pnilGyghwllipp, Gpt npwlp qéw)ha LG:
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5. 6Purnra wureb Q56N

Chanhwlnip wupny vnipdwé bpyne hnhnfuwwbnyg Gpypnpn Yupgh
Ax*+Bxy+Cy’+Dx+Ey+F=0,A*’+B?+C? # 0, (1)
Jhwduwuwpnuip hwiwwywunwufuwl apnubyntd nbywpwywG Ynnpnp-
GwunwihG hwidwlwpgnid npnanid t Ywd puwwpy pwuqinipynel, Yuwi
Ybuw, Ywd ninpn, Ywd ninpnbbiph anuyq, Ywd oy (2powlwghd), hf
wbppn), wwpwpn g6tinhg dbkyp:

l

5.1. Cpowlwqdéh hwywuwpndp: hgnip A = C # 0, B =

D? + E? - 4AF > 0: Ujn nhiwpntd utnwgyuwé :

Ax*+ Ay’ +Dx +Ey+F=0 )

hwqwuwpnidp  hwppnpjwb  pw  npnanud £ 2powlwqhd:  bpnp,

tpwgbbiny x b y wwpnibwynn whnwdbGtpp dhGsk (phd pwnwyneup,
YuunwbwGp’

( D J3 ( E)Z D* + E? —4AF
X+— | +|y+—| = : ©)
2A

2A 4A°
ewhh np D? + E? - 4AF > 0, wwuw (2) —p ppowlwqdh plnhwlnin huw-

-D -F
Ywuwpmdo t, nph YGGwpnGp qunGynid t Q(ﬁ,a) ytwnod, puy 2w

VD + E* —4AF -D ~E
nuwphnG t' R = : Lawlwybyind x, =—, y, =—,
unwlnud bap 2powlwqéh Gnpduwy hwywuwpmdp’

(X —Xo)* +(y - yo)* = R%: (4)

Uwulwynpwybu, bpti 2ppwlwqséh YhGunpnldp qunGynid t Ynnpnhlww-
Gtiph uyqplwytinnid (Xg = yo = 0), wyw pewlwqsh hwydwuwpnidp
YpGnniGh

x2 + y2 - R2 (5)
nbiupp:

5.2. tlhwu: %hgnep (1) hwywuwpdwG d6e B = 0: UGpwwntiny (phy
pwnwlniupGtipp, (1) huu{wuumnujn llpbnllh

D* E’
Ax+—— +C(y+ —) ="+ ——F 6
( 2) y 2A) 4A 4C ©



D E D E°
tu wd, Grwlwybiny X = - — =. —, —+—-—F =4,
nbuph, Yy 2 ybiny Xxo 2Ayo A A T ac
Juunwbwbp’
A(x-Xo)* + C(y-yo)* = d: (M

tpupnpn Yupgh (7) Ynpp Ungymd bt 4pwu, tpe A, C L d
gnpSwlhgbbpl nlGB0 dpLbnyl Grwlp: Ywwwpbind Ynnpnhbwwnw)hl
hwiwlwpgh ulyqplwybnh hwdwwwunwupuwb nbnwwnd, junwbwbp
xﬁ + y‘) :l

a  b-

8)

d d
Yhwuh qwlnGuwlwl hwywuwnndp (a = \/; Lb= \/g Yhuwnwigp-
Gbpng): UwuGwdnp nbiwpmd, pp a = b, (8) -p nwnbGnud t x2 + y =
mpwlwqéh hwyjwuwpnud: Fy(-c, 0) L Fy(c,0) Ybnbpl wlwbnud &G (8)
tivwuh ypquigbntip ($nyneutitp), npntin ¢ = Va® —b° (Shain Yunbih t

hwiwpb, a=b >0), huy € =< hwpwpbpnp)nilp’ b hwuh Lpugbibinpp-
a

upinbur, UYGhwypn t, np 0<é€ <1, pln npnud, 2ppwiCwqéh hwidwp’

€=0: Ay(-a, 0), Ay(a, 0), B4(0, b), Bx(0,-b) Ytwntipp Yngynid GG ¢puup
Ququplbn:

5.3. 3hwbppni: Gpypnpn Ywngh (7) Unpp Yngdnud t Apwsbippny, bpt A b
C gnpéwlhglbipG niGtG wwppbp GwbGkp, wjuhGpG AC < 0, huy
d#0:6p A >0, C <0 kL d >0, wyw unwgynd t hpwbppmp
YwinGulywl huwuwpnidp’

9

X o, (9)
a

’ d
npinbin a :‘/% hpwbppnih ppwlwl YhuwnwGgpl t, huy b= —C :

Ytiné Ypuwnwlgpp: Fq(c, 0) -G L Fy(-¢,0) -0 hhwtppnih §pquilybinkpl GG
= Ja’ +b), huy 8—— -0 tpugbGunppupinbiinp (€ > 1): 3hybppn-

]

o
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\h quaqupltinG 60 A(a,0) L Ax(-a,0) Yawbpp: (9) hpwbippnG nuGh Gpyne
wuhdywnn’ '

b b
y= —x, y= ——x:
a a
6pt d <0, wyw unwgynid t (9) hhwybippnihG hwdwinid
x‘l y?.

) i l
a- b
d d
hhwtippnip, ¢ = —A Lb= E Yhuwnwbgpltipny: Jwywuwnwynnd

hpwbnpmph (a = b) wuhdwwnninGbpp hinfunipnwhwjwg 66 L hwinhuw-
Ond 5G YynnpnhGwwnwihG wayyncGbeph Yhunpnbbpp:
Jwywuwpwynnd hhwtppeny £ hwinhuwbnud Gwb Gpypnpn Ywpgh

xy =k (10)
hwywuwpnudny npynn hwijwnwpd hwibdwunwywbnpjwb Ywfujwdnt-
pintlp: bpb k > 0, www (10) bhybppnih §ynintipp qunGynud GG [ L 11T
punnpnltpnid: Bpb k < 0, www (10) hhwbppnih Syninbpp qunGynid &G
II L IV pwnnpnbbpnud: kK = 1 nhiwypntd A4(1,1) b Ax(-1,-1) Ybwnbpp (10)
hpwtppnih ququwpltpG &G, huy x = 0 L y = 0 YnnpphGwwnwjhG
wnwlgpltpp’ Gpw wuhdyunnunGtipp:

5.4. Mwpwpn: %hgnip (1) hwywuwpdwh dby B-G, hGswbu Gwb
A L C qnpéwyhgltiphg udtyp hwywuwp &G qpn, npnwlhnipjwl
hwiwp’ A=B=0,C # 0, wjuhlpl’

Cy’+Dx+Ey+F=0: (1)

LpwgGbiny vy wwpnilwynn wlnwiltpp dhGsk phy pwnwlyniuh,
Ghpwnptyny, np D=0 (D = 0 abwpentd unwgynid G Gpynt gniquhtn
nunhnGbp ywd nwunwpy pwqidnepjnil), YhwGqbbp

(¥ - Yo)* = 2p(x - Xo) (12)
hwyjwuwpdwbp, npunbn X = —£+ E” = —£ 2p = —2'
- r T apc T T PT T

Epbpnpn Ywpgh (12) Ynpp Ynsynid t wuwpwpeny, Q(Xo, Yo)-G Gnw qu-
qupl t, p-0° wwpwpenh wwpwdbnpp: Gpb p > 0 wwpwpnih SnintinG
nnnywd G0 wy, p < 0 nbwpmd’ dwfu: Mwpwpnih hwiwswihinipjwl
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wnwlgp t hwlnhuwGnld y = y, ninhnp: Gpbi wwpwpnh ququpp
quOdmd t YnnpnhGwuinbbph uyqpbwybinnud, wwyw (12) hwdwuwpnudp
pGnnilned t y2 = 2pX wntupp: F(—g, 0) ytwp Ynsynd t wwpwpnih 4p-

qulbwn, huy x = ~§ nuinhnp’ phpbhyunphuwr.

5.1. Mwpqbiy Ynpp nbupp

D(x-2+(y+3)°=25 2)(x =2 +5(y+2) =15
3)x2—4¥2=l6 4)x*=6y+2

5)x2+y -4y=0 6)x2+y“+l6y=l7

7) x> +4y* —4x + 16y =0 8) 25x* + 9y’ — 72y = 81

9) 9x* - 16y> +90x + 32y =367  10)y=4x’—8x +7
1) x%+y -4x + 14y +54=0 12) x = 2y* — 12y + 14

13) y? = -4x 14y y = 3x+14
x+2

15) y = 4x+5 16) y = 14x+1
2x-1 3x+8

17) 16x* - 9y* - 64x - 18y + 199 =0
18) x> +y? + 10x -4y +29=0

5.2. Ywqub} 2ppwlwqéh hwywuwpnidp, tipt

1) w)l wGglnud t YnnpnhGwwGtph uyqpbwytinny, huly YEGuwpnGp
Q(-6, 8) ywG t,

2) w)l whgGnid t A(-8, 6) Yawny, huly YGupnGp Q(1, 2) YLwnG t,

3) Opw wpwiwqgdtiphg LY Swypwybnbpp A(2, 3) L B(6, 1) yb-
nbph &a,

4) 5x — 12y + 9 = 0 ninhnp Gpw 2nawihnnG t, huly Q(1, -1) Ybwp’
yLGuwpnap,

5) wjl waglnuit A(1, 2), B0, -1) L C(-3, 0) ytintpny,

6) wylh wlglnuy t A(7, 7) nu B(-2, 4) ybwbpny, L Gpw YLGOwpnlp
qunbyntd t 2x — y — 2 = 0 ninnp Ypw:
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5.3. bnwlyjwl Ynndtipp gunlymi GG OX —2y - 41=0,7x +4y+7=0
L x — 3y + 1 =0 ninhnGbph Ypw: Ywqdty wyn GrwlGlwil wpnwqbdwd
2nowlwqoéh hwywuwpnidp:

5.4. bwquby x> + y> = 16 L (x - 5)° + Y = 9 ;ppwwqébph panhwhnip
Lwpp hwjwuwpnidp:

5.5. Ywqdb) tihwyuh hwywuwpnudp, tpb

1) Fi(-2, 0)-0 L Fy(2, 0)-0 Gpw Yhquitinbpl GG, huy dtd Lhuw-

wnwlgpp a= ﬁ
2) F,(-4, 0)-0 L Fy(4, 0)-G Gpw Yhquybwinbpa &G, huly tpugbGuphuh-

. 4
nbwnp € =—:

3) ULpw Yhquybwnbpp Ox wnwGgph' uyqpGuwybinh Ghundwdp uhdt-
wnphy Ybwnbp Gh, 966 YhuwnwlGgpp' a = 20, huy tpugtiGnphupnbunp

| W

E =

N

4) ULpw Yhquybwbtpp Ox wnwGgph' uyqplhwlybnh GYwndwdp up-
vGwnphy Ybwnbp 66, huy YhuwnwbGgplbpp a=7,b=2;

NI

1
5.6. Uwqub M(%, 76) L N(-2.—55—) Ytiwntipny whglnn thwuh Yw-
GnOwlwG hwqwuw;mﬂnz

4

5.7. Mupabiy M(7, 1), N(-5, -4) L P(4, 5) Ytantinh nhppp ;‘—(; + %2_

tthwuhp GYuwndwdp:

xz y?.
-+ <7 =1 tihwuh Jpw
a bh-
qunlynn wikG dh M Ytwp hwiwp Shan t |[FM| + [FM| = 2a

hwywuwnpnipyniip:

5.8. Uwwgnigty, np Fy L F, yhquybtinnkipny
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5.9. Gwquibtp M(9, 8) ybwniny whglnn hhwbppnh hwywuwpnildp, tpk

22 242
3

fipw wuhdywnnnGtipp npynud GG y = —3——x Ly=-

X hwjwuw-
pnudGbpny:

5.10. Ywquibty F,(-13, 0) L F,(13, 0) Yhqwytwbtpny hhwtippnih
hwyjwuwpnidp, tipt Opw ququwpltph dhel htinwyrpnipjnilp hwywuwp
k 24:

5.11. Ywquibky Fq(-4, 0) L F,(4, 0) Yhquytintipny bhhwybppnih
hwywuwnpnudp, tpt Gpw ququplbphg dtyp A(1, 0) YtwnG t:

5.12. Ywqib) wylG bhybppnih hwywuwpnudp, nph ququwpGkpG nu Yh-

quybtiintipp hwdpGyGnud GO % + y? =1 tipwyuh ququpltph nt yhquw-

ywnbtph htiwn:

2 2

X
5.13. Uwwgniglf, np Fy b F, yhqulbtitnbpny ZZ =1 hhwybtppnih

a®
Jpw quGynn wikG dh M Yhwnh hwdwp Show t | [FM] - [FM] | = 2a
hwywuwpnipynibp:

5.14. Gt Ox wnwlgph Guwwdunip uhdGuphy wyl wwpwpenh
hwywuwpnuip, nph ququwpp O(0, 0) =G t L npp ¥ = X ntnhg Yupnud t

4w/§ GpYwpnipjwdp (wp:

5.15. yz = 3Xx wwpwpnh Yypw qunlh Ytw, nph htnwynpnipjnilp
4x + 3y - 110 = 0 ninnhg hwywuwnp t 2:

5.16. Oxy hwppnipjwl Ypw wwwlbpby wihwdwuwpiwip Yuwd
wlhwywuwpnuiGbph  hwiwlwpghlt pwywpwpnn  Ybwnbph  pwgqlnt-
p)nLlp.

Nx-4)"+(+3)°<1l 224x> -y<0  3ay21

{xz—vSO {X_VZZ
5) . 6

4) x* +4y* 21
y<3x+4 x20
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7){4x2+9y231 y—xZZO_

y > x® x—y220.

5.17. MGpdwyp 2ntywhb nuntdGwuhptiihu wnbub) k, np tpb qlluwpyp
ywswnph ghGp |hGh 3000 n., www opwlywlb Yqbtt 30 qifuwpl, huy tpk
Jwdwnph qhGp |hGh 4000 n., wyw opwlwl YywsSwnyh 20 qpluwpy:
Upwnwnpnipjwl hwuwnwwnd dwhuup Yuqdnd t 20000 n., huly oy
qiluwplyh dinhntuntG Swfuup® 1000 n.: CGnnibtGp, np Ywlwnjwd
aliuwpylbph pwlwyh L qbh dhol Yuwp (qihuwplh wwhwbewnyhp
$nillghwt) qéuwhl b q = kp + ¢, npintin p 0 Gy qifuwplh Yuswneph
qhG0 t, q -0 Jwlweywd qiuwpyGhph pwlwyp, huy k -G L ¢ -G hwu-
wnwwntl gnpéwlyhgbtip GG: Mwhwbeynid t unwlw) hwiwwwwnwuluwl
pwlwdlbbp hwunyph, pGnhwlnip éwhuuh L Bywdninh hwdwp L Ywent-
glii npwlg qéwwwwnykpatpp:
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6. UUyGreydnk3eh b4 ad5h IUdUUUrntULENE SUrUSNHE3UL UG

Thgnip nwpwédnpjwl Gty wipdwd GG Oxyz pbwpnywl nnnwi-
Yni0 hwdwlwpgp U nplt S dwytipunyp: S dwitplnyph hwywuwpnd t
Ynsunii

F(x.y.z)=0

hwjwuwpnidp, tpt dwlytpbnyph dpw qunlynn guwihwgwé Yhwnh x, y L
z YnnpnhOwwnGbpp L dhwyt Gpwbp 66 pwywpwpnd win hwjwuwpiw-
Gp: 9hép nwpwoénpynllnd Gapluwywgynid b npwbu Gpyne dwytipbngp-
Ghph hwwnud L hbnbwpwp’

Fi(x,y,2)=0

F,(x,y,2)=0
hwywuwpndGipp hwdwwbn npnnd 66 ghé  nwpwdnpjnLGney,
wjuhlpl hwanhuwGnd 66 rwpwewlywl géh hwywuwnmdGbr Uwyb-
nunypp L ghép nwpwoénpynlGnud Geplwjwgynid b6 Gwb ywpwdbn-
pwywl wbuptpny: Ujn nbuypnud, undnpwpwn, nwpwéwlywb L qbh
gwllwgwd Ytwnp YnnpnhlGwunnbtipp wipdnud GG npwbtiu npnwyh dhow-
Yuwjpnid thnthnpuynn t wwpwdtnphg Ywpujwé wiplnbww pniblghw-
Gtp°

x=@@), y=y (1), z=x(1),
huy dwybpbnyph wywpwdtinpuwlwbd GEpJujwgdwld hwiwp wn Jwyb-
punyph Ytwntph YnnpnhGwwnGbpp npdnud 66 wpnblb npwtiu pynt u L v
wwpwibwnpbphg Juwiujwé wapbnhwwn niGlyghwbbp’
x=0,v), v=yu,v), z=xu,v):

Uwltplunipp Ynsgynud t hwlbpnwhwpdwlwd, ipt wyh nput nbywpn)jwb
nuinnubynG hwiwluwpgnud wpdmd t P(x, y, z) = 0 hwywuwpniiny,
npwntn P(x, y, z) -p tiptip ¢hnthnpuwywGGtph pwqiwGnwd t, pln npned,
tpt pwqliwlnwdp n-pn wunhSwih b, wwyw Jwybplngpp Yngynid t n-pn
Ywpgh dwybplnyp: Ny hwGpwhwowlwb dwybplnypbbpp Ynsynid Lo
wnpwlugbonbbur, 6pb nwpwoéwlwh ghép hwinhuwbnd t hwipwhwp-
Julywl dwybplnyplbbph hwwnnud, wwyw wyl Yngnid t ~wlpwhwpgw-
Yuwa:

6.1. x2+ y* + 2% = 9 dwybipLnyph Ypw ginGh) Ytin, nph
1) wpughup hwywuwnp t 1, huly opphlGwwnp” 2,
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2) wpughup hwywuwn t 2, huy wwhjuwnp® 2,
3) opnhGwwnp hwywuwp t 0, huy wyhjwwnp’ 3:

6.2. Swpwoénpjwl dhp h°G; Gpypwiwhwlul wwnlbp £t npnynud
hbwbjw; hwywuwpnidp.

Dx=0 2)y+z=0 3Nx-y=0
Hx+z=0 5)xy=0 6) xyz=0
7)xy—y3=0 8)x +y’ =25 9) x” =6z:

10) (x -2+ (y+3)°+(z-5)7=49

6.3. b"0s GpYpwswhwywls wuwwnlbp £ npndnud hbnbywyp wWwpwibn-
pwlwl hwjwuwpnmibbpny

1) x =R sinu cosv, y =R sinusinv, z=R cosu, 0Sus 7 ,0<v <27
2)x=14+2u+3v,y=1+3u+4v,z=1+4+2u+v:

6.4. b°0s hwyjwuwpiwl wbnp t pwdwpwpklt M;(1, 2, -3) L M3, 2, 1)
ytwbiphg hwywuwpwhtin Yeinbph YnnpnpGwnlGbpp:

6.5. Qb
x*+y*+z2=49
P4y 478 -47-25=0
q6h 3 wpughuli nLGkgnn Ybwntipp:

° 6.6. N°p YnnG t npnzyYnid htinnbyw) hwdwlwpgny.

{x=0 {y+2=0
1) 2)
z-5=0

2 2 2 _ _qy\2 2 N =
3){x +y*47°=9 " {ix_OS) H(y+2) +(2-D’ =169
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7. 3urenrE3UL IuduuUrnrULEre

7.1. Swppnipjwl pGnhwinip hwydwuwpndp: Gpb tnwpwdnipjwb dtip
wpjwé t Oxyz nbijwpuywt ninqwilyniG YnnpahlwwwihG hwdwlwp-
ap, www X, ¥ b z thnthnfuwywbGGlph GYwndwdp wnwehb jupgh gwa-
Jugwé

Ax+By+Cz+D=0,A?+B?+(C?>0, (1)
qoéwjhlt hwywuwpniiny npnadnud b hwppnipyntl b hwjwewyp”™ Ywiw-
Jjwlwl hwppnipinl npndmud £ (1) hwywuwpnudnyg, npp Yngynud
hwppripywl  plnhwlnign  hwywowpnd: Iwppnpywll  nunnuwhwjwg
n = (A, B, C) ythwnpl whdwlnud 66 wyn hwppnipywa Gnpduwy fblunnp.

7.2. 3wppnLpjwl ‘hu.nhuuwnnuin wipwwnywé hwwnywoGhpny: Epb (1)
hwywuwpdwlb pninp qgnpdwlyhglbpp qpnphg wppbp G0, www wyl
Yuwnpbih t ptipkip hbwnbywg nbupp’

i + l + E =1 , (2)
a b c
npp Yngdmd b hwppnipjwl hwywuwpnd wlownydws (Yupydwd) hwan-
Ywohlinny:

7.3. bptp Ytwtpny whglnn hwppnipjwl hwyjwuwpnuip: UGY ninnh
ypw squnGynn tpbp Ytwnbpny whglnud t 06y L Ghw)b dkYy hwppnepyni:
Ujn hwppnipjwl hwydwuwpnidG niGh (1) wbupp L, pwlh np npduws
Gptp Ybwbtpp qunbGyntd GG hwppnipjwl Ypw, npwlbg YnnpnhlGwunbbpp
pwywpwpnid GG (1) bwjwuwpdwlp: UpnyniGpned uwnwgynid t biptip
qowyhG hwywuwnpnuibtphg Juqiwé hwiwyuwpg A, B, C L D snpu
whhwjnbbph Ojwndwip:

7.4. bpym hwppnipyntGGbph Yuqiwsé waynbp:
Ax+By+Cz+D/ =0 u A,x+B,y+C,z+D, =0
pOnhwlnip hwywuwpndGipny wpdwé 7, L 7T, hwppnipnilGiph
Ywqiws ¢ whynbp hwywuwp t GpwGg Gnpdw)’ Ny = (Ay, By, Cy) b
n, = (A, B,, C,) ytywnnplbiph yuqiwé wiyjwip b, hbunbwpwp’

(n,,n,) AA, + BB, +C,C,

cose= :\/A,3+Bf+C,3\/A§+Bj+C22 /

|”|' n,
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UwuGwynpwpwn, hwppnipintGabpl ninnwhuywg GG, tpt nunnuhuwi-
jwg &G Ny L N, yeyunnphbpp, wjuhGplt’ (ny, ny) =0, uwd AA, + BB, +
+ C,C; = 0: 3wppmpyntlbbpp qniquhtin G, Gpp Ny L N, Yeyunnplbpp
hwdwqhé Gb, wyuhGpl’

hul, tipk

A_B G
C, D,
GG:

[=

www 7T, L7, hwppmpjmﬁﬁhnn hwdpayling

7.5. 3wppnipjwl Gnpdwy (Gnpdwynpywéd) hwywuwpnidp: “hgnip
wnpdwd t YnnpnhGwwbbph uwyqpiwlytnnyg swOgbnn 77 hwppnip)ntlp:
UnnpnhGwwnGtiph ulqplwybnng nwitbp wyn hwppnpjwll nupnwhw-
jwg ninpn L nhgnip P -G Gpw hwindwG YenG t win hwppnipjwl hbwn:
OP yJtyunnphh hwdninnywé Shwynp ytiwnnpp GawlwybGp n-ny: Gpb
-G, f-G L ¥-Gn Ybywnnph Juqiwé wilnGobpG 66 hwiwwwwnwu-
fuwGwpwp OX, Oy L Oz wrwGgpltiph htwn' (n = (cosa, cos B, cos¥))

= |0_P| www 77 hwppnipjnilp tnpynid t
xcosa+ ycos B+ zcosy — p=0 (3)

hwdwuwpnidny, npp Yngymd t hwppmpwl Gnpdwy hwiwuwnntd: Gph
hwppnipjwl pUnhwlnip hwywuwpiwl tpynt Ynnibpp pwqliwwwn-

Yblp p = pyny, plwnbiiny p-h Gawlp D -h GawGha

+JA* +B*+C°
hwwrwy, wwyw Yuonwlwlp hwppnipjwt Gnpdw) hwywuwpnulp:
Mo(X0.¥0,20) Ytinh hnwynpnipynilp pGohwinup hwywuwpnidng wipynn
hwppnipjnilhg npnaygnid t

|Axy + By, + Cz, + D|

VA’ +B* +C?

pwlwdlny:

7.1, Ywqitp M(2,1,-1) ybwng wGglnn L n = (1, -2, 3) Gnpduwy
ybywnpl niGgnn hwppnipjwl hwywuwpnidp:
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7.2. P(2,-1,—-1) ytwnp hwlnhuwbnd t YynnpnhGuwunuwghG hwiwlwp-
gh ulqplGuwybinhg hwppnpjwb hetignwé nunnuwhwjwgh hhdpp: Ywqib]
uyn hwppnipjwl hwywuwpnidp:

7.3. Spjwo kG M,(3,-1,2) b M,(4,—-2,-1) ybwbtpp: Ywqlb] wyl
hwppnipjwl hwywuwpnidp, npG wiglnud £ M| Yhwny L ninqwhwjwg
t M, M, Jtywnnpha:

7.4 Ywqok| P(3,4,-5) Ytwnnd wGgnnka=(3,1,-)mtb=(1,-2,1)
yGlwnnpabphG gniquhtin hwppnipjul hwywuwpnidp:

7.5. bwquty M,(3,-1,2), M,(4,-2,-1) L M,(2,0, 2) Ytwnbpny
wlglnn hwppnipjwb hwywuwpnudp:

7.6. Iwdwuwpnmdbbph n°p qnyqbpd 66 Yuwqimd qniquhbin
hwppnpyniGlbp.

1) 2x-3y+5z-7=0, 2x-3y+5z+3=0

2) 4x+2y-4z+5=0, 2x+y+2z-1=0

3) x-3z+2=0, 2x—-62-7=0:

7.7. S3wjwuwpndGph np qnyqtpG 66 Yuquind nipnwhwjug
hwppnipynLGGp.

1) 3x-y-22-5=0, x+9y-3z+2=0
2) 2x+3y-2-3=0, x-y-z+5=0
3) 2x-5z=0, x+2z2-3=0:

7.8. 1 L m pytph n"p wpdbpGhph nbwpnid htinbywy hwppnipyntGOG-
np Y hGkG qniquhtin.

1) 2x+1ly+3z-5=0, mx-6y-62z+2=0
2)3x—-y+12-9=0, 2x+my+2z-3=0
3) mx+3y-2z+1=0, 2x-5y-Iz=0:



79. I-h n°p wpdtph ntwpnd hbwnlyw) hwppnpyniGGepp Y hGEG
nunwhwjwg.

1) 3x-S5y+I1z-3=0, x+3y+2z+5=0

2) Sx+y-3z-3=0, 2x+ly-3z+1=0

3) Tx-2y—-2z=0, Ix+y-3z-1=0:

7.10. QunGLy hwppnipyniGGph qnuqny Yuqidwé tipyGhun walniGp.

1) x—«/'2_y+z—l=0, x+\/-2_y—z+3=0

2) 3y-2=0, 2y+z=0

3) 6x+3y-2z=0, x+2v+62-12=0

4) x+2y+2z-3=0, 16x+12y-15z-1=0:

7.11. Ywaquity M(3, -2, -7) ytwnnd whglnq b 2x — 32+ 5=0 hwppnt-
pjwlp qniquhbn hwppnipjwl hwywuwpnidp:

7.12. Ywqibk) wjG hwppnipjuil hwywuwpnudp, np0 wGglnd
M(2, -1, 1) yaunind L nipqwhwywg t 2x—z+1=0, y =0 hwppnipjnil-
Gbphg JnLpwpwlsyniph:

7.13. 3wdnqyt, np x—2y+2z-7=0, 2x+y-2z+2=0 1L
x=3y+2z-11=0 hwppnipniGGEpG nGbG Ghonn GGy plGnhwinip
Ytin: QuinGhy wyn Yewnh Ynnpnhbwwnbbpp:

7.14. Ywquib| w)l hwppnipywl hwywuwpnidp, npG woghnud t
1) M(2, -3, 3) ybwny L qniquihtin t Oxy hwppnipjwlp,
2) M(1, -2, 4) yawiny L qnigwhtin t Oxz hwppnipjwlp:
7.15. Ywqub| w)b hwppnipjwl hwywuwpnidp, nplG whglnud t

1) M(4, -1, 2) yunny L nippwhwjwg t Ox wnwGgpha,
2) M(1, -4, -3) yiviny L nunwhwywg t Oy wowlgphG,

3) M(3, -4, 7) Ytwnyd L nippwhwywg t OZ wewGgphG:
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7.16. Ywquiby wyb hwppnipywl hwydwuwpnidp, npl wligGnud t

1) M, (7,2,-3), M,(5, 6,—4) ytwnbtpny L qniquhtin t Ox wnwlg-
pha

2) M, (2,-1,1), M,(3, 1, 2) ytimtipny L gniquhtin t Oy wnwlgphl

3) M,(3,-2,5), M,(2,3,1) ytwntipny L qniquhtin t OZ wnwig-
pha:

7.47. Qb 3x -4y —-247+12=0 hwppnipjwl hwndwh Yhwnbpp
YnnpnhGwwnwjht wowbgpltiph htwn:

7.18. QunGb| wyG Gowhyywh Jwybptiup, npp Sx -6y —-32+120=0
hwppnp)nt(G whowwnnd £ Oxy hwppnipjwl hwdwwwwnwuluwG Ynnp-
nhGwwnwjhG wayyniGhg:

7.19. Qunlt| 2x -3y + 62 —-12=0 hwppnipjuwip b YnnpnhGwinwyhG
hwppnipyntGGtipny uwhdwlwhwyyws pnpgh Swywp:

7.20. 3wppnipyntGlG waghnud t M (1, 2,-1), M,(=3,2,1) ytwbpny

L opnhGuinGbph wnwGgpp hunnud b Q(0, 3, 0) Ybwnd: Ywquib; w)n
hwppnipjwl wapwwnywé hwindwébGtipny hwywuwpnidp:

7.21. Ywqutp hwppnipjwl hwywuwpnidp, nplG waglnud t M(2, -3, -4)
Yywny L YnnpnhGwuwnuyht wewbgpltphg waowwnnild t qpnjhg wwpptip
hwyjwuwp hwnywdsbtp:

7.22. Ywqibty hwppnipjwl hwywuwpndp, npG wGglnud £ M(4, 3, 2)
Ybwny L ynnpphGwwnwihl wewlgpltinhg waewwinid t qpnjhg wwppbp
hwywuwp hwunywébtip:

7.23. Ywquity hwppnipjwl hwywuwpnudp, npG nupqwhwjwg t
n = (-2, 1, 3) ytyuinppa b Oz wnwlGgphg whywwnd t ¢ =5 bplwpne-
pjwip hwunywé:

7.24. 3twnlyw) hwydwuwpmiGtphg npnGp GG wpwé Gnpdwy
wnbupny.
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1 2 2 2 | |
D) —x-2y-27-5=0 2) —x+—-y—-—2z-3=0
) —x—=y—-=2 ) 353773

37 37 3
3) éx—g_v+zz+520 4) x-1=0
77 7177
6 3 2 5 12
5) ——x+-y-—-z-5=0 6) —y—-——2z-1=0
R R TLANT
7) %"‘%y+3=0 8) z-5=0:

7.25. 3wqwuwpnidp pliptp Gnpdwy wnbuph.
3 6 2
1) 2x-2y+2z-18=0 2) =x—-=y+—=2z+3=0
) 2x=2y ) 7Y

3)5y-122+26=0 4) 3x-4y-1=0
5) 4x—6y~12z-11=0 6) —4x—4y+2z+1=0
Ty+2=0 8) —x-5=0:

7.26. Qunty YnnpnhOwwnwihG hwdwlwpgh uyqplwytinh htnwdnpnt-
pjntGp wpqwod hwppnipintGhg: Npnztip hwppnipjwl Gnpdwy YEYwnph
Yuwqiwd waynbGatipp YynnpnhGwwnwihG wnwbGgplliph htin:

) x+\/§y+z—18:0 2) x—-y=~2z+16=0 3) x+z-6=0
4) y-z+2=0 5) V3x+y+10=0 6) z-2=0
7) 2x+1=0 8) 2y+1=0:

7.27. 3wytiy P Ytanh htinwdnpnip)niGp wpdwé hwppnipynilhg.

) P(-2,-4,3), 2x—-y+2z+3=0

2) P(2,-1-1), 16x-12y+15z-4=0

3) P(,2,-3), 5x-3y+z+4=0

4) P(3,-6,7), 4x-3z-1=0

5) P(9,2,-2), 12y-5z+5=0

6) P(2,1,-3), x+2y-2z+5=0:
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7.28. 3wzt P(-1,1,-2) Lbwh hbowynpnpniop  A(l,—1, 1),
B(-2, 1, 3) L C(4,—-5,-2) ytwnbtpny whghnn hwppnipjnilhg:

7.29. Uwwgnighg, np 3x—4v -2z +5=0 hwppnipjniGp hwennd t
A(3,—2,1) L B(-2,5, 2) éwjpwytitnbpny hwindwép:

7.30. Uwwgnigti|, np Sx—2y+z-1=0 hwppnwpjntlp sh hwwnnud
A(l,4,-3) L B(2,5,0) dwjpwybintipny hwunywép:

7.31. 3wunm™ t wpynp wpdwé bwppnipiniGp  YnnpnhGwwnughG
hwiwlwpgh uyqplwybitng G(2,-1, 1) Yhwnha dhwglinn hwwnywép.

D) 5x-3y+2z-18=0 2) 2x+7y+3z+1=0
3) x+5y+12z-1=0 4) 2x-v+z+11=0
S) 2x+3y—-6z+2=0 6) 3x-2y+2z-7=0:

7.32. 3wyt gniqwhbn hwppnipjnilltph hbnwynpnipynibp.

) x-2y-2z-12=0, x=2y-2z-6=0
2) 2x-3v+6z-14=0, 4x-6y+12z+21=0
3) 2x—y+2z+9=0, 4x-2y+4z-21=0

4) 16x+12y-15z+50=0, 16x+12y—-15z+25=0
S) 30x-32y+24z-75=0, 15x-16y+12z-2=0:
7.33. Oy wnwGgph Ypw quik; Ybtw, nph hbawynpnipjnibp
x+2y—=2-2=0 hwppnipjntGhg hwywuwp hGh 4 -h:

7.34. Oz wnwlGgph Ypw qubk, Yybw, npp hwjwuwpwhbn ¢
3x=2y+62-9=0 hwppnipyntlhg b M (1,-2, 0) Ybtnhg:

7.35. Ox wowlgph Ypw qunGh Ytwn, npp hwywuwpwhbn t
12x =16y +15z2+1=0 k 2x+ 2y - z—1=0 hwppnipyniGlbiphg:

59



7.36. Ywqubk| wpywsd qniqwhbn hwppnipynillitphg hwywuwpwhbin
hwppnipjwl hwyjwuwpnidp.
1) 4x-y-2z-3=0, 4x-y-2z-5=0
2) 3x+2y-2+3=0, 3x+2y-z-1=0
3) Sx-3y+z+3=0, 10x-6y+2z+7=0:
7.37. Ywqdb] hbwnlyw; hwppnipynlGtipny Yuqiqwé tpYyGhun wi-
Yywa Yhunpn hwppnipjwl hwywuwpnedp.
) x-3y+2z-5=0, 3x-2y-2z+3=0
2) 5x-5y-2z-3=0, x+7y-2z+1=0
3) 2x-y+5z+3=0, 2-10y+4z-2=0:

7.38. Mwpqbi, pb x—2v+372-5=0 L 2x—y—2z+3=0 hwppnt-

pintlGbpny Ywqidwsé bpyGhunn wayyniGaGEphg nph"G t wwwlwbned
YnnpnhbGwuwnwjht hwiwywpgh uyqplulbinp:

7.39. Ywqik; wG bhwppnipjwl hwywuwpnudp, npp Yhumd t
2x—y+2z-3=0 L 3x+2y-6z-1=0 hwppnipynGlGbpny

Yuwqijws b P(1, 2,—-3) Ybwp wwpniGwynn GpyGhun whlniGp:

7.40. QnGby 2x—3y-4z-3=0 L 4x-3y—-4z-3=0 hwppnt-
pintéGtpny Yuwqiyws unip ipyGhuwn wliyywb Yhunpn hwppnipjnilp:

741. QG 3x-4y-2+5=0 L 4x-3y+2+5=0 huwppnt-
pJntGatpny Yuwqiywé pnip GpYGhuwn wiljwl Yhunpn hwppnipynilp:
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8. Nt1h1 gh3 L SUNrUSNHB3UL UG

8.1, Swpwdwlwh nnnh Yulbnbwyws hwywuwpnibbpp: Swpwdédnt-
pjwl Mo(Xo, Yo, Zo) Ytitnny whglnn L wipdwéd q = (I, m, n) ng qpnywlwl
deywnpphb qniquhtin nunhnp wnipynid k

X=X - -
o _ Y~ Vo _ 20 ' (1)
l m n
nbupnd, npG pGnniGwé bt wGwhy mapn @dh winlbwlhwl hwiywuw-
npmdabn:

8.2. Mnnh wwpwdbnpwlwb GEpJwiwgnuip wwpwoénpjwb dkig:
CanniGb nd (1) wnGsnipjul YnunpwlyGbphg jnupwpwGsnipp fpwbiuv t
wwpwdibtwp, Yunwgykb

x=x,+1t
V=y,tmt, t€ (—oo,+00), (2)
z=2, +nt
hwywuwpnudGepp, npnbp Ynsynud GG mpnp wwpwidbnpwlhwl hwyw-
wwpndabp:

8.3. bpyn. Ybwbpny wGglnn nunnh  wpnudp: Gpyme  wwpptip
Mi(x1, y1, Z1) b Ma(Xa, Y2, Z5) Ywntipnd whglnn ninnh hwywuwpnid-
GtipG nLOtG htwnbyw| ntiupp’

X=X -y -2
LY L L. 3)
X=X Vo™V LY

tpt ntnpnp wpdwd t tipynt ng qniquhbtin hwppnipynilltiph hwindwl

wnbiupny’

Ax+By+Cz+D =0
A,x+B,y+C,z+ D, =0,

www, qunbbind wyn hwdwywpgh nput Gpyne wwppbp (ndnudGtp,
Yuwpbh t vnwGw (3) hwdwuwpnidp:

8.4. NunpnGtiph thnfunwuwynpnipyntlp nwpwdédnipjwb dke: Swpwont-
pjwl Ly L L, nplk Gpyne nunpnGbp Yud hwidpGyomd GG, Ywd hwngned &G,
Ywd qniquhtin &G, Ywd s60 qunGynid dh hwppnipjwl pw (fuwgynn bGaG):
Muwpqbip wyn nunpnltph hnfuwnwpd nuuwynpdwdnipynilp Ywpbith t ht-
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nbywy Yepy. (mudtpny hwdwwywwnwehiwt hwjwuwpniGeph hwdwywpgp
qubk| Ly L L, mnhnGtph pGnhwGnip Yhwnbpp: Bpb hwdwlwpgp (nidnud
sniOh, wwyw nunhnGlpp snuGtG pGnhwGnip Yewtp, L wyn nbwpnud GpuGp
Ywd gniquhbin bl, Ywd fuwgynn: Mwpgbin hwdwp pb win niwptinhg np
dbyp wntinh nGh, pGepnud GG Gpyne Y Li-hg L dGY Yein Ly-hg: Un Gptip
Ybwnbtipny wiglnn 7 hwppnip)nilip wwpnilGwynud t Ly nunhnp: dbpgGhtp
L,-hg Lu kY Ytuwn, tpb wyn Ybunp wwwnywlh 7 hwppnipjwlp, www Ly L
L, ninhnGtipp gnuquihtin GG, hwlwewly nbiwypnid’ fuwsynn:

8.5. MuinpnGtph Ywqiwd whliyniGp wwpwénpywd dby: NinhnGliph
qniqwhbinnipjw@ L ninqwhwjwgnpjul ww)ydwbGbpp: YwiOnbwywb
hwywuwnndbtpny nipqwé

XxX—X y—y -2 X-X, -V, -2

L1Z | S [ ) L I-2: 1 _ y y_ = 2
l m, n, [, m, n,
ninpnlbph Juwqiwé o  waGynGp bhwwuwp t GpwGg nunnnpn
qs = (lh, My, ng) L q2 = (I, My, Ny) Ytwnplbph Yuqiwd whlywhp,
uyuhlpl’

(q,.9,) _ LI, +mm, +nn,

|‘11||‘1: B \/IIT+ m’ +n’ \/llT+ m; +n; .

Ly b Ly mnhnGtph mppnwhwywgnipywl wuydwll t
LI, + mm, +nn, =0:
Ly L Ly mnpnGhph gnigwhbenipwl wuydwll ¢
L, _—m _n

cosa =

l, m, n, ’
8.6. Ntnnh U hwppnipjwl Juqlwé whynibp:
X=Xy _ Y= Vo _ 275

l m n
YuwianOowywh hwywuwpnudbGtpny tnpdwé L nupnp L
Ax+By+Cz+D=0
pOnhwlnip hwyjwuwpnuding wpjwé 7 hwppnipjwl juqiwé o
wyjnGp npnzynid t
Al+ Bm+ Cn

\/A3+B2 +C2\/ll+m2 +nt

sina =

pwlwadlhg:
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L ninnh b 77 hwppnipywl gniquhbnmpiwl wwydwlq t
Al+Bm+Cn=0:
L nunnh b 77 hwppnipjwl mpnwhuywgnipiwl wuybwll t
A B C
I m n
L mnpn ghdp qunlGynid t @ hwppnipjwi ypw, Gph
Axo+By,+Cz;+D=0 L AlI+Bm+Cn=0:

8.7. tpbip thnhnfuwywGGepny qéwihG wlhwywuwpnuiGtp: Swpw-
6npjwl wyl Ytwbph pwqdnipynilp, npnlGg X, ¥ b z YnnpnhGwwnGbpp
pwywpwnnid G Ax + By + Cz + D> 0 (A? + B?+ C? > 0) qéwjhG w-
hwjwuwpiwbp, uqinud 60 Yhuwwnwpwsnipyinil: Yhuwwnwpwodnipnil
G0 Ywqund Gwb wyn wihwjwuwpiwlp jpwdwpwpnn  Yhwnbpp:
Un tpynt Yhuwwwpwédnip)niblbbpp pwdwlnn tGqp t hwlnhuwGnud
Ax + By + Cz + D = 0 hwppnpjnilp: m wGhwywuwpniiGtiphg
Juqiywé

Ax+By+Cz+D 20

A x+B v+C,z+D,_ 20

hwiwlwpgp GYuwpwgpnid t m YhuwwwpwdnipnitGGtph hwwnnwip, npa
hpkGhg GEpYwjwglnid t pwqiwbhun nhpneyp:

8.1. Uwquib Oxy L Sx—7y+2z—-3=0 hwppnipjnlGGliph hwuwnt-
thg wnwwgnn ninnh wwpwdtinpwywb hwywuwpnidbepp:

8.2. Ywaquk; P(3, 2, -5) Ybwnny m. Ox wnwlgpny wlglnn hwppnt-
Ppwi b 3x—=v-T7z+9=0 hwppnipjwl hwwnnishg unwgynn ninnh
JulinGwywl hwywuwpmibbpp:

2x+y-2z-3=0
8.3. quak; ninnp L YnnpnhGwuwwihG hwppnt-
x+v+2z-1=0

pJnLaGEpp hwindwh Ytwnbpp:
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4. wgnt , n n wwnnt
antait x+5y-7z+10—0 e

Oy winuwlgpp:

85 dunh h*Gs wndbpGlph nbwpntd 2x+3y-z-a=0
. a wpwuawn w nL

wwpwdbianh h'Gs wndbplboh nbwendd 1o -
ninhnp Yhwnh

1) Ox 2) Oy 3)0z
wnwgpp:

8.6. Ywqlt] w)G@ hwppnipjwl hwldwuwpnidp, npl wGglnud t
{3x—y+22+9=0

ninnny L

x+2z-3=0 nand

1) P(4, -2, -3) yinany 2) qniqwhtin t Ox wnwGgphG
3) qniquhtin t Ov wnwlgphG 4) qniquihtin t Oz wnwlGgphG:

8.7. Ywqibtp w0 hwppnipjwld hwjwuwpnuip, npG wGglnuy
{2x—y+3z—5=0

x+2y—z+2=0nmmqh“mw“"tq=QPtQNWWmm&

8.8. Lwqib; wyG hwppnpjwl hwywuwpnidp, npG wGglnud t
3x-2y+2z-3=0
mnnny L nipnwhwywg t x—-2y+z+5=0

x—2z=0

hwppnipjwlp:
8.9. Hwquitp wjl hwppnipjul hwywuwpnuip, npGé wGglnud
3x+2y-z-1=0
2x-3y+2z-2=0
hwppniLpjulp:

manny L nupqwhwyug t x+2y+3z-5=0
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8.10. Gt P(-6, 6, -5) L M(12, -6, 1) ytwnbpny whglnn ninnh
hwwndwb YGwntipp YnnpnhGwunwghlt hwppnip)nllGliph htiwn:

8.11. bnwllwlG  ququplbipp A@B,6,-7), B(-5,2,3) L

C(4.—7.-2) Ytwnbpa 6G6: bwquiby Gpw C quqwphg nwpywd dholwqdh
wwpwibinpwlwl hwywuwpnidGbpp:

8.12. bnwlywh ququpltpp AG3,-1,-1), B(l, 2,-7), C(-5,14,-3)
ybwnbinb 66 Ywqub) Gpw C ququphl weplpbp GhipphG wayywa Yhunp-
nh JuwlnGuwlywb hwywuwpnuiabpp:

8.13. bnwllywl ququpltpp A(l,-2,-4), B(3,1,-3) L C(5,1,-7)
YGwnbnl 6G: Ywqik Gpw B ququphg wwpywé pwpdpnipjwl wwpw-
dtunpwlywl hwywuwpniibbpp:
3x-y+2z-7=0

x+3y-2z+3=0
nunnhG gniquhtin nunnp YulnGuywb hwywuwpnudGtipp:

8.14. Ywqudb, P(2, 3, -5) ybwny whglnn L {

8.15. Ywquit) htwnbyw nunnh Yuwonbwlwl hwywuwpnudGbpp.

J5x+y+z=0 5 x—=2y+3z+1=0 x—=2y+3z-4=0
12x+3y—-2z+5=0 2x+y-4z-8=0 3x+2y-5z-4=0:

8.16. Ywquit] hbwnbjw ninnp Wwpwibnpwwd hwyjwuwpnudGbpp.

{2x+3y—z—4=0 ) {x+2y-—z—6=0

3x-5y+2z+1=0 2x-y+2z+1=0:
8.17. Uwnniqbip ninhnGtph qniquhtinnupynilp

) x+2 _y-l_z x+y-z=0
3 -2 1 |x-y-5z=0
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x=2t+1
2) {y=-t+2 ,

{x+3y+z+2=0
z=t-17

x—-y=-3z-2=0

3 x+3y-z+1=0 x+2y-5z-1=0
x=y+z+3=0 x-2y+3z-9=0:

8.18. Uwnniqtip ninhnGtiph nupnwhwjwgnipyniGp

) x_y-1 z 3x+y-5z+1=0
1 -2 3 2x+3y-8z+3=0
x=2t+1

2x+y-4z+2=0
y=3=2., Ax—y—57+4=0

X—Vy- =
7=-61+1 IR

3 2x+y+2z+5=0 x+y-3z-1=0
2x-2y—2z+2=0 " |2x-y-9z-2=0:

8.19. Qb htinnlyw| nunhnGtiph Yuqiwé unip wbyynGp

x=-3 y+2 2 x+2 y-3 z+5

I -1 V2 1 1 2

8.20. GGt htiwnnbyw) nunpnGtiph Yuqiwé pnip wbyynclp

x=3t-2 x=2t-1
y=0 y=0
z=—1+3, z=t-3:



8.21. Uwwgnigtii, np htwnbjwy hwiwlwpqbtpny wnpywé ninhnGbpp
hwwynd &G

x=2t-3 x=t+5
y=3t-2, y=—4r-1:
z=—4t+6 z=t-4

8.22. Mwpqgki, pt [ -h n°p wpdtiph nbwpnd hGwnbjwg nunhnGtipp
yhwunyhG.
-1 x-3 y-1_ z-7

9

4 ) 4 2

=2
2 -3

8.23. Ywqdk, wyl npnp YwOnGwlywl hwywuwpnidGGpp, npG
wGghnud t P(-1, 2, -3) ybwiny, ninquhwjwg t a = (6, -2, -3) ytwnnphG L
x—-1_ y+1 z-3

2 -5

hwwnud | nLnhnp:

8.24. Ywquibk} w)a mnnh wwpwitnpwiwi hwywuwpnudGtpp, npG
whghma t P(-4, -5, 3) ywiny L hwwnud t hGwnbywg mnhnGlpp

x+1l y-3 -2 x=-2 y+l _z-1

’

3 2 -1 2 3 -5

8.25. Lwqubp YnnpnhGuuwnGlpp uwyqpGulytinng wlglnn L wnpywés
ninhnGtphG ninnwhwjwg ninnh Wwpwiatinpwlwt hwwuwpnidGbpg.

x=3t-17 x=t+1]
y=—2t+4, y=2t-8 :
7=3t+4 z=—t-12

8.26. Ywqubp wyG nupnp YwbnGwywls hwywuwpnuiGippp, npb
wGgbmy t P(2, -3, -5) ybwng L minqwhwywg t 6x-3y—-5z+2=0
hwppnipjwlp:
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8.27.4wqit; w)G hwppnpjwl hwywuwpnidp, npb wGgbnd t
x+3 y-1_ z+2

-3

P(1, -1, -1) Ywning L nuqnwhwjwg t nnnhG:

8.28. Lwqub} w0 hwppnipjul hwywuwpnidp, npl wGglny L

x—2y+z-3=0
P(1, -2, 1) Ytiwny L nunqwhwjwg t nnnh(:
x+y—-z+2=0

+1 y-2 z+3
m —
qwhtin Y hGh x — 3y + 7+ 3 =0 hwppnLpjwlp:

X
8.29. m-h n"n wpdtiph ntiwypnuy nunhnp qnt-

830. C -p n'n wndbph nbwpnid 2 T30
IV, -pNn w ni ne
n tinchen Wae 4x-3y+4z+1=0 e

qniqwhtin YihGh 2x — y + Cz = 2 =0 hwppnipjwp:

8.31. A L D pytph n"p wpdbipGtph hwiwp x=3+4t, y=1-4t,
z=—4+t nnpnG pGYwsé Ypah Ax+2y—-4z+ D=0 hwppnipjwl
dpw:

8.32. A L B pytph n"p wpdbpltiph hwiwp Ax+ By+3z-5=0
hwppnipyntGld mupnwhwywg YhGh x=3+2t, y=5-3¢,z2=-2-2
nLnnhG:

x—=2 y+1 z-5

4 -3
ninpnp nunqwhwjywg Y hth 3x -2y + Cz + 1 =0 hwppnipjwip:

8.33. / LU C pytph n°p wpdtiplph hwdwp

8.34. QunGb; P(2, -1, 3) Ltwh wpnblghwG x=3r, y=5r-7,
Z=2t+2 nanh ypw:

8.35. Quaby P(5, 2, -1) Ytwnp wpnbyghwG 2x -y +3z+23=0
hwppnipjwl Yypws:
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8.36. At 3x+ y—2z=0 hwppnipjwl GYuwdwip P(1, 3, 4) Yb-
wnhG uhdbwphy Yhunp:

8.37. 3wyt P(1, 1, -2) Ywh htawynpnipyniGp

x+3 y+2 z-8
3 2 -2

nmnnhg:

8.38. 3wyt P(2, 3, -1) Ywnh htnwynpnip)nilp hbnbjw) ninnhg.

1) x=5 _y_ z+25
3 2 =2

2) x=t+1,y=t+2,7z=41+13
) 2x-2y+2z+3=0
3x-2y+2z+17=0

8.39. Iwinqybiny, np hbwnbjwy nunhnGhpp qniqwhbin GG, hwyydbi
Gpwlg dhgl Gnwé hGnwynpnipynilp.

x+7 y-5 z-9 2x+2y-2z-10=0
3 -1 4 " |x-y-z-22=0

8.40. UYwqdtp w)G hwppmpjwl hwywuwpnudp, npl wGglimyd t
P(1, 2, -3) ytwny L qniquhbn £ htwnbywy ninhnGtiphg jnupwpwsjnphG.

x—1 _y+l z-7 x+5 y-2 z+3

2 -3 3 3 -2 -1

8.41. Uywgmgty, np 7x+4y+7z+1=0, 2x-y—-2z+2=0 L
x+2y+3z—-1=0 tptp hwppnipyntGGtipp hwwndnd GG dkY nuqnny:
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8.42. Lwpwqpb] wpwoénpjwl wyG Yewtiph pwqunipynilp, npnig
YnnpnhGwuwnGbpp pwywpwpnid GG hbnlyw; wGhwjwuwpdwlp Ywd
hwiwlwpqpl.

x+2y+2<52

x<2
1) >2 2){y=1 3) x20
x+y+z2 >
’ Y y20
220 i
220
2x +2y+ 252
4)\x+y+zzl 5 X, + Xy S2 )OSX.SI
x20 x; 20,i=123 i=123
y20
x+y<l1 x—-y<l x—y+z=1
N<ix+2z<1 8)ix—-2z<1 9)<x+y<l1
y+z<l1 y-z<1 220

8.43. Ccaytpnpym GG wprnwnpnui t X, Y L Z inbuwyh wypwGplbp,
oquwgnpobing A L B hmudpwwnbuwybbpp” 220 Yq L 250 Yq ww-
2wplbpny hwiwwwwnwuhiwbuipwp: Uypwipwinbuwyh dhwynph wp-
nwnniwl hwdwp ogunwqgnpdynud 66. X-h' A-hg 4 Yq, B-hg 2 4g, Y-
A-hg 3 UYq, B-hg 5 UYa, Z-h* A-pg 5 Y4a. B-hg 2Uq: Lywpuwqpbi
pGytpnpjwlt prnupyiwG hGwpwynpnepynLGlatpp:
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9. R" surusnt@3ntue: NHINESPY _RUQUNEB3NLLED

9.1. PJwhG n —jwybbp: a4, a,,..., a, hpwlwb pytiph ywpgquynpwoé
hwiwhudpnipynGl wadwantd 66 n —swhwlh b (n-juy), Gowbwlynid
GG A(ay, az,..., a,), hwidwpbny, np a-0 A-h i-pn Ynappplwnt t.
n-h 2 L 3 wpdtplGGph GdwG, pGnhwlnip nbuwypnid Lu hwpdwp L
n —swihwbh Ybywnplhpp Yuwwyb) n —swihwbdh Yhntipp hbn® guwliyugus
A(ay, ay,..., ap) U B(by, b,,..., by) Ytitntiph hwiwp A uyqplhwytivnd L B
ytpeGuwytwny ybywnp hwiowpbindy AB = (by - a;, b, - a,, ..., by - a,)-p,
wynwhuny huy jnipwpwGsnp yelunnph  hwiwwwunwuluwatiglbipny
npn2wyh pywjhb n—jwy: Ujniu Ynndhg, wikh dh wipdwé X(x4, Xa,..., Xq)
n —jwhyh nbwpnd, O, O, ..., 0) uhqpbwytnnny L X YbpeGulybunny
OX = (X4, Xa,..., Xg) ythunpht Yhwiwwwwnwuuwbh hbGg X n-juyp:

bpynt a = (a,, a,,..., ay) U b = (by, by,..., by) Yiyunpllp hwdwpyned
b0 hwywuwp (qpuibGgynud t* a = b), ipt a; = by, a;= by, ..., a, = by dbiy-
wnnplph  gmdwpnidp L pyny pwqlwwwnymdp vwhdwbGynd GG
htwnbywy Ybpy'

a+b=(a,* by, ayt b,,..., ay+ by), k a=(kay, ka,,..., ka,), ke R:

6 =(0,0,..., 0) -G grmwlwi J6YwnnpG t: Ldwé qnpénnnLpnLGhGtnny
pnpnp n -swhwh yehwnplbph pwqinepniGl wadwind 66 n swhwih
(PYwpwOwlwl) inwpwdmpin G wyl Gawluynd 6G R" -ny:

tpynL a = (ay, a,, ..., ay) W b = (by, b, ..., by) Yiywnplbinh vywywnp
wpunwnyay t yngdnid htnbjwy phyp’

a-b = (a, b)=a,b, +ab, + ...+ a b,
Ns qpnyuwG a L b yblwnnpGhph Yuqiwsd @ whyntGp npnzyned t

pwGwalhg, npuntin | a| = +/(a,a) -G a ytywnph dnpnydt:

Mgnip npgwé G A(ay, a,, ..., a5) Ytwp L b = (by, b,,..., by) ng qpn-
JuywG JGhwnpp: Un nbwpmd uyb X(Xq, Xa,..., Xg) nbuph n-juylbpp
pwqdnipjniGp, npnlg hwiwwywwwujuwl X = O—X ybywnnpGtpp pwyw-

pwpnid GG
H



x=a+th, te (—co,+00),
wnbsnip)wlp’ widwhnd GG A Yewny wGglnn L b nunnnpnG nuGbgnn
nunpi, huy

x=a+th, te[0,+0),
wnGsnipjwlp pwywpwptint atiypnd’ A ulyqplGwlybning L b nunnnpnG
nlatgnn swrwquyp:

Ohgnip wnpdwé LG A(ay, az ..., a3) L B(by, by, ..., by) n -swihwGhp

Ytwnbpp: A L B swypwybintipny [A, B] hwuinduwé Yngynud £ wyG pnpnp X

ytwntph pwqdnipyniGp, npnGg hwiwwwinwuuwG x = OX blunnpGepp
pwywpwpnid LG

x=sa+(1-s)b, 0.<s<1
wnGsnipjwlp:

Bywjpbt n -jwytGtph pwqdnpjwh dGe Apwbphwppnpnil G wiYw-
Gnud pninp wyl no-swhwbh X(Xy Xo ..., Xp) YGinbph pwqineg)nilp,
npng  YnnpnhGwuwnGtpp  pwdwpwpnd &6 npnawlyh  qéwjhG
hwjwuwpiwd’

Axe+ Agxa+ ..+ Ax, + D =0,
nputin Aq -p, Az -p. ..., Ap -p b D -0 hpwlwG pybp &G, pGn npnus” A2 +
Al + .+ A > 00 Uuwhuny, (pYwjhlG brywyGbph) nwpwéntpjwh
hhwybphwppnipynilp wwpquubiv hwdpbyand t (undnpwlwb) hwppne-
pjwl htw: Ipwbphwppnipnilp pwjht n—jwlybbph pwqintpynilp pw-
dwlnud t Gpynt fpuwmnmwnpwdnipintGGbnp, npnlghg dtyp pwnywgwd k
wjl X(x4, Xz, ..., Xp) Yhwntiphg, npnlg YnnpnhGwwnblpp pwyjwpwpnid GG

A1X1+ A2X2 + ...t Anxn +D2>0
qowihl wihwywuwpdwGp, huy §pwup” wyb Ytwbphg, npnGg Ynnpnh-
GwuwnlGbpp pwdwpwpnid GG

A1X1+ A2X2 +..+ Aan +D<o
wlihwywuwniwbp:

n -swihwbh Yewnbiph G pwqinipinilp Yngdnid t menighy, tpti gquii-
Guwgwdé A L B bpynt ytnbph htn dhwuhb wyl wwpnibwynad t [A, B)
hwuwywéb wipnnenipjwip: BYwihl n -juybbph nienighy pwqintpjw
ophlwy t hwlnhuwGnid Jhuwwnwpwodnep)niGp b, pwOh np nienighy
pwqunipntGGtph hwwnndp Gnylwbu nieneghy pwqdnipyntG £, www
nienighyy G0 Owb YpuwwwpwoénepyntGGbph hwnnudhg wowowgwéd
pwqintpntGbtipp, dwuGwynpwwbu™ hhwtphwppnipinilbp: X; Xz ..., X,
ghnthnfuwywGbephg dh pwih qdwihlt whhwywuwpnuiGtph hwdwywp-
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gp OGywpwgpnid bt hwiwwwwnwuluwld YhuwinwpwdnpinbGbiph hwwnne-
dhg wnwowgwéd M pwqinpynilp, npp Ynsynid t mencghly pwquwlpun
wnpanyp: M-p upnn t |habp nwnwpy, vwhiwGwhwy, wGuwhdwlw-
thwy: Uwhiwlwidwy, ng nuwnwpy nienighly pwqiwGhuwn inppnypp Yns-
Unid t meemeghly pwqiwlGhun.

M nienighy pwqiwGhuwn nhpnyphl wwinfwbnn A Yewnp Yngynid t
M whpnyph qwguwp. tpt qnynipjnih sniGbG M-hG wwuwnwlng Gpynt
wnwppbp Ay b A; Ytinbp wyluhuhG, np

a=sa +(1-s)a,, se€ (0, 1)

tpt M pwqunipynilp nipynd t wihwywuwpaiGiph hwdwywpgny,
www Opw pninp ququwpllipp Jupbih t qunGhp hGnbjw Ytipw. pGupnud
G0 nplt n wOhwjwuwpnudGlp, npnGp hinfuwphGynd &6 bwywuwpne-
pintGbtipny: Epbt unwgyws hwywuwpnidbhiph hwiwlywpgl nGh dhwy
X1, X2, ..., Xy tménudp b X(X4 Xz, ..., Xp) € M, wwyw X-p M-h ququp t:
Onhntubpny hwdwywpgp, Yunbip t unwlGwg M-h pninp ququpltipp:

bpb mpdwé GG A, A,,..., A, n —swthwGh Yewnbpp, wwyw with dh

a=sa.+Sat ... + sk

JGhwnpny npnadnn A Ybin, npnbn s; 2 0,5, 2 0, ..., 5 = 0, sy + 5, +
+ .o+ sc=1, Unsdmud b A, Ay, A Ybenbph memghly yndphGughus.
A, A,,..., A Ytwnbkph pnpnp nienighy YndphGughwibph pwqdnepinilp
Owlwyned GG <A,, Az,...,Ak>-nq, nn0 wiquwinid GG wyn Yawnbph hw-
dwywpgh  memghy pwnuwle. UG hpkbhg  GepYwjwglned L
AL Ay, A Ytintipp wwpnehwynn thnppugnyG mamghy pwqint-
pjnilp: COnhwlpwwbiu, n —swihwGh Yawbph G pwqinipjwl ninnighy
punwipl uyn pwqinpjnilp wwpnilGwynn thnppwgniyé nuenighy pwg-
dnipyniGa t, wyuhGpG’ G-G plGngpynn parnnp ninneghy pwqdnipnilGliph
hwwnuip:

9.1. %hgnipa=(1,3,0,5),b=(0,0,4,-5) Lc=(-1,1,-1,5) 3wyt
1)a+b 2)a-c 3)2a+3b 4)5c-4b 5)3a-5b+2c:
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9.2. Qunlb) htiwnlywy yelinnpGliph yuwqdwé walynilp.

1)(1.0,0,0) L (0,1,0,0) 2)(1,0,0,0) L (1,1,1,1)
3)(1,0,1,0) L (1.1, 1.1) 4)(1,0,1,0,0) L (0,1,0,1,1)
5)(1,3,-7,1,4) L (6,0,-2,-20,0) 6)(1,2,3,1,1)L(1,0,1,-1,1)
7)(4,2,2,1,0) L (3,-1,3,-4,. 1)

9.3. A -h n"p wpdtipGhph ntiypnid hbnbyw) YehunnpGtpp YhGaG nun-
nwhwjwg.

1)(2.3.5.4) L 4,3,2,1°) 2)(1,2,4,-1,0) L (-1,A4,1,0,3):

9.4. Spywé LG a = (ay, 2, ..., a,) L b = (by, by, ..., by) Yiyunnplbpp:
Uwywgnighy, npXx= aa+ B b, npntin a + B =1, yaywnphl hwiwwu-
wwufuwbnn X Ytiinp qunlynud t A(ay, ay, ..., ay) L B(by, by, ..., by) Yt-
nbpny whglnn nunnh Ypw:

9.5. Spywé GG A0, 0, 1, 1) L B(1. 1,2, 2 ubmbnn' Nwpqb, ph

1 3 3 11
2.2.3,3), Co-1, 1,0, 0), Co(~, =, 2, S
Cy( ). Caf ). 3(2 D) 2) 4(2 ) 2)

Cs(-2, -2, -1, -1) L Cg(-1, -2, 1, 0) Ytitiphg npn°Gp 60 wwnywhnud

1) AB ninnpG 2) AB GwnwquiphG 3) BA Guwnwqujphl 4) [A, B]
hwwnywoéhG:

9.6. Qb wybuwhuh c,, €3, €4 L s pytip, np C(-2, ¢4, Ca, C4, Cs) Yhitnp
qulyh A(0, 2, 3, 4, 5) L B(4, 2, -1, 6, 3) Ytinbpny whglnn pinnp Ypw:

9.7. Npn2ky Co, €3 L Cq pYtiph wybwybiu, np C(3, ¢, C3, Cq), A(4.0,5,3) L
B(2, 6, 3, 5) Ywnbpp quGyko dbY nuinnp Ypw:

9.8. Ywqubk, A(2. 0, 0, 0), B(0, 4, 0, 0), C(0, 0, 1, 0) L D(0, 0, 0, 5)
Ytiwntipny waglnn hhytiphwppnipjwl hwywuwpnudp:

9.9. Qunlik, A(0, 0, 0, 2) L B(1, 1, 1, 0) Yawnbpny whglnn nianp
hwwnidwb Ybwnp 2X— Xz — X3 — X4 — 6 = 0 hhyGphwppnepjwG htiwn:
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9.10. Qb X1 =2t, X, = X3 =1-1¢, x4 = 1 + t hwjwuwpnipjnGGEnpny
npywéd ninnh hwniwG Yewnp A1, 0, 0, 0), B(0, 2, 0, 0), C(0,0,3,0) L
D(0, 0, 0, 4) Ybwnbipny whglnn hhwbphwppnipjwl hbwn:

9.11. Ywqitif O(0, 0, 0, 0) Yhwiny wlbglnn L 2X, + 3X; — X3+ 5X4,+7=0
hhwytphwppnipjwl htwn plnohwlnip Ybwn gniGhgnn hhwybphwppnipjw
hwywuwpniip:

9.12. Ljwpwgnt| bGwnbyw hwiwlwpghlt pwywpwpnn Ynbph pwg-
anupjniap.
0<ux <1 X, —x,+x;—x, =0
i=1 234 x,20,i=1,2,3,4
X, +tx, +x;+x, =4
4) x, —x, +x;—x, =0

2%, —x, + 2%, —x, =2
3)
x,20,i=1,2,3,4

x, 20,i=1,2,3,4

X tx, tx,+x,=4
5) y—x, —x, tx;—x, =3

) {x, tx, + x5 +tx, <1
x;20,i=1,2,3,4

x,20,i=1,2,3.4

9.13. 5 0GnyY ninnighy pwqinipjwl vwhdwbnudhg wwwgnighy, np
Ynnpnhlwuwwiha hwppnipjwl wdtld dh pwanpnG maenghly pwqdne-
pjnih L:

9.14. GiGLinY nwenighy pwqdinipjwl uwhdwGnuihg wujwgnigh|, np
ynnpnhGwuwnwihG hwppnipjwl |)L| < 1 2b6punG ninnighy pwqdnipyni t:

9.15. GGt nY ninnighy pwqlinipjwl uwhdwGnidhg wwwgnigl|, np

YnnpnhOwuwnw)hG hwppnipjwb wnwehl L snppnpn pwenpnGliph Yhunpn-
GEpny uwhdwlwdhwyywsé b wyn pwaenpnlbbpnid qunlynn pwqineg)ntGh

nienighly L:

9.16. 5 G6inY ninnighy pwqinipjwl vwhdwlGnuihg wuwwgnegty, np
x+ y+ z—1=0 hwppnipjnilp YnnpahlwnnwihG nwpwonpjwl wew-
9ht oywhwlinhg whpwuwnid t nieneghy pwqinep)niG:
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9.17. Mwpqgb), pt htinkyw; uwhdwbwhwynuiGtipnd wnpwd Ytinbph
pwquniLpyniGGtiphg npnbp GG ninnighy.

x, +2x, <1 X, +x, <1 X =X, =2
1 ) 2, 34,
x, —2x, <0 x: <1 >0

< X, =Xy 2
x; +x; =1 5 x, —x3 <0 x, +4x; <0
X"+ x4 x, —x <0 x, <0
X, +x,=8 x; -x,=0 xi+x; <1

7) 8) 5 9) -
2X1+2X =15 xl"+x;_1 X, —_xlzl
X, = x. X +tx, +x,=1 X +x, +x,<3

10) < R 1) . ) 12 i ’
xi+x,=0 X=X, +2x,<2 x, +10x, + x; <1
X, +x3=1 X +x, +x,—x,<0

13) {x +(x, —2)* =1 14) {2x, +3x, + 5x, + 6x, =0:
x, 20 3x, +x, +x; +4x, =0

9.18. COwnpt; A-G6 wjbwbu, np htnlyw] vwhiwGwhwynuiGlipny
wnpywd YewnGph pwqinip)nilp (hGh nirnighl.

Alx, —x2)=
1) x}(A* +31+2)—x,20 2){ (x, -x5)=0
x +x,=1

2 2 /1 ~x2 =
3) (AP =51+6)(x] +1) — (A +2)x, S0 4) { (o =x)=0,
X +_x2 =A
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9.19. Quit)| htwbyw| pwqinipjwl nuentghy pwnwipp.

2 2
{x, +x; <1

-x +x,=0

X; X5 et

n

12) x; +x, +--+x, =1

14) x; +x22 +---+x,f =1

9.20. Upwwnpwdiwup phnwpynud t Gpym

|

x; +x3++xl L1
10) : k
- >0

X +x221

xx, =0

—|x1|+x2 >0

XP+ x4t x)
11)

15) xf +x; +

{xf +x3 =1
3) .

x —x, =0

{—x,2+x2 20

—|x,|+x2 20

-x'+x,=0
—Ix,|+x2 =0

B 2 ~

X, tx; e tx; 2

13) x/ +x] +-+x, <1

n

2

2

2 .
et x, 21

wnbuwyh wypwbp:

Swjnbh t, np wprnwnpwiwul opyw dke wpfuwwinid t hGwpwynp

Gptip wbfuGnnqhwyw

nbohdGtphg OhuylG dGYynY: Lwlwyblp

a= (a,", azf)-m[ (i =1, 2, 3) j-pn mbjuGninghwlwh ntidhing dkY opyw
pnnwplywé wuypwlplbph hwjwpwoéntG: Ywpn'n L wpynp T opnid
wpunwnpwiwup pnnupyty b = (b, b,) hwwpwénl, tpb

1)a'=(4,3),
2)a'=(3,4),
3)a'= (4, 6),

a’=(3,4),

a’= (2 5),

’=(2,8),

a’=(2,6),
a’=(5,2),

a’=(6.2),

b=(14,23), T=5
b=(2524), T=7

b= (25 31), T=6:
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Q3U3bL IULMUIUTUP SUMPEN
10. QBU3PL JUdULUMNEULENP 3UUULUNGEN: QUNEUP BAULULE

10.1. Qdwjhl hwywuwnpnidGtiph hwiwywpgbp:

L e 3)

wbuph hwiwlwpql wGjwlnd G0 qéwihG hwywuwpnuibGbph hwiw-
Yuwpg: o Yuqudwé t m qéwjhl hwywuwpnidllphg x4, Xa, ..., X
wlhwjnGtph  GYwwdwdp, huy a6 1-pn hwjwuwpdwl Oke j-pn

wlhwjwnh qnpoéwlyhgl Lt: bph Zalia,= b, 1=1,2, ..., m wyw
7=1
a= (0, 0, . Q) n-jwyld widwband 6G (3) hwdwlwpgh (pdned,
wjuhbpl wGhwjwnbbph X;= a;(j=1, 2, ..., n) wpdtpltipp pwywpwpned
G0 (3) hwiwlwpgh hwywuwpnudbbphg Jnupwpwbsniphb: Iwdwywngp
ynsynd t hwdunntintyp, tpt wyl nGh qnGb dGY [neénud: 3wlwnwy
nbypmd wjbG Ynsymd t wohwdwintntyp: Iwdwntintih hwiwywpgp
Ynsunid t npnpyuy, tiphk Gpw (nudnmudp dhwyG t: Ukyhg wybih pyny (nt-
énuibbp nuGbgnn hwiwlwpqlb waqwbnd GG wanpny.: Inwqnnb] ud
tpeotip (3) hwowywpgp Gowlwlynd t wwwwuhuwbl, hbunbyjw; hwpgb-
phG. hwdwlwpgp hwiwwbntih t, pbi wihwdwwntinbih L tpt hwiwwp-
qp hwiwwnbinbih b, wyw wwpqb] w)G npnjwy t, pb whnpn): Gpt hw-
dwlwpap npnju b qunllp Gpw dhwl (nudnudp, huly Gpt wlnpng £
GYwpwqpbi Gpw pninp (nedniGtipp:

Uhblnyl™ x4, X2, ..., Xp wOhwynGpny Juqidwsd tpynt hwdwlwpgbn
Ynsyntd G0 hwdwpdbp, tpt GpubGghg dtyp wdiklG dh (nénd hw-
nhuwOntd t (puénid Gwb djniuh hwdwp: Ujn nbuwlytinhg, nuétip qéwjho
hwdwuwpndGliph npLt hwiwlwpg, Yowlwyp Gwbl |nuétp Gpub hw-
Jwpdtp gwllwgwé wyp hwiwlwpg:
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UyGhwyn t, np tipt thnfubGp hwiwywpgh aplt Gpynt hwywuwpnid-
Gph wbintipp, Yunwlwbp dh Gnp hwiwlwpq, npp hwdwpdbp t npgw-
0hG, Ywd wunid &G, np npwihg hwdwywnpgp sh thnfuynid: Mwpq &, np
pti hwiwywpgh nplt hwjwuwpdwb dwh b wy dwubipp pwqiwwywwn-
YtGp qpnjhg nwppbip dhulnyt pyny, wyw npwbhg Lu hwdwywpqp sh
thntudh: Hhwwpydnn hwiwywpght hwiwpdtp hwdwlwpg Yuwwgyh
iwb wyl nbiwpndd, tpp hwdwYwpgh nput hwjwuwpdwb dwhu Lk we Jw-
utiphg hwGtiGp dtY w) hwjwuwpiwl hwiwwywwnwueluwG dwhu L we
duwutipp:

tpt hwiwywpgh nplt hwjwuwpdw pninp wGhwjnGtph qnpéwyhg-
Gtpp hwywuwp &G gqpn, huy Gpw we dwup qpnjhg wwppbp t, wwyw
hwiwlwpql wihwiwwnbnbih t: 6pb hwiwlwpgh nput hwywuwpdw
pninp whhwynGtph qnpdwyhgblipp b we dwup qpnGtp GG, www hwiw-
Ywpghg wpunwputiny wjn hwywuwpnuip, Yunwliwip npwéhl hw-
dwpdtp hwiwlwpq:

QSwjhl hwywuwpnudGph hwiwywpgtiph hbnwgnuindwb pGpwgpnLy
Gppbd0 wlhwdtinnpynil t wnwowlnid Ypwhwiwpwlwib] wthwjun-
Gtphg dp pwGhuh hwdwpGtpp: LOwG nbwpbtpnid, hGnwqnunidl
wywpunbing htwnn  Ybpuqubqbnud 6@ wGhwjnGbph  ulyqplwlywb
hwdwnGtipp:

10.2. Quniuh bnwlwyp: Lwpwqpltp qéwihl hwjwuwpnudbliph hw-
dwlwpgh |Méiwl Quwniup (Ywd wGhwynGtiph hwenpnwywl wp-
nwpudwl) Gnwlwyp: UG hptikhg GEpJuwjwglnid t Jtippwynp wign-
nhpy, hhiGwé dbpp GYupwgpywé gnpédnnnepintGGtph hwenpnuwlw
Uppwniw@ Ypw:

Gpt (3) hwiwywpgh whhwynGeph pninp qppdwyhgltpp hwdwuw-
pnudGlphg Jnupwpwbgnipad hwdwuwn 66 qpn” a;;=0,1=1,2, ..., m,

=1, 2, ..., n, huy wp dwubiphg qnGt dkyp qpn st Z'bi|>0' www hw-
i=]
dwywpql wGhwdwwnbntijh t:

Gpt (3) hwdwywpgned a; =0, b;=0, 1=1,2,...m, j=1,2, ...n,
wyw juwlwjwlwd a= (a4, o, ..., &) n-jwy hwlnhuwbGnid b wyn
hwiwlwpgh (nLdnd;

UGgltlp w)l ntiwph GYwpwqpiwlp, tpp a; gnpéwlhgllinhg qnlb
Gtyp qpnjhg nwppbp t: UnwGg pGnhwhGpnipintlp fuwhunbine Yuptigh t
tGpwnpby, np ayy# 0, pwlh np whhpwdbnnipjwl nbwpnid hGwpwynp
t thntuby hwywuwpnidGiph wbnbpp, Ywunwpby wihw)nbtiph yepwhw-
Jwpwwind: Unwohl hwywuwpiwb dwiu L wy Jwubpp pwdwbblp
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ay1-h Yypw U k-pn hwywuwpniihg hwibbp wyn hwjwuwpiwG dwhu b we
Swubpp’ pwqiwwywwnlwé ayy qnpdwlgny, k = 2, 3, ..., m: bpb wpnynil-
pnid npbt winqnud wGhwjnGlph gnpdwyhgllipp nwnrbwh qpnGbp, huly
w9 Jwup’ qpnjhg wwppbp, nupbdl (3) hwiwYwpglb whhwiwwtinGih t L
hbnwgnunuitd wywpindwé t: buy tpt nput hwywuwpdwl wihuwjn-
Gpph qnpéwyhgbtipp L we dwup uwnwgyll qpnlbp, wwyw uyn hwy-
wuwpnudp jupunwpuyh hwdwlwpghg: UpnynuGpenid Yunnwgyh

i i ]
X, +ap X, e tal)x, =b"

1 1 I
alx, +...+al’x =bl"

hwiwywpgp, npinbin s < m:
Enpypnpn pwjinuy, Ypyatpny Gnjdwnhy gnpdnnnpynGhtip
a5y Xy o, +ayx, =bd"

...........................................

...........................................

wpntl n - 1 wGhwywnGbpny (wpunwpuyly t X, wihwjinp) hwdwlwpgh
htwn™ Yuwmwgyh, np Gwd uyqpiwywl hwiwlwpel wlihwdwwbnbih k,
Ywd Yupunwpuyh Gwb tipypnpn wObhuginp: SnpénnnpynubGliph wpnt-
ﬁulunu)n pbpnud t hbwnbywy Gipkp nbiwptinhg nput dGYhG:
Atppwywl pwjinid hwywuwnpnuiGtiphg dtyh wohwynGlpp qnp-
6wyhglbipp qpnbtp GG, huly we Gwup™ ng Ujn nbwpnid hwidw-
Jwpql whhwdwwbntiph t:
2. 3wiwyuwpgp ptipyby t wuwbiv Ynsdwd bewllymbwdl wnbupf’

1 1 1
X, Hah X, +o +a‘ )x —b‘ ’

.........................................
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Uju nbwpmd hwdwlwpgp npnjwy b Ujn dhwy (puénudl unwGugne
hwiwp Jtippht hwyjwuwpniipg unwgywé X,-h wpdtipp nbGnwnpynud &
GwjuwytpohGh dty, npintinhg npnaynud £ X,.4-p, 2wpnilwybiny nbnwn-
pbil whhwynGbph wpnbl unwgywé wpdtplbpp Gwhunpn hwywuwpnud-
Gtiph 0t (uwuwwpbiny Qwniuh dbpnnh Awlwnwpd pwyp), winuhuny
utnwgyntd GG pnynp whhwjnGtiph wpdbpltipp:

3. 3wdwlywpgp ptipyty t wjuwbiu Yyngywé vbnwlbwdl inbupf

X +a‘;’x3 oo + a"’x" =b"

In

2 2
Xy F v +ay'x, =b”

aqn

Uju nbwypnd hwiwlywpqld wbnpny bt Iwdwywpgh nput pneénda
unwlwint hwdwp 4bpohl hwywuwpdwb dby (q+1) -hg VhGsk n -pn
whhwynGtnphG wpynud 50 Juiwjuywd wpdtpltip, npunbinhg npnaynud £
q -pn wlhwjnh wpdtipp: CwpniGwytiny Qwnwuh dkpnnh hwjwnwné
pwjip, quGymi GG Gl d0wgwé wlbhwjnbhph hwiwwwunwubuwb
wndtipGbpp:

@y — pl@
x,+..ta,’'x, =b,

10.1 SwyjwuwpniGbph hwiwlwpgp (nék wniuh bnwlwyny

X tx, +x, =22 X, =3x,+2x;=5
1) {3x, +2x, +x, =47 2) {3x,+x,-5x,=4
X, +3x,—x,=18 4x, -2x, -3x, =10
2x,+3x, —x;+5x, =5 X +2x,+x,+4x,+x,=0
3) $x, = 2x,+3x,+2x, =2 4) {2x, +5x, +3x, +x, —5x, =0
4x, ~x,+5x,+5x, =9 X +3x,—x;—6x, =0
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5) <

7) <

X, +3x, =X, +6x, —xy =2
2x, = 2%, + X, = 5x,+x;,=0 6) {

(4x) +4x, —x; +Tx, —x5 =1

(X, +2x, —x, +x, =1
I, =x, +2x,—x,=-1

8)
2x, =2x,+3x, =5

9) <

2x, +3x, =2x,+x, =3

(3x, —2x, - 5x,+x, =3

2x, =3x, +x,+5x, =3
: 10) |
x, +2x,—4x, =-3

11)

X, —x, —4x, +9x, =22

2x+T7y+3z+t=5
x+3y+5z-2t=3
x+5y-9z+8t=1

3x,+4x, +x,+2x, =3
6x, +8x, +2x,+5x, =7
9x, +12x, +3x, +10x, =13

(3x+2y-2z=-2

x+y+z=0
2x-3y-3z=10
Sx+4y=-2

(2x, —2x, +x, =3
2x, +3x, +x;-3x, =6
3x, +4x, —x;+2x, =0

(X +3x,+x,-x,-2=0

(4x, =3x, +x,+5x,-7=0

|5 -2x,—2x,-3x,-3=0

3x,—x,+2x,+1=0

Sx+18y+4z+5t=12

12x, +3x, +2x, -8x,+7=0



11. UUSPPSLEN B4 NPAThALEN

11.1. Uwuwnphglbp: mxn swhubph dweppg wubing hwulwbnd GG m
uinpbipmd b n ymGwlGbpmd (yntGbpned) gpwéd pytiph hwywpwdntl
(ophOwy, géwhlG hwywuwpnidGtiph () hwdwlywpgh a;; gnpéwyhglt-
nhg uqiqws wryntuwlyp’ win hwiwywpah g//uwynp dunnphgp)

a, Gy .. a,,
Ay Ay e a,,

A=| e, )
a,; A,y .. a,,

huya;(1=1,2 ...,m;j=1,2 ..., n)pYtpt wijwbnud 6G A dwwnphgh
wrpnbn (4606GinG6p). A-h wnntiph U unuGbph  wbnwdnfunidhg
unwgywé

ml

alz 022 .......... amz

AT=] e,
Qq,, az,, .......... a”m

dwwnphgl wlywbnud 86 A -h ppoywd dunnphg. Gpk B -G nxs swihubph
Gwuwphg b

by by oo b,

by, by .. b,
) 1 ,

b, by b,
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uwhdwGymd t mxs swhubph C = A - B wpnwnpywy dwinppgp, nph
Cj(1=1,2,...,m;j=1,2, .., s) nwppbipp npnaynit &0 htwnbjw| pwlw-
autpny’ cy= Y ai by Stnh niGh (A- B)" = BT-AT hwdwuwpnipniGp:
k=)

U, V LU W dwwnphglbph hwdwp wnbnh mGh (U- V)- W = U- (V- W)
hwywuwpnipjnilGp, tph phwpyb hwiwwwnwupuwld wpnwnpuGtpp
uwhiwOjwé LG: nxn gwihubipp dwwhgl wGwbnd GG n-pp wpgh
(pwnwyniuh Ywd pwnwyniuwjhG) dwwnphg:

I 0.......... 0
0 1. 0
E=|
0 0. 1

pwnwlyniuh dwuinphgl wljwbnud GG n-pn uwpgh dhwynp dwwnphg, pw-
Ghnp A-E=E-A=A witil dh A n-pn Yupgh pwrwyniuh dwwnphgh
hwiwp: 6pbt C-A=A-C=E, wyw C-0 whdwand G A-h hwlw-
nwnd duwnpphg b Grwlwynd 66 C = A" (wwpg t, np Gwk A = C'):
Uwwnphgh hwywnwpép (6pt wjG qnynipynil nibh) dhwbG b Npwbugh
npjwéd A pwnwyniuh dwwnphgl nlbGw hwlwnwpd wGhpwdbn t L
pwyqwpwp, np Gpw wnntph (npwtiv n—swihwbh Jbywnpabph) hwdw-
Yuwpap (hGh qow)lnptb whywtu:

11.2. NDpn2hghbp: o= (a4, A5, ..., O y) N-julld wowbnd GG n-pn
Ywpgh wbnuwipnfumpmo, tipti a; € {1, 2, ... n}1=12 ...,nk
a; #a, bpp 1< 1 <j <n: bpwphg nwpptp n —pn Yupgh nbnwtn-
funipynilGtiph pwlwyp n! b bp 1< 1<j <n L ;> a; wyw wuntd
GG, np = (a4, A, ..., Op) ntinwdnfunipjwb vy welw t ganpw-
Juwfurnnmd: Stnwghnfunepynibp Ynsynid b YybGw, Gpb GpuwGnud wneijw
nhppwhuwpuinnuiGlph pwiwlyp YkGn phy b Iwhwnwy nbwypnd mhqm-
thnfunepynilp Yngyned t qnuq:

Spjwé t A n-pn Ywpgh pwnwinwh dwwphgp: UGG dh
a= (o, a, ..., 0 ) nbnuihntunpjwl hwdwp Yuqiblp aiq, Aq,... 2nq,

wpunwnpyuwip: Wa hpbGhg Gepyuwjwgbnd t A dwwphgh n tbdbGunGbph
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wnpunwnpjwy” jnipupwlsnp ninnhg b jnipwpwGgnip uynitGhg Ghown dbG-
Yuwywh wpwwnphsabpny: LawlwlkGp F, = a1q, 424, ... ang,. iph @ -0

qniq wbnwthnfunipintb t L F |, = - 344, 32, ... Ane,, P O -0 YGOw k-
nwihnfunipynil t: Pnpnp’ n! hwen F -Gbph gnudwpl wlOdwGnd GG
wnpwé A dwnphgh apnzfs b w)b Gwlwynud GG det(A), |A| Ywd

- a4, ay a,,
a; ay a,

....................... : n)
a, a, ... a,,

Giatiny npnzhsh (N) Gwlwlyiwh dti9 hwiwwwwnwupuwb dwwphgh
frwurnwywd weluwynp)nilhg, plnniGdwd t dwwphgh wninn, upnlGwy
(unl), whynbwghd, nwpp wpwhwjpnmpynlbGlipht gqniquhtin oq-
wnwgnnpdtiy Gwbk npnahsh winp, unbwly (unil), wbynGwqhd, wnwpp
dlbpp:

UwulGuwynp nbwyptpnid, Gppn =2 Ln = 3, unwGnud GGp’

e a a, a, a;
1 12
= ay1d22 - A12d21, | A5 Aay  Gy3 | = 241322833 + A9282333¢ +

a4, Qap
A, a4y Ay

+ 243221832 - 13222831 - A12821a33 - A11323d32:

Lzbtlp npnzhsh Ywplnp hwanynipnibltinp:

1. det(A") = det(A), wyuplGplG, Gwwphgh 2penidhg Gpw npnzhsh
wpdtipp sh hinfudnid: Yw Gawlwynd t, np npn2hsh winnbipp dwuhl
wdbkb dh wannd Ghawn Y hoh Gwl Gpw upntGliph hwdwp:

2. 6pti A-h nplut winnh pnpnp b EOEGUNGEPE hwywuwp &G qpn, www
det(A) = 0:

3. bpb thnfubilGp A-h nplt Gpynt tninnbiph nbnbipp’ JGwgwé winnbipp
pnnGbnd whdinthintu, unwlwbp dh Gnp dwwphg, nph npn2hsp hww-
uwp t A-h npn2hgh hwlwnhphG:
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4. Jwywuwp (hwdipGytnn) winntp WwpniGwynn dwwnphgh npnzhsh
" wpdtipp hwjwuwnp t qpn:

5. bpt A-h nput wnnh pninp LGdE@nGpp  pwqiwwwnytGp
_dpLlGnyyG ¢ pyny, wyw YunwGwap sh dwwphg, nph npn2hsp hwywuwp
t cdet(A):

6. Iwibdwwnwlwh nnntip wwpniGwynn dwwphgh npn2hsp hwyw-
uwnp t qpn:

7. 6pt A dwuwphgh nplt k-pn winnh tGdEGnGEPpp GhpYwjwgywd GG
tipynt gnudwpbhGbph nbupny, www wjn dwwnphgh npn2hsp hwywuwnp
t Gpynt wnwGdhG dwwnphgltph npn2hslGliph qnudwphG, npnGghg dGLyntd
k-pn winnp b EdGGnGEpp ghnfuwphGywé 66 hwlwwwnwuhuwh wnwohl
gnudwpbihGtipny, djntunid” Gpypnpn, hul dGwgwé winntipp wGdindinfu
G0 VGwgb|:

8. bpt A dwwnphgh nput wing hwlnhuwGnid £ Gpw Gwgwé wnpbiph
q6wjhb YndphGwghw, www A-G ¢bpwubnduwdét’ wyuhGpl det(A) = 0:

9. Npwtugh A dunnphgh npnzhsp thGh qpnjhg wiwppbp (A-G (hGh
spwubpdwd), whhpwdbn t L pwywpwp, np Gpw wnnbipp Juqukl
qSwjlnpblG waywhu hwiwywpg:

Spwé A pwnwyniuh dwnphgny Ywquidwséd n-pn Ywpgh npnzhsh
a;; bitdbGinh Ay hwlpwhwpdwlwl (pwgned wubing hwulwGnud &G A-h
i-pn wnnh b j-pn uywl wpunwpundGiphg unwgynn (n - 1)-pn unpgh
npnzhgp, Bpb (i + j) =G qnuyq t L wyn npnzhsp’ hwlwnhp GawGny, tpk
(1 +j)-0 ytiGun t:

10. det(A) = Za”AU (= Za‘]A‘] ), wyuhGpG, wnpjwé npnzhsh wpdt-
j=I i=t

pp hwywuwnp t Gpw nplt i —pn winnh (j —pn uywG) b EdLGnGEPh L Gpwig
hwlpwhwqwlwh |pwgnibbph wunwnpyuiGbph gnudwphG:

11. 6pt npn2hsh Gujunpn hwnynipjwip inpwé Ghpluwywgdwb dky
a,,8,,..3a, (@,,a, .. a,) titdtGwnltpp tinfuwphltitp b, b, ,...b,
pytipny, www Yuwnwgydh dh npnzhg, npp Ghwjl i-pn winnny (-pn ujne-
Gny) t wwppbpynid wpywshg (Gpwip thnfuwphGws LG b,, b, ..., b,

pytipny):
12. Npn2hgh nipdwé winnh (upw@) b EdEGnGEph L 0GY wy wnnh (uywa)
hwiwwwwnwupwb bEiGGnGEph hwipwhwqwywb (pwgnudGhph wp-
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nwnpuwiGph gnudwpp hwyjwuwp t qpn’ Za,]A,q. =0 k # 1,

j=1
(Y a,A, =0k # )
i=1

bpt det(A) = d # 0, wyw A-h wnntph hwiwywpgp qéwylnpkl
whywfu t, wyuhGpd A-h hwlwnwpdp gnjnipnil nilh b wyl npnzgmd t

A Ay A
d d d
14!2 A22 AnZ

aio| d d T

...................

pwlwdlny:
A u B n -pn Yupgh sybpwubpdwéd dwwnphglbph hwdwp Ghan t

(A‘B)'=B™"-A"" GnyGnipynilp: bpb det(A) # 0, wyw (AT)'=(A™")":
bphdet(A) # OLAC=A, wyuwC=E:

(M) npnzhsh k —pn (1 < k < n) Yupgh dhGnp wubtiny hwubwGnid GG
Gpw nplt k wninnbph L k uniGbph hwandwG wbnbpnud qunlGynn k —pn
Ywpgh npnzhsp’

i iy e ”

a, J T RRTIIEAR a,.! Js
............................. .

ai‘ ji a,. Jp treeeeeee a,.k i

1<ij<ip<..<ix<n, 1<ji<jp<.<j<n

bpt 1 < k £ n - 1, wyw dGwgws” (n - k) winntpnd L (n - k)
ujniGbpny uqdywd shGnpp’ dipgpwé wpyniu Gawlnyg, tpb (1, +1,+
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+.41, v v+ 4 )-0qnyqgt L dhGniu Gawlny, bpt wyl YtGuwn t,
widwnd GG wpwé dhanph hwipwhwpdwlywl (pwgned: 10 —pn hwn-
Ynepjwl pGnhwGpwgnidp dbwybpwynid b Lwyywup pnpbdh dhengnyd’
npn2hsh wpdbpp hwywuwp t Gpw nput k winnbipnud pGngpyywéd pninp
k-pn Ywpgh ohGnpGtph L pptGg hwlpwhwwywb (pugniiGhph wp-
wnwnpywbtph gnudwphG:

Lwuwiwuh pbnptdh dhengny gnug t wipyned, np AL B n —pn Jupgh
puwinwyniuh dwwnphgGbph hwdwp wbihh nbh det(A- B) = det(A) det(B)
hwywuwpnip)nilp:

11.3. Ypwdbkph YwhnGp: Apn2hsh (10) — (12) hwwynipntGGtipp Yh-
nwebtiing (3) hwiwlwpgp 6h dwulGwynp nbwph (Bpp m = n L wyn hw-
dwywpgh qiluwynp dwwnphgp sybipwubipjws t) hbnwgnundwG hwdwp,
unwanid GOp, np wy npnpjwy t, huly Gpw dhwy a = (a4, A ,,..., A y)
tnSdwl YnnpnhOwwnGlipp npnnid 66 o5 = d; /d  Gpwdbph pwlw-
dubtipny, npintin d-G hwdwlwpgh quluwynp dwwnphgh npnzhsG t, huy
d-0 GpwGhg wwppbpynid t ShuyG  j-pn umbnd, nph EGOEGGEPP
thnfuwphGwé &6 hwiwywnpgh by, b,, ..., b, wquw winwdGtpny,

ji=1,2,....n:

Uwulwynp nbwpbtpnid qéwihG hwywuwpnudbliph  hwdwlwpgbiph
hiinnwgnumdp Ywpbith t ptipp dwwnphgwiht hwywuwpnidbGbph (-
dwhp: tpb A-G nxn swiubph sybpwubipdwes, B-6 nxs swihubiph vipdwé
dwwnphglbp 60 L thOnmpynud L A-X =B’

n

a, Q... a,, b A R X, b, b, ... b,
Ay, Uy e Ay, || Xy Xap e X, b, by .......... b,,
a"l an-, .......... a,m A", xn“ """"" xn\' b”, b"7 .......... b'“

dwuinphgwjhl hwyjwuwpdwlp pwdwpwpnn nxs swihubph X dwwnphgp,
www wyn hwjwuwpdwb tpyne dwubpG b dwlupg pwqiwwwunybing
A" hwjwnwpé dwinphgny, Yunwlwip' X = A" B: bpp s = 1, wwyw,
panmbbiny x, = x;, b,=byy, y=1,2, ..., n, GawGwynuiGtipp, Yyhwhqblp
Upwdtiph pwlwdlbtph dwwnphgwjhl qpuindwlp:
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11.1. 3wyt htwnbyw) wbnuithatunipjwd nhppwhiwluinnudGbiph pw-
Gwyp:

1)(2,3,5,4,1) 2)(6,3,1,2,5,4) 3)(7,5,6,4,1,3,2)
4)(1,9,6,3,2,5,4,7,8)

5)(1,3,5,....2n—1,2,4,....2n)

6)(2,4,..,2n,1,3,...,2n-1)
7n1,4,7,..,3n-2,2,5,8,...,3n-1,3,6,9,..., 3n)

8) (1,5,...,4n-3,2,6,...,.4n-2,3,7.....4n-1,4,8,....4n):

11.2. Mwpqby, pt htinbyw] wpnunpuGbphg npn°Gp GG JwulGwygnuld
hwiwwwuinwufuwb Yungh npnzhsGbpnad L h"aGs Gawlny.

1) aja,a5a,a5, 2) aganaya,as,
3) ayay0a5,a,,a,5a,,0a, 4) a,,0,,0:,0,,A5504,0 "
11.3. i,j -0 pGwpbp wlwbu, np aga a,a;,a,.a, andwnpbifhG

hwiwwwinwufuwa 6 -pn Ywngh npn2psnud dwubwygh (-) Gawlny:

11.4. i, j -0 pGwpby w)lybu, np a,a,a,a4,,a,,a,, gnudwnbigh
hwiwwwuwnwuhiwb 7 -pg Yupgh npnzhsmd dwubwygh (+) Gawbny:

11.5. Jwzyby htwnbyw) npnzhgp.

) 5 2 2 a’ ab n+l n a+b a-b
|7 3 ab b’ n n-l a-b a+b|
cosa  sino 6) sina cosa 1 log, a
sina@  cosa sinf8 cosf log, b 1
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2x+1

X

1

2

9lb x ¢ 10) | I

x+1  x+1
-1 x

8)

d

x+1

x+1

4 0700

2 3 6 45
30400

12)

1M)12 5 8

16) (2 3 7 5 3

4 2 0 0 8
15)

7 300 2

4 4 7 5

1
2

2

-2 -4

3

1

18)

7

5

-2 -3

2

0203

1

6 3 2 45

5

2 23

1

2)(3 0 4 0 7:

4 5 3
34005

1

2

1

5 2 3 4
4 6 0 0 7

1

17)

19){3 4 5



11.6. Uwwgnigky, np oty manh ypw squnldnn M (x,y,,z,), i=1, 2,3,
ytwnbipnd waglnn hwppnipjwl hwdwuwpnidl nGh
X=X Y=y I
X=X Ya— Y ,-4|=0
X=X Y=Y L7
nbiupp:

11.7. Ywquib; YnnpphGuwnGbph uygplwlbwng L A3,—-2,1) m
B(1, 4, 0) Ytwntpny whglnn hwppnipjwl hwywuwpnidp:

11.8. Ywqub; A(0, 0, 2). B(3,0,5), C(1,1,0) L D(4,1, 2) ququp-

Gtpny pwnwGhuwnp Ghuntipny wGglnn hwppnepynlGatph hwjwuwpnid-
Gbpp:

1 3 2 0 3 5 4 1 3
11.9. “hgnip A={4 O 3|,B={4 1 2|,C=12 1 0
2 9 1 50 6 2 6
QuinGly A+3B" —C dwwnphgp:
11.10. 3wyt dwuwnphgltiph wpunwnpjw)p.
3 -2\(3 4 a bY(a B 1 231
1) : 2) : 3) :
5 -4){2 5§ c dj{y o 5 3/{4
1 -3 2)(2 5 6
1 5
4) (2 3)-(3 7) 5(3 -4 1|{1 25
2 -5 3/(1 3 2
5 8 -4)\(3 2 5Y 2 0 2
66 9 -5{|4 -1 3 il 45
4 7 -3/{(9 6 33 1
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gy (1 9 2)

W O N
= -
N = W

1 4\(0 1 4
9) :
(23)(231]
1

41 219 4 41
0|2 ol 11)20_20.2310.0:
1 1 4)(1 0 7 8/|9

230
15 5
2

11.11. Ywwwpb gnpdnnnpynLGGlpp.

T
1 -2y 1 o)’
1) 2)
3 -4 29
11.12. 3wdnqyty, np (A+ BY = A> +2AB+B* L (A+B)A-B)=

= A’ — B® wnGsnipyniGGbpp wbnh nuGbl wyl b ShuyG wyG niwpncd, bpp
A-B = B- A: Ywwnwptii hwiwwwunwuluwb hwdwpyGbpp, bpp

1 2 2 6 1 2 2 6
1) A= , B= 2) A= , B= :
FV L IR P S

11.13. Lwfunpn ophGwyh A dwwnphglliph b P(x)=—2x" +3x* =5x+7
pwqiwbnuwih hwiwp qinGtp P(A) dwwnphglbpp:

. 2
cosa -—sina
sinad cosa |

11.14. 3wdwuwpndGbph hwiwluwpgp not] Ypwibkiph GnwGwyny.

2x, +3x, =1 ) 3, +x,=4 3 x+y=1
3x,+5x, =4 2x; +4x, =1 x—-y=2
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Sy dv b x+2y+3z=2 2x-y+3z=9
Sx-4y=
4) {2 +3y . 5){2x+3y—4z=-5 6)<{3x-5y+2z=-4
X =
Y 3x+y+z=3 4x-Ty+z=5

2x-3y+4z=9
7)<—=x—=5y-Tz=—4
3x+y+z=5

2x+3y+1ly+5t=2
x+y+5z+2t=1
2x+y+3z+2t=-3
x+y+3z+4t=-3

2x=5y+3z+t=5
1) 3x=Ty+3z-t=-1
5x-9y+6z+3t=7

4x-6y+3z+1=8

11.15. Qunlt; Ywwphgh hwiwnwndp.

; 1 2 ) 5 7 3 a b 8
) 3 4 ) 6 8 ) c d

3 -4 5 2 5
6){2 -3 1| 1|6 3

3 -5 -1 5 -2 -

7
4
3

xt+y+z+t=3

2x=y—-z-t=~1
3x+2y—-6z+2t=0
x=2y+4r=2

2x+y+4z+8t=-1
x+3y—-6z+2t=3
3x-2y+2z-2r=8
2x-y+2z-2t=4

3 2
29

|

5

’(

sinQ
cosQ

—-cosc
sino

|
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8) X|2

1
12
9|3 2
2 -1

12)

N O W

2 2

1 -2 10)
-2 1

3 -4 -3
6 1 1
4 2 1
3 3 2

1 1
-1 -1
I -1

11.16. Lnuét dwwnphguyhl hwyjwuwpnudp.

1) !
3
3) 2
4
5)X—[
7) 3
5

2)
X
4
-3
-7

3
5

-1

-2

ol

1t

J

o

1 -1

H

1
4
1

1
10
10

14 16
9 10

-1

(3
2) X-
5
. 5
ap
6) 2
5

o O

N W

3

3 2
-2 5

-3

0

]

[ S

QO = W N

11
11

|

2

-1
-5 6

|



5 3 1) (-8 3 0
10X 1 -3 -2(={-5 9 0

-5 2 1] |-215 0

3 -1 2 3 9 7
1M)4 -3 3| X=1 11 7

1 4 0 7 5 7

2 -3 9 76 (2 0 -2
124 -5 2px 1 1 2|={18 12 9

5 -7 11 1] {23 15 11

1 11 1 -1 2 2 30
13)[0 1 1] -.X+ 0 3 4|=24 -3 5|

001 -2 0 -1 1 +-10

11.17. Loty A X + BX +C =0 hwywuwpnudp, npintin

1 2 2 6 0 2
A= , B= , C= :
3 4 9 11 1 3
11.18. Iwywuwpnuitiph hwiwlwpqp oty dwnphguihG Gnw-

Gwyny.
4x+3y=12 ~x+3y=—4 2x-y=1
{x y z{x y 3){xy

x-12y =10 Sx=1 -y=0

3x-y+3z=9 6x—y+8z=1 2x=Ty+3z=2
4) {x-5y+3z=—-4 5){Sx—y+6z2=0 6) {3x-9y+4z=1:

x=Ty+4z=5 x=3y+4z=2 5x+2y-3z=0
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12. 5U3bL IU4UUUrNEULENh JUUULGUCrAEND I6SU2NSNEUC

12.1. Uwunphgh nwflqgp: k-pn Ywpgh dhGnpp  hwuluwgnipiniGp
dingynid t Gwb nunnuwGyyniG dwwnphgltiph hwdwp (hGswbtu Gwhunpn
Ytwnd nw wpydtp tp npn2psh, Ywd' hwiwwywunwujuwlb pwewlyniup
dwuwnphgh nbwpnid): Uwwnphgp Yngynud b gpaywlwdl, tipt Gpw pnpnp
wwppbipp 0 LG: YI66 dh wnpydwds A (mxn swhubinh) ng qpmywlwl
dJuwuiphgh hwidwp Gpw  Qowylnpbl  whlywfu wnnnbiph  (uncGbph)
wrwybiwaenyl pwlwlp hwdpllyGnid t wyn dwwnphgh qnnihg nwnppbn
dplnplbnh unpqbnhg wibGwpwndnh hbur. Uwinphgp pGnipwgpnn wjn
Gtonpntlp GrwlGwynd 66 R(A)-nyd L wyl wGwlnmd GG A dJwunppgh
nwlq. A qpnjuiwl dwunphgh nbwypentd hwdwpynd t, np R(A) = 0:
Mwnpq t, np 0 < R (A)< min{m, n}: Ny qpnuwlwG dwwnphgh nwiqp
hwpdbint hwidwp Gpw Guwuwdwdp Yhpwenid G0, wjuwbu Ynsduwd,
wnwppwywb gqnpénnnpyniGGlp. thnfunitd &6 dwwphgh nplbt Gpym
wnnbtph (unlGtph) wbnbpp, dwwphgh nput wnnh  (vwG) pninp
tidtGwnGEpp pwqiwwwuwnlynd GG qpnihg wwpptip dhuGniya pynd,
dwwiphgh nput winnhG (uywbp) wybiwglnud GG Y wy wnnh (Uywa)
wwuwhyp, dwwnphghg wpunwpuntd G0 Gpw wyl wnnp (uyniGp), npp
pwnuwgwé t dhwjb qpnGtiphg: Swppwlwb grpdnnnipyntbGlpp s6G thn-
funud dwwnphgh nwgp: UakG dh dwwnphg vwwppwlwb gnpénnnipynil-
Gtph shongnd plipynud t, uyuwbiv Ynsdwé, whyntGuwqdwihG nbuph, tipp
Gpw hwdpGyGnn hwdwpGbpny wnnbiph L unlGtiph hwndw wntnbpnd
gfuwynp wayniGwqéh ypw 1-tip GG, puly Gwgwsé™ ny wayntGugdwihl
pnpnp b EotEGnGEpp qpnGbp, wjuhGpl unwgytbig t nput” r-pn Ywpah Ghw-
ynp dwunphg: tw 4Gwlwyh, npR (A) =1

Uwwnphgh nwGqp Ywpbih t qunbtip Gwl d6Y wy™ Gphqnn dhGnpGlph
Gnwliwyny: Ypw hwdwp pGupnud G0 A dwanphgh qpnhg vwpptip k-pn
(Wwpqnipjwl hwiwp wowehl Ywd tpypnpn) Ywpgh nplt dhGnp: Lpw
wybtjwglnid G dwwphgh dtYwlwa Gnp vinn L Gnp uyntl, unwlwiny
wyn ShGnpp bphgnn® (k+1)-pn Ywngh GhGnp: Gpb plinpywdé dhinph
pninp (k+1)-pn Yupgh tphqnnGtph wpdtipGtipp hGEG qpnGtp, nupbdG
R(A) = ki 3wywnwy nbwpntd pGunpyncd t hwlnhwywé wnwohb huly ng
qrmwywG (k+1)-pn wpgh dhGnpp L nhwwpydnid 660 wpntG Gpwa
tphqnn™ (k+2)-pn Ywpgh dhGnpGbpp: 3wqwpyGbpp 2wpniGwynid GG
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GpGsh witGwpwpdp uwpgh ng qpryjwlwl (A&Gpuypl) ShGnph huynlw-
ptipnudp:

tpt A-G mxn, huy B-G nxs jswiubph dwwphglGhp 66, www
R(A-B) < min{R(A), R(B)}: 6pt C-G n-pn Ywpgh sytipwubpjwé
dwwiphg t, wuyw R(A- C) = R(A):

12.2. Q6wjhl hwjwuwpnuiGiph hwiwluwpgh htwwgnunnuldb plnhw-
Gnip nbwpnid: UjG wwpdnd t 4pnbblybp-bwwbypp pinpidh hhdwG
ypw, hwiwdwjb nph () hwdwlhwnpgp hwidwnbnbih t wil b dhuyl wyl

ntypnid, bpp R(A) = R(A ), npintin A -G hwdwlwpah qituwynp, huy

a, d, ... a, b,
a, a, ... a,, b,
A=) ... ... L
aml am.’. """ amn bm

p0njwylywd SwnphghtnG Go:

Npn2jw) hwiwywpgh (Gpp R(A) = n) Shwy (nténtdb unwGuynt hw-
Jwp Gwhu pGupnud GG A dwuwphgh (n-pn Ywpgh) htGpwjhG ShGnpp, hw-
dwlwpgnid wwhwwbnid G0 wyn ShGnpp Yuqldnn ninntiph hwdwpbGbphb
hwiwwwuwnwufuwlnn hwywuwpnuiGipp (Wowgwéd hwywuwpnidGtpG
wpuwpuynid 6 hwdwywpghg) L, ophGwy, Ypwdibph pwlwdlbipny
Ywd Guniuh inwiwyny qunlGnud GG vwnwgdwd (pwnwyneup, sybipwubip-
qwd) qruwynp dwwnphgny hwdwywpgh (nudnidp:

Ubnpny hwdwlwpgh (Gpp R(A ) = R(A) = r < n) pninp (nénudGbpp
GYwpwqgpbpnt wpwnpwiph wwpqbigdwb hwiwp Gapwnptlp, np hw-
dwlwpgh qriuwynp dwinphgh htbpuwihG ShGnpp qunbynid t Gpw JbiphG
dwhu wbynilnuy, wyuhlpl Yuqijwd t dwwnphgh wnweh r tninnbipny nu
ujntGbpny (pGnhwGnep nbiwypntd hwplywynp YhGlp thnputip hwdwywpghp
hwiwwwwnwuhwb hwywuwpnudbliph wtntipp L jwwwpt] wGhwjnlt-
ph wwhweynn YtGpwhwiwpwywindd): Iwdwlwpghg wpuwpuynid GG
Gpw (r + 1)-hg 0hGsk m-pn hwjwuwpnuiGlipp: UnwohG r (h&Gpuwyhl)
wlhwjnbbpp wwpntGwynn winwdbbpp pnnGynd GG hwyjwuwpniilb-
nph dwju Swutipnid, huy d0wgwd (wqww) wihwjnbtpp nbnwdinfudnid
G0 hwywuwpnudleph we dwubpp’
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a, x, +.a,%, +....... +a,x, =b —a, x  —..... —-a, x,
Ay X, + Ay Xyt ta, x, =b,—a, X, —..... -a, x,
<
(1)
a,x, +a,x,+..... ta,x,=b—-a, X, —.... -a,x,
Ujdd, (3) hwdwlywpgh npul dwubGwynp™ = (X, A3 ..., Oy)

LnénLd unnwGwint hwdwnp (1)-nL8 Xpeq, Xpe2, ..., Xp WahwjinGlipht upb-
th t dbpwgpt] juwiwjwywld & 4y, A, ..., &, (ophlwly qpnjuiywa,
nphG hwiwwwwnwufuwl JwuGwynp |Aéndt wljwbnud 66 hwiwywp-
qh h&bGpuyhl (nioncd) wpdtipltip, puy x4, X2, ..., X; wihwpnbtiph hwiw-
wwinwupuwl o4, a4, ..., o wpdbplbpp hwyb] uwnwgwd hwiw-

Ywnqghg:
(3) hwdwlwpgh pninp (nénudGlpG unwlGwine hwdwp nwuncibw-
uhpynud L (3)-h hwiwwwwnwupuwG

a, x, +a;,x, +....... +a,x,=0
ayx, +a,x, t..... +a,,x, =0

§ treerrriee et aeeeran e rera e eraes (2)

(X, + A Xy +ota, x, =0

hwidwubn hwjwuwpnidGeph hwdwlwpgp: UG dhn hwdwwnbinbih t,
pwlh np 8 = (0, 0, ..., 0) n ~jwlp Gpw (MéNLIG E: bpb T < n, www
hwiwlwpqb nGh OGwb ny qpnjulub (pénedGhp, pGn npnud wyn
tniéndbbph wabkG@ dh qéwphG Yndphlwghw Lu Yhwinhuwlw (2)
hwdwywpgh (néned: (2) ~h (nénudlbph {e’, e ... ek} qow)Gnpbl wo-
Yuwiu hwiwYuwpql whwanid GG Gpw (mdmdGEph pnionwidblnuy hw-
Jwlwpg, tipb (2) -h wibkG dh \nuénul Gephuwywgdnid t {e’, €2 ... e“}-h
dhengny: Gpp r < n, wyw (2) hwiwubn hwiwlwpgh (néniGliph wakG
dh nilnwitibnw] hwiwlwpg Yuqidws t Shaun (n - 1) nuénuiGhbphg:
U)i quitint hwdwp Yuqond GG (1)-h hwiwwwwwuluwld hwiwutin
pipqwé hwiwywpgp
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]
a, X, +a,x, ... +a,x

r = _alr+l‘xr+l RN _alnxn
Ay X, +ApX, +...... +a,, X, ==y, X, = =0y X,

) (3)
a,x, +a,x,+...+a, x, =—a, X,  —.—a,.,xX,

LGwpnud GG (n — 1)-pn Yupah nplt sybpwubpywé (ophGwy™ dhwynp)
dwwiphg: (3) hwiwlwpgh hwywuwpnidGtiphg jnupwpwGsnipald
Xrets Xre2, -+, Xn WhhwyunGtphG y6pwgpnud GG pGupdwé dwnphgh k-pn
nnnh hwiwwywwwuluwlGwpwp 1-hG, 2-pn,..., (0 - 1) -tipnpn t GAtGnGG-
nh wpdtipGlipp L nuébind unwgywé hwiwlwpgp quGnid G wnwehl r
wlhwynGbph wpdbpGbpp: Wnwhunyd Ywrenigynud GG (3) hwiwlwpgh
BY) =(B.,. Bisr - B,) k=1,2, ..., n -1, méniGhnp:

Uunwgymd £ (3), hOswbu Gwl’ (2) hwiwubn hwdwlwnatiph (ndnwibliph
(B, B, ... ") dnlnwikluw hwdwlwngp: b Ykipgn, (3) hwiw-
Yupgh pGrhwnip (rudnuip wpdnd & o + ¢ B +c, B +. 4 B
wnbupny, npwntin ¢y, C, ..., Cnr -bipp uwdwjwywd hpwywb pybp GG, huy
« -G (1)-hg unwgdws (3)-h dwubGuwynp ;nénuib £, ophGwl’ hGpwjhGp:

Qswht hwdwuwpnudGiph hwdwywpqbph hGwnwgnundwbp phipdnn
wnbwnbuwghunnipjwl fulGnhpGtpnd wewGdbwyh hGunwppppnp)mG LG
GEpYuywglnud uyn hwiwlbwpgh wylwhpuh (nuénudblipp, npnGg pninp
YniwynlbGunGbpp ny pwgwuwlwb pytp GG: Uju wbuwybinnhg Ywplnp-
ynd t dwpluwyp plinptidp, hwiwdwild nph’ qdwyht hwywuwpndbGtiph
(3) hwdwlwpql nGh (X4, Xa,..., Xp), Xi 2 0,1 =1, 2,..., n, (nénLd wyb b
Ghw)b w)G nbwpndy, ipp wihwywuwpnidGlph

a,y,+a,y,+...+a,y, 20
a,y,+any,+...+a,y, 20

hwiwyuwpgp |nudnLd gnuGh:
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12.1. Uwwphgh nwGqp hwydbp wwppwlywl gnpdnnnipjnGGlph
dhongny.

0 410 1 2 111 2 25 31 17 43
: 4 818 7 5 1 0 4 -1 3 75 94 53132
) 10 18 40 17 ) 11 456 5 ) 75 94 54 134
1 717 3 2-1 5-6 25 32 20 48
24 19 36 72 -38 75 0116 -39 O
4 49 40 73 147 -80 5 171-69 402 123 45
) 73 59 98 219-118 301 O 87 -417-169
47 36 71 141 =72 114 -46 268 82 30
14 12 6 8 2
47 -67 35 201 15¢
6104 21 917
7| 26 98 23 -294 86|
7 6 3 4 1
16 —428 1 1284 52
35 301520 5

12.2. Uwwnphgh nwlGqp hwpyb| bphgnn dhGnpGtph tnwGwyny.

3 -2 1 1 11 10 11 1 22
B2 1 -5] 2231 2| 332 1 47
7 0 -9 4 53 4 1 3 -1 18
23 -5 7 11 2 -1 3 -2 4
5 1 6 11 8 554 -2 5 1 7
4 6 -10 14 22 2 -1 1 82
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3 -1 3 2

5 -3 23
6)

1 -3 -5 0

7 -5 1 4

12.3. 3wyt dwwnphgh nwlqp.

1 3 -1
-2 6 1
1)
0o 7 -3
4 -1 8
2 13 -1
3-12 0
3)
1 34-2
4-31 1
1-1 2 3 4
2 1-1 2 0
5(-1 2 1 1 3
1 5§-8-5-12
3-7 8 9 13

7

2)

4)

6)

1 3 5 -1
2 -1 -3 4

20202
01010
21021
01010

1 2 -3 5 3
2 7 =2 8 6
-3 -6 9 -10 -8
3 9 -5 13 9

100 1 4
010 2 5
001 3 61
12314 32
4563277

12.4. 3wyt A wwpwitnphg Ywudwé Suinphgh nwgp.

1 A -1 2

22 -1 A 5S¢

1 10 -6 1
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12.5. 3titnwgnunt| hwiwlwpgh hwiunntinbihnipyneGp.

x+2y+z-t=1
1) <x+3y—-2z+2t=-4
2x+y—-z=t=-1

3x-2y+5z+41=2
3)6x—4y+4z+3t=3
I9x-6y+3z+2t=4

x+3y+4z-2t=2

-3x-T7y—-8z+2t=—4
2x-y+3z=4
2x+4y+4z=2

5)

2)

3x-5y+2z+4r=2
Tx—4y+z+3t=5
S5x+7y—-4z-6t=3

2x+7y+3z+t=5
x+3y+5z-2t=3
xX+5y-9z+8t=1
Sx+18y+4z+5t=12

x+2y-3z+t=1
3Ax-y+2z-t=-1
2x-2y+3z=5
2x+3y~-2z+t=-3

12.6. Qunlb| hwdwlwpgh nplt hGpuwhQ (puéndd.

. 2x, +3x, +4x, - x,==5
X, —2x,+2x,+x,=8

3x,+2x, +5x, - 3x,=-9
X, —4x,=6x,+7x,=3

2x, = 2%, +5x,—x, =—6
5) 4x, +5x,—2x;+2x, =3

2x, +7x, = Tx; +3x, =9

102

)
4)J

6)

4x,—2x,+5x, - 2x,=8
2x, =3x,+2x,+ 3x,=5

3x,+2x,+4x, + 5x, =6
2x, +5x, —2x;,+3x, =4
X, =3x, +6x;+2x, =2

5x,—3x,+3x,+2x, =4
3x, +5x,—7x,+8x, =21:

12X, —4x, +6x,+2x, =8



12.7. Ywnnigtip hwywuwpnudGtiph hwdwubin hwdwywpgh (nénLiGh-

np nput PnLbnwitiGunw] hwiwlywpg:

Sx; +3x, +4x, =0
6x, +5x, +6x, =0

(2x, +3x, +5x, +6x, =0
3x,+4x,+6x,+7x, =0
3x +x, +x; +4x, =0

3) |

[2x, —x, +5x,+7x, =0
5) <4x, —2x,+7x;+5x, =0

2x, - x,+x,-5x,=0

(x, +2x, +4x,-3x, =0
3x, +5x, +6x;,—4x, =0
4x, +5x, —2x,+3x, =0
3x, +8x, +24x;, —19x, =0

7)

[3x, +2x, +x, +3x, +5x, =0
6x, +4x, +3x; +5x, +Tx; =0
9x, +6x, +5x; +7x, +9x, =0
3x, +2x, +4x, +8x, =0

9) 1

[(x,—x,=0

x,-x,=0
1) =X+ Xx3-x =0

1
-x,+x,—x,=0

X, +x,=0

-x,+x,=0

4x,—6x,+5x, =0
6x, -9x, +10x; =0

8x, —5x, —6x,+3x,=0
4) {4x,—x,-3x,+2x, =0
12x, ~7x, —=9x;, +5x, =0
(2x, —4x, +5x,+3x, =0
6) {3x,—6x, +4x, +2x, =0
(4x, —8x, +24x, -19x, =0
x+x,+x,+x,=0
8 X +x,+2x,—x,=0

X +x,-2x,-3x,=0

2%, +2x, =5x, —6x, =0

(6x, — 2x, +2x, +5x, +7x, =0
9x, —3x, +4x, +8x,+9x, =0
6x, —2x, +6x, + Tx, + x, =0
3x, —x, +4x; +4x, —x; =0

(X, —x,+x,=0
X, =X, + x5 =0
12) {x, —x, + x5 —x, =0:

X, =X, +x,=0

(X — X+ x5 =0
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12.8. Qunlb; hwdwywpgh dbY dwuGwynp fnuénid, Yuqibp hwiwwu-

wnwulu

wh hwiwubn hwdwywpgh msnudGlph nplt $nbnuitlbunwy hw-

dwlwpg L Gpuag dhengny GhpYwjwglh] wpjwd hwiwlwpgh panhw-
Gnip (nuonLdp.

1) 9

3)

5) |

9) <
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2x,+7x,+3x;+x, =6 2x, = 3x,+5x, #7x, =1
3x,+5x, +2x,+2x, =4 2) {4x, —x, +2x,+3x, =2
9x, +4x, +x;+7x, =2 2x, =3x, —1lx; —15x, =1
3x, +4x, +x;+2x, =3 2x, —x, +3x;=Tx, =5

6x +8x, +2x,+5x, =7  4) {6x, =3x, +x;—4x, =7
9x, +12x, +3x, +10x, =13 4x, —2x, +14x,-31x, =18

9x, -3x,+5x,+6x, =4 2x, +3x, —x,+x, =5

6x, —2x, +3x;+x, =5 6) {x, —2x, +3x, +2x, =2

3x, —x, +3x, +14x, =18 4x, —x, +5x,+5x, =9

X +x, +3x,—2x, +3x, =1 2x—x, +x,+2x, +3x5 =2
2x,+2x, +4x, —x, +3x5 =2 ) 6x, —3x, +2x, +4x, +5x, =3
3x, +3x, +5x, —2x, +3x, =1 6x, —3x, +4x, +8x, +13x, =9
2x,+2x, +8x; = 3x, +9x, =2 4x, —2x, +x, +x,+2x5 =1
(6, +4x, +5x, +2x, +3x, =1 6x, +3x, +2x, +3x, +4x, =5
3x, +2x, +4x, +x, +2x, =3 10) 4x,+2x, + x;+2x, +3x5 =4 :
3x, +2x, = 2x, +x, =1 4x,+2x, +3x, +2x, + x5, =0
9x, +6., +x; —3x, +2x, =2 2x, +x, +7x;, +3x, +2x, =1



13. @BU3hUL bd tYLULPABUL SUPUBNHEB3NFLLEN

13.1. Ohgnip L ng nwuwpy pwqinipjwl guwlywgwé tpynt x € L L
y € L wuwpptipp (ftdGGwnGtph) hwdwp npnwé t GpwGg gnidwpp’
X+yellgwijugws x € L nu wikh dh A hpwlwh pyh hwdwp
npnadwé t AX € L wpwnwnpjwip: L puqinipintl wljwbnud GG gduypl
nwpwonpyntl, tipt Gpw wwppbph gnudwpnudG me hpwlwG pyny
pwqlwwwwnynidp pwywpwpned GG hbnbjw) wwjdwGaepha.

19 x+y=y+x

2° (X +y)+z =X+ (y +2)

3° qn)nipyntG ntbh wybwhuph 6 € L (qpn vvwpp), np X + 6 = X, Xel

4°. jnupwpwlsynip Xel hwdwp qnnipyntld nlh yeb (hwlwnhp
wnwnn) wjlwhuhG, np X + y = 6 (hbnwguwynud gpytine by = -X, wjuhbpld’
X +(-x) = 6)

5% 1.x = x

6°. A(ux) = (M)

7° (A + WX = AX + px

8% A(X +y) = AX + Ay:

R" wnwpwénpntlnud uwhiwGyws gnidwpnidl nu pyny pwqiw-
wwwnynuip pwywpwpnid 66 1° - 8° wwydwaGEphG: Gdwyhl wwpwént-
pnth G0 hwOnpuwlGnd Gwb wy pGnyph wwpptph pwqinip)ntGabp
(pOwywh duny uwhdwlGjwsd qnpénnnipynilGltipny). dhuwyl dGY™ qpn
tiidkGunhg Yuwqidwd (nphyhwy) qéwhG vwpwénipynlp, mxn swihubi-
ph dwwnphglGtph, hwonpnwlwlnipntGlbph, qniquuitivn hwonpnwlw-
GnipyniGGLph, [a, bl hwunywéh dpw npndwd L whpGnhwwn $niGyghw-
Gtph Cla, b} pwqtnipjniGGtipp, 8hasl n - pn Yupgh prinp hwlGpwhw)-
quywl pwqiwlnwiGtph pwqinipntbp: Uhblnyl dwiwlwly, Shown
n - pn Yupgh pnpnp pwqiwbnwilGph pwqdnipnilp sh hwGnhuwGnld
qow)hlG nwpwdnipynil, pwh np Gpyne n - pn uwpgh puqiwbnwdbtph
qnudwpp wpnn t nlGGGwy n - hg guwép Ywpg:

13.2. QSwjhG whywpumpintl: Thgnip L -p qéwihG wnwpwénipyntl
t L Xy, Xz,..., Xm € L: bpbi a4, 0z, ..., am hpwywl pybip &G L u = o4 X4 +
+0 Xo + ... + O Xm, Ww U -0 Gnyyluybu wwwnwbndt L -hG L yngynud t
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X1, X2, ..., Xm Wwppliph @duypl YndphGwghw: L qéwihG nwpwdnipjwl
X1, X2, ..., Xm Lwppbpp Yngynid GG Qowylnpbit wilwfu, tpt
Ay Xt Xot ...+ Uy X, =6 (1)

hwywuwpnipjnilp wbtnh nGh dhwyG, bpp oy = 02 = ... = oy = 0 L gdwy-
Gnp6l Gqufyw; hwiwnwy nbiypned, wyuhlpl, tpt (1) hwdwuwpnt-
pintGp Yupnn t wibnh mGbGwy Gwl o (1 = 1, 2,..., m) pytiphg qnGt dbyh
qpnjhg wiwppbp |pGEnL nbwpnid: L qéwihG wnwpwénpjwl X4, Xo,..., Xm
wnwpptipp Y heth qéwylnpbl Yuwiuywp wyl b dhwylt wyl nbwpnud, bpp
Gpwlghg otYyp Ywpnn t GEpYwjwgyt] GGwgwoéGtiph qéwihl YndphGw-
ghwjh dhongnd (M2 2) Jwd wyn hwdwywpqp pwnwgwd t shwy o
wnwpphg (M = 1):

13.3. Swjhl nwwpwénp)wb b EGEGNGEPh hwiwywpgh nwiqp. Adw-
1hG wwpwénpywlb {a', a’, ..., a” | m nwppbiph hwdwlwpgh 2wég t
Ynsynid wjn hwiwywpgh wewybiwagni)d qéwjlnpbl whywhr wwppbph
pwlwyp: "hgnip R" -nud wpdwé t m ybywnpGiphg Yuqigws'
a =(a,.a,,..4a,).a* =(a,.a5,....a5, )....a" =(a,,.a,,,....a,,)
hwiwlwpqp: Wn hwiwywpghl hwiwwwwnwuhuwGnipjwl dbe t npynud

dwuwphgp, nph k —pn uynilp Yuqdgweé t a* Jtywnph YnnpnhGwwnb--
pny: ‘at, .., a’"} ytywnplbiph hwiwywpgh nwlqp hwydwuwp t
Gpw  hwiwwwwnwupuwlG A dwuphgh nwlqhl, dwulwynpuwbu’
{al ,a, ..., a’"} hwiwlwpgp qéw)inptiG wilwlu t, Gpt R(A) = m:

QSwiho wwpwoénpntlp Ynsynid b n -swhwih, tipt Gpuilnud wefw k
n b Gdtbwnbtphg pwniwgwé nplt qdwyGnptl wllwiu hwiwywpq, huy
Gpw n-hg wybiip pynd nwppbiph wikt 6h hwdwluwpg qowjlnptit Yuwju-
Jwi £ n -sunhbwbh qéwjhG nwpwédnpjwb A6Gp (pwqgpu) GO wGYwbnid
w)n nwpwdnipjwl n wwpptiphg Yuqiywd wikt dh qdw)lnplit wolwfu
hwiwywpgp: bpt {€1, €a2... €n}-p wpwdéd n-swhwbh qdwjhl
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nwpwdnipjwl nplt htlp t, huy X —p° wyn nwpwénpjwh nplt b GoGGW,
www {ey, €,,..., €y, X} hwiwlwpgp qéwjlnpl Ywuywy £ L, npbaa,
Gpwpdbipnpbb Ynpnaykl x4, X,, ..., X, pUbip (gnpdwlhgltip), wjlwbu, np
X=X4€4+ X2€3 + Xp€p, wyuhlpl™ X tihdGhwnp YyLGpnidyh puwn {ey, €,,..., €n}
htiGph: Q6wihG wnwpwoémpnilGp Yngymd t woybpe sunpwih, tiph
Jwiwjwywl m plwywld pyp hwidwp GpwlGnd welw £t hp nput m
tibuGGwitphg Yuwqdywdéd qéw)lnptib waywhu hwiwywpg:

13.4. UGgnudp Gnp htiGph: Tthgnip n —swhwbh qdéwjhG twpwdnipjne-
Gmd  wpdwé GO Gpyne hbGpbp. hhGp' {e,e,,...,e,} L Onpp
{e/,es,..., €.} Spwé &G Gnp htiGph wwpptiph GbpYwjwgniiGtpp hhG
htiGph b aGGwGEPH qéw;hG YndphGwghwGbph wbupny’

e,* =Cne +Cr28, + ..+ Cyne,
€, =Cp1€ *Cpe, + .. +Cxpe,

e, =Cpie, +Cpa€, *+ ..+ Cpe, "

n n

Ujn dtpiniénipyniGlGtph gnpéwyphgbtipp gpwlgtinyg uyniGtiph wnbupny,
utnwlnud LGap

€y Cyy-e- €y
Cip Cypee Cp
Cln C’ln - C

pwnwlniup, sybpwubpqwé dwwphgp, npl wlywlmd 6G ApG hbGphg
anphl wlglbynt dwwppg: bpt X bl YnnpnhGwinGlipp hh@

{e,,€,,...,e, } hbGpntd (Xy, Xa, ..., Xn) N—jwlb t, huy Gnp, {e/, €3, ..., €}

htGpnid™ (Y4, Y2, ..., Yo)-0, wwjw hplG L Gnp YnnpnhGuinGtiph uwtipp
npnyntd GG

X1=CuyYyr +Cx¥Y2 *+ ... +* CtVn

X2 = C12y1 + Co2¥2 ¥+ ... + Cp2Vn
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pwlwdlbtpny, npnlg dwunphguishl qpunenidl pGnniGnud t

X, Y N X
X, =C Y, ‘ A =C ’fz
xn y’l y" x"

wnbupp:

13.5. by hmywl nwpwénpyntGGbp: E qéwjhG vwwpwénipiniGp Yn;-
gnid t Ly pywd, tiph Gpw uwiwjwlwb X L y vwwppbphG (Yayunnplb-
phG) npnpwiyh YwlnGny hwiwwwwwupjuwbnipjwa dke t npynud hpw-
Yw0 phd, npG whywanid 66 X L y yehwnplbph vfwywn wpanwnpnwy b
GawGwynid &G (x, y), pln npnud wyn Yulnlp gwllwgws X, y,z€ E L
gwlywgwdéd A ppwywh pyh hwiwp whwnp b pwwpwph hbnbjw) wwy-
JwOGEphG (wpuhndwGhlph).

1 (X, y)=(y. x)

2(x,y*+2)=(x,y) +(y.2)

3 (A, y) = Mx, Y)

4 (x,x)>0, tpix# 0, L (x,Xx)=0, iphx = 0:

9-pn  Yhwnmd  wwhiwGwé uywpywp wpownpup R" -md”
(X, ¥) = Xq¥s + Xa¥2 * ... + XpYn pwdwpuwpnid £ 17 - 47 wuwydwGGEphG:
Cla, b] qbuwjhl tnwpwénipnbp nwnebnud t tdyhnywa, bpt x(t) L y(t)

whplnhwwn pniGlyghwhbbiph ujupywp wpnwnpjwip vwhdwGyh, ophGwly,
b

(x, )= [x(e)y(e)dr

pwlwdlny: tYYhnywl nwpwoénipjulb Ytunph tpywpnepyniGp (Gnpdp)
uwhdwOynud t "x" = ,/ix,x) pwlwalny, dwubwynpwuybu, tipt x € R",

wop x| = x| = X7+ 22 422
dtywninph Gnpul odindwé t htitnbjwy hwinynipynGGepny.
1. "x” =0 wyl L dhwyG wyb niypnid, tpp x = 6

2. "/lx " = I/ll” x" , npuntin A -G hpwlw@ phy t
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3. I(x,yl < Hx””v" (4n2h-PnLbjwlnduym whhwyuwuwpnipinilp)

4 |x+y|<fix|+]y] Untunguyn yws brwGywe wihwduuw-
pnipynilp):

Edythnywl wwpwdnpywl x L y tpynt yGlwnplGepp Ynsgymd GG
onpnanbuy, btpt (X, y) = 0: Uwulwynpwubiu, qpnjuwiwl Yblwnnpl
oppngnlwy t gwlywgwd dtiywnnph:

Unzph-PnLbjwlynqulynt wlhwywuwpnipjnibhg htinbnud t, np gquiyw-

gwoé ng qpnpulwl X L y deyhwnnplbiph hwowp -1 < < Yo <1, ht-
Il v

(x.y)

wnbwpwp’ "x”" y” hwpwptipnepynulp Ywptith t nhunwpytp npwbiu npn-

2wyh wGyywh unuhﬁmu' X by (blpnnpltinh uwqdwd ¢ whllynilp npnp-

|Ix|l|lvl|
Yuwl Jtlwnpbtp oppngnlwy G0, www Opwig Yuqiwd wbalniGp bwyw-
uwp t n/2:

dbYwnnplbtiph {a’, a. ., a"} hwiwlwnap Ynsynd t oppngnluwy,
Gpt Opw dtywnpGtpp qnuyq we qnuyg oppngnlwy &G, wjuhGpl
(a’,a")zo, Gpp 1 # ki Ng qpmuiywl JtluinpGiph oppngnluy
hwiwywpqp qéwylnpbl wolwfu b tdyihnywd vwpwodnpywld a
tibobOnG wiqwanud GG Gnpdwynpdws Gwd dpwynp, tpt |a| = 1: tpt

a-0 ng qpnywwb Jbyuwnp t, wwyw

L O S
<] [a]

Utywnpltphg jnupwpwbgynipp Gnpdwdnpdwéd t (¢blnnph Gopdurdnpnt -
dp): Lnpdwynpdwé yhywninpaliph {el, €1,y e”} hwdwlwpgp Yngynil
t oppnlinpdunynpywd, iph wyl oppngnlwy t, wjuhGpl

0, i#J,

(ei’ ej )= . .

I, i=j,
npnbn 1, j =1, 2, ....n: n - gwhwp by hnywbd nwpwonpjwl pwqhup
(htiGpp) Yngynud t oppninpdwynpywd, tipt htGpwyhG wwpplipp Ywq-
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dnud &0 oppnlnpdwynpywd hwiwlwng: UdkG dp n-swhwbh kdyrthnywb
nwpwoénpjwl o9 gqnynupyntt ntbh oppnGnpiwydnpdwéd pwghu: Gph
{X4, X2, ..., Xp}-p N-swihwbh tYYyhnywb wwpwédnipywl nplt pwqpu t,
www wjn nwpwsnipjwb oppnlnpiwdnpywd pwghu Ywnbih £ unne-
gk htwnbyjwy wignphpiny (Cdpnnp oppngnbwwgdwl nwlwlp). Rwih
np X,z 6, ytipgltiGp -

e = —l—x :
A

®Gupktp e; -0 e; = Xz - Cz1€, wtiupny, pGunpliiny C24-0 wjlhwtiu, np
e; —p LhGh oppngnlGwy e, -hG, wyuhlpl’ czy = (X2, €;): Ljwwnh nlblw-
Ly, np €, = 6, JtipglitGp

UyGnihbinnl thGunpkilp €;-p° €; = X3- C31e, - Caze, nbiupny, pGunptny
Car-0 N Cap-0 wylwbiu, np e; Le, L €; Le,, wuhlpl' C31 = (X3¢, ),
Ca2 = (X3, €, ): Rwlh np e;= 6, pGunpymat

1 ’.
’ e3'
”"’3

Ujuwbiu wpnibwytind L GGpwnpbiny, np ¢, e,,...,e,, oppnln-

€, =

pdwynpywé hwiwywpgld wpntd Yuwemgwé b hGwnpbap e; o
e:, = Xpn - Cn1 €, - Cn2€, - ... -Cpn1€,_, nbupny, pOwnpbigny Cyx gnpoéwlhg-
GhipG wjbwbiu, np e,', -p LhGh oppngnlwy ¢, -hG, wyuhlpl’ Coik = (Xn, €, ),
k=1,2, .. n-1: Ljwwh nGkGwiny, np ¢, = 6 (hwlwnwy nbypnid’

{X1, X2, ..., Xn } hwdwywpqp YihGbp qéw)lnptl Ywhujwy), unnwbnidklp

L,
e .

n

e

’

WS T
|e

n
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13.1. Uywignigli], np qdwjhl thnwpwénipywb qpn twppp dhwya t:

13.2. Uwwgnegll, np qéwjhG wwpwénpjwlb gulywugwd tkdtGunnh
hwlwnhpp dhwyG t:

13.3. 8nijg nwy, np qéwhG wpwénpjwl quliwgwé X tidLGnh
hwdwp 0-x = 6:

13.4. 8nyg wuwy, np (-1)-x = -X, npuntin (-X) -p X -h hwywnhp t1b-
066G t:

13.5. 8nijg wy, npA-6 = 6:

13.6. Uwuwgnigtip, np A-x = 6 hwywuwpnipjnitlp wbtnh nbh wyl L
Ghw)jb wyl nbwpnud, Gpp A =0 Yud X = 6:

13.7. 3wlnhuwGni®d t wpnynp qéwjhG twpwdnipynild pninp Gpypnpn
Ywpgh pwnwyniup dwwnphgbbiph pwqinep)nip:

13.8. 3wlnhuwlnt®d t wpnjnp qéwihG wwpwédnipntG pninp hGwpw-
ynp pwqiwlnwdGtph pwqdnipynclp, npnlg Ywnqp dtid st tiptiphg:

13.9. Uyuwgnigty, np R" -p géwghl nwpwénipyniG t:
13.10. 8nug viwy, np Cla, b] pwquinipynilp géwyhG nwwpwénepynih t:

13.11. 8nyg wnwy, np 6 tEiGGp WwpniGwynn YeywninpGph wika dh
hwiwywnpq qdw)Gnpkl uwiuywy t:

13.12. Uwwgnigti, np bpk {a',az,...,a"} hwiwywpgh nplt k tib-
GGG Gbp qéw)lnpbb Ywiuwy 66, wwyw wipnng hwiwlwpgp Lu qéw)-
Gnpt0 Ywhujwy t:

13.13. Ungwgnigby, nn bpb {a'.a’....,a" } qbuyinnbl whwh hudw-

Ywpghg wpnwpuybl Gpw nplt k (k < n) fbdGGnGEp, wyw GGwgwé
yEywnpGbph hwiwlwpgp bLu Y hap qdw)anptl whlywfu:
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13.14. Uwwgmgti, np Cla, b] qbéwyhG wnwpwénpinGd whytipg
swihwh t:

13.15. Ywnnigtp R" tnwpwénipyjwG nplt htGp:

13.16. Tgmp M-p X =(x;, x,,0,0) wbuph (x,;€R, j = 1, 2)
pninp hGwpwynp  upquynpywé  pwnjwlGhph  pwqdnmpynca
FwlnhuwOnl’d t wyG qéuyhlt wwpwsénpjmlG, btpbt  plnneGhlp
x+y:(x| +y|’x2+y2’0’ O)' Ax:(MlvM:aO’ 0)

13.17. dhgnip M-p x =(x, x,, 1, 1) wnbuph (x, € R, j =1, 2) pninp
hGwpwynp Yuwpgwynpywd pwrjwlitiph pwqinpntGa b Jwlnhuw-
Gn"d t wylG qowhG wwpwonpinG, tpt wjlunbin qnpdnnnipyniGhlpp
uwhdwybG hGswybu R* -nud:

13.18. 8niyg wwi, np dhGsk n-pn Ywpgh pninp hwGpwhwwlu
pwqiwbnwdibbpp pwqimp)nilp qéwihlt wwpwénipynil t:

13.19. Ohgnip M-p x =(x,,x,) wbuph (x,€R, x,>0,j =1, 2)

painp hGwpwynp Yupgudnpwdéd qnuygtph pwqinep)nill b 3wlnhuw-
Gnu"d b wyl qoéwhG wwpwonepyntl, tpt panniGtGp

x+y=00y,0y.), r=(x,x5):

13.20. Ywpn'n t wpnnp qéwhl nwpwénipnilp pwnywgué (habg
1) oty k bokhwnhg 2) tpyn vhwpptip b EUGGUGOGPhG:

13.21. fhgnip nplut qéwjhG wwpwénpintbhg wnunwpuywsd bt Gpuw
nplt X wwppp: Yhwinhuwlw” wpnnp Qéwihl tnwpwoénpntl unwg-
Jwé pwqinipynilp:

13.22. Thgnip npbt qéwyhlG viwpwémpinibhg wptnwpudwé t Gpw
wnwppbph nplt wlybpe Ghpwpwqinipnil: Ywpn™n b wpynp uinwgybi
qOwjhlG wwpwénpynih: Ptpt] hwdwuwwuwwufuwl oppGwyGtp:

13.23. COwnplny hwiwwywwnwuhuwd qnpénnnipyntGhGbpp, gniyg nwy,
np mxn swubph pninp dwunphglbiph pwqinupnilp qéwjhl wpwoént-
pintl t:
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13.24. 3wlnhuwlnm®d t wpnnp qéwjhl wnwpwénpynta O(0, 0, 0)
uyqplwytwnny L wowehl oyunwbwninid gunbGynn pnpnp Bpypwswihwlywb
Jtyunplbph pwqinipynilp:

13.25. 3wGnhuwlnt”d t wpnynp qéwihG nwpwdnpintl
ax+tby+cz=0
{a2x+b2y+c2z =0
qéwsht hwywuwpnuiGtiph hwiwubn hwdwywpgh pngnp nénLiGEph
pwquinipynilp:

13.26. Uwuwgnigly, np X, Y L Z hwidwhwpp YLYwnpGtpp qéwjGnpbG
Ywhyw, &G, huy x, y L z ng hwiwhwpp yYywnpGlipp® qéwjlnpkG
whywpu:

13.27. N°p nbiypnid 13.19 hulnpnid uwhdwbdwé nwpwénpjwlb Gpynt
ytywnplbp Y ha6a qdwjlnptib Yufujwy:

13.28. Uwuwgnigliy, np R’ -nud Juwiwjwlwb snpu  yt{unpbtiphg
Juqijwd hwiwywnpgp qéw)Gnptb Ywiuywy t:

13.29. Muwpqb|, qéwlnptiG Ywhyw} b wpnynp YGhunnplGeph htinbyw
hwiwlwpqp.

Ha=(1223), a,=3,6,7)

2)a =(4,-2,6), a,=(6,-3,9)

3)a =(2,00), a,=(0,1,0), a,=(0,0,5)

4 a=(001,a,=(112).a,=(212)

5 a,=(2,-3,1), a,=(3,-1,5), a, =(1,-4, 3)

6)a=(LL1),a=(,212),a,=3,13,1), a,=(0,1,1,0)

7) a,=(4,-5,2,6), a,=(2,-2,1,3), a; =(6,-3.3,9), a, =(4,-1,5,6):

13.30. dtipinudty ¢ =(2, 4, 4) bywnpG pun Gutunpn fuGnph (1) hw-
dwywpqgh:
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13.31. 8nyg i, np tinlpnpnhg ng pwnén Lungh pinp pwqiwlnwd-
Ghph qéwjhG wpwénpjwh kg P, =1+2t+3t*, P, =2+3t+4t*,

P, =3+5t +7t* nwppbipp qéw)Gnnpbl Yuipujwy GG:

13.32. Qulbk; A wwpwditinph pnipp w)G wpdtipGlipp, npnGg hwdwp
b=(7,-2, A) Jtyuinpp qéw)lnpl wpwnwhwynynud t a, =(2, 3, 5),
a,=(3,7,8), a, =(, —6, 1), hwiwywngh dhengny:

13.33. Uwwgnigh, np  btpypnpn  Yuwpgh pnpnp dwwphgbbiph
nwpwoénipjwlb vty

1 0 0 2 0 0 0 0
e = , €, = , €y = , €, =
00 00 30 0 4
dwunphgltipp Ywqdnid &G pwqhu:

13.34. Uwwgmgtki, np 10.19 pbOnpnud uwhdwbwéd nwpwénpjwl
g ¢ =(1,10), e, =(10,1) yblywnpGipp Yuwqimd GG pwghu
dbppnot puwn Gpw x = (2, 3) ybyuwnpp:

13.35. Uywgnghki, np R" nwpwénipyniinid pwghu t hwnhuwsGned
ytywnpGhph htinnbkjw; hwdwlwpqp
¢=(LLL...L. D, =0QLL...L,..., ¢,=000..L], =000..0):

13.36. 3Gwpwyn’p t wpnynp hhG L Gnp pwqhulGbph dhol hbwnbyuwy
Ywhudwoénipynilp. e =e, —e,, €, = e, —€,, €; = €, —¢€,:

13.37. {e,, €y, .uy e,,} pwghunid wpjwé x =2(e, +e, +...+e,)
dtywnpp Ybpinéti puwn (e, e; ,....e, } puqhuh, bph

e, =e te, (j=12,..,n-1), ¢ =e, +e:

13.38. utip|nuét| x-G puwn {e; , e, , e;} pwqhuh, bipt hwjnGh t, np
x=3e,—2e,+e,, e =-3e+e,te,, e,=2¢ —4de,+e,,
e, =e +3e,—5e;:
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13.39. Oxy YnnpnhGwwwihG hwiwywpgp wunwnwdé t pp uyqplwlytinh
2nipep (dwdwgniygh ujwph nunnnipjwdp) o wiyywh swnd: dbppneodt)
a=(x,y) dJtyunpld pun YnnpnhGwwnGlph Gnp hwdwlwpgh, bpb

a =30° 45°, 60°, 90°;

13.40. Thanip {¢,, e,, e,, ¢, } pughuntd tpqué b x=(1, 1, 1, 1) 4by-

wnpp: dbpnétp x -G pun {e,, e,, e;, e; } puqhuh, tipk Gnp puwqhuh
wbhgnudp wipymad t

.—y._.y._.o
e = N
o;—n.—h—

1
1
0
1
dwwnphgny:

13.41. Mgnp x=Ce+Ce,+.+Ce, L e =ke (k=12 ..,n):
Qunlb; x ybywnph {e; ., e;....e.} pwghund &/, &5, ... & Unnpnh-
GwwGtph b §, §,, ..., §,-tiph Shel Ywwl wpnwhwjnnn pwbwdbbpp:

13.42. YhwGnhuwGw” wpynp tdYyhnjwl wwpwénpind pninp tiply-
pwiwhwlwh JbyunnpGiph pwqinigynilp, tpt ujwpywp wpnwnpjwip
uwhiwGkop npwbu YtYwnnpbbph GplupnepnlGbbph wpunwnpywyg:

13.43. Yhwinhuwlw® wpnnp tdyihnywl nwpwénpintd pngnp Gply-
pwswihwlwb ybyunplbpp pwqlimpyniGp, tpt ujwywp wpnwnpjwip
uwhiwbbOp hbwnbywi Yhpy

(a, b) = |ajMn,b:

13.44. M-p x=(x,x,) wbuph (x,€R,x;>0, j =1, 2) pninp
hGwpwynp Yupquynpjwé gniqliph qéwjhG nwpwénipiniGl t, npunbn
x+y=(xy.,x%y,). Ax =(x,’l, x;): Yhwlnhuwlw® w)G tYyihnyw
wwpwénipinil, bpl (x,y)=Inx Iny, +Inx, Iny,:
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13.45. QunGt| dpwynp Gpywpnipjwl dbywnp, npp thGh oppngnlwg
htwnbjw yywninpllph.

Hx=(,-2,1), y=(2,-1,-1)

2) x=3,6,1), y=(-4,-2,1)

3) x=(6,6,3), y=(—4,-1,1)

4) x=(1,-10, 2), y=(2,-5,-2)

5 x=(3,6,3), y=(-2,-1 1)

6) x=(-5,10, 3), y=(2,-1,-3)
NHx=G-L-4,-1D, y=(-3, L1, z=G,1,-1,-3):

13.46. OppnGnpdwynpbip hbinbyw| pwqghup.

1) x=(1,0,1), y=(1,1,2), z=(2,1,2)

2) x=(,2,1), y=(,1,0), z=(2,2,1)

3) x=3,4,3), y=3,1,0), 2=(6,4,3)

4) x=(2,-2,2),y=(2,-1,0), z=(4,-2,2)
5) x=(1,2,3), y=3,0,4), z=(1,0,1)

6) x=(1,3,5), y=(0,1,0), z=(2,2,4)

N x=(1,0,2), y=3,1,2), z=(5,0,4):

8) x=(-1,6,1), y=(-1,3,0), z=(-2,6,1):
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14. QBU3PL Q6dUDNUNFHB3NELLEN: RUAULNIUUSPL bJEN

14.1. bpti L qSwjhG wwpwénipjwl gullywgwd u ybywnnphlG npnawyh
Ywhnlny hwiwwwunwuuwbnipjwb dkp t npwé wyn GnuyG twpwont-
pjwl dhwly v dbywnpp, www wuntd GG, np npwé t L qéwjhlG nw-
pwénipjwlG @ duwihnfunipintt (owbtipwwinp) L qpwagnud GG v = @ (u),

Ywd v = @u: v yihwnpp Ynsynid £ u Jywnph wwwnybip, huy u-G* v-h
Gwfuwwyuwinltlr. L qéwiht wwpwénipjwl ¢ duwihnfunipiniGp Ynsynid
t qduyphl dbwhnfunipinilG (@ouyhlG owbpunnp), ipt gullwugwéd u,, uy,
ue L bugwiywgwéd hpwywh A pyh hwidiup yuwnwpyws ta
1°. @ (uy+u) = @ (uy) + @ (uy)
2°. ¢ (Au) = A0 (u)
wwjdwaGepp: Yhgnip n -swihwlh L géwhG nwpwdnpjwl @ duwdhn-
funipyniip wpnwwwwnltpad t hbGpwjpa e, e,, ..., e, Jthunpbtipp
hwiwywwnwuliwGwpwp €/, €5, ..., €, aynnpGtphG, wjuhGpl’
e =gle) e =p(e) .. € =p(e,)
dtpohG  gtywnplGtphg  jnupupwlygmpp dpimédmd t - pun
{e,,e,,..,e, }htlph
e, =aye +ape, +...+ape,
€, =aye +ane, +..+aye,
e =age *ape, +..+ape,.
Anipu qpbipnyd e; dtywnph YnnpphGunGipp k-pn uywG wnbupny
(k=1,2, ..., n), unwbnu tGp

a,, ay a,
a, a a
12 22 n2
A=
aln a2n ann
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dwwphgp, npp Yngdnid t @ dbwnpnfumpywl dunnppg {e,, e,, ..., e,}
pwqhunud: Upuwhuny, witd dh Qéwjh0 duwhnfunipjul wnpdwsé pwqh-
untld hwiwwywunwupuwbnid t npnwyh dwwphg: Ghan b Gwb hwyw-
nwyp. gwlGywgwdéd n-pn Ywpgh B dwwphgh hwiwwwwwufuwGnid t
n-swhwGh mwpwoénpjwl npnwiyh qéwiha duwihnfunipjnil, nph dwwn-
phgp wpdws pwghumd B-6 t: {e, e,, ..., €,} pughuntd u yaywnph L

Gpw v =@ (u) ywwntiph dhel Yuwwp gpynid t

Y a, a, .. a, X
Yo | _| Gz Gy e Gy X5
yn aln aZn ann xn

dwwphgwshG  hwjwuwpning, npbn U = xe +x,e,+...+x,¢€ ,
v= ye+ye,+...tye,, hujy A-G @ duwhnlunipjwl dwwnphgh t: Gpb
@ OLwihnfunipjwlp {¢, e,, ..., ¢,} hhl pwqhund hwiwwwunwupuw-
Gnud t A dwwphgp, huy {e/, e, ..., €.} Gnp pwghund” A* Gwwphgp,
www wjn dwinphgbtipp Yngyned GG fdwd L ShijwhGg hbwn Yjwwydws 6O
A* = C"-A-C wnGsnipjwiip, npubin C -G hhG pwghuhg GnphG wGglhint
dwuwnphgl t:

14.2. Q6wihG duwihnfunipjwl ubthwywld JboyunnpbbpG nt ubhwywh
wpdtipltpp: A phdp Yngynd t @ SLuwpnfunipywl vbhwywl wpdbp,
tipti gnjnLpjnLlG nLGh ng qpnywlwb u yywnp wyGwhup, np

@ (u) = Au, (1)
L wyn nbypntd u Jeywnpp Yngdnid £ @ duwpnfunipjwt vhhrwlws blY-
winp: Gpt @ duwihntunipjwlp nplt {e,, e,, ..., €,} pwghunid hwiw-
wwunwuhuwGnd t A dwwnphgp L u = xe +x,e,+...+x.¢e,, wyw (1)
hwyjwuwnnudp Ygpyh
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X
(A - AE)- =

dwwphguihG nbtupny: UjG hpkithg Ghiplujwglmd t qéwjhG hwywuw-
poudGtph hwiwubin hwdwywpg, npG nGh ng qpjuywl (nednd wyb b
Ghwj0 wjl nbwpnid, tpp hwdwlwpgh griuwynp dwwnphgh npnzhsp’

a,-A  ay, a

A-h Gywwndwdp n-pn Ywpgh pwqiwGnwsd hwGnhuwgnn | A - AE | npn2h-
+0 Yngdynud t @ duwdhnfunipywl Ywd A dwuwphgh plnipwanps pwqduwl-
nwd: Uyt ywhdwé st pGunpywé pwqhuhg, pwih np GdwG dwuwphgbbiph
pGnipwgphs pwqiwlGnwiGtpp hwdpGyanud GG 6pt ¢ qbéwjhlG dLwihn-
funipyntGhG nLGh qniyq wn qnijg hpwphg twpptip A4, Ay, ..., A, ubthwlw(
wpdbipObp, www Gpwig hwiwwwwnwufuwlnn yy, Uy, ..., Uy ubithwlwb
Jbywnpltpp qéwjlnpbl wGywiu BG, L @ dLwihnfunipjwG A Gwwphgp
{uy, Uy, ..., Uy} puqhuntd utnwOnld £ wewyby wwpq'

A 0 .. .. 0

0 A 0
A=

0 .0 A,

whyntGwqéwhG nbup:
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14.3. Ruwnwyniuwjhb dubp: pypnpn Ywpah Ynptiph (n = 2) L Gpypnpn
Ywpgh dwybplnyplbph (n = 3) pGnhwOpwgnulp pbpnud £ n hinhnfuw-
YwbGbtphg pwnwyniuwihla dup hwulwgnipjwlp: X4, X2, ..., X, thnthn-
huwlywaGtiphg pwawyniuwhG b wlhwlnuld &G

f=1f(X¢, X2, ..., Xp) = Z Za,]x,.x, (2)
1=1 j=1

wpuwhwjnnepnGp, npuntn (pGnbwbpnipinibp sluwtuntinyg) npynud GG
a;=4a;; (1, =1, 2, .., n) hwlwgwthnipjwl wwjiwGGtpp: Oquwgnpét-
tny

a, a, e a,,
i Ay gy e a,,
X T o v A e,
X = X =(X1,X2,...,Xn), Am| e
X
n A, Gy e a,

GwGwynuiGtipp, (2) pwowyniuwhG dup Yuptith t gpbg f(X4, X2, ..., Xg) =
=x"-A- x dwwnphguyhl nbupny: A updbunphy (A" = A) dwuinphgl wi-
qunid 66 (2) pwawlnivuypl dbh dunnphg, huly R(A)-G" wyn pwnw-
YniuwjhG duh nwlq: bpt R(A) = n, wyw (2) -G wiywbnid 6 sytipw-
ubpywé pwnwlniuwihG dk: Gpt Q-0 n-pn Ywpgh sytipwubpdwd dun-
phg b L ywwwpyws t hnhnfuwlwGlph x = Qy qéwhG dLunhntunt-
pinulp, www Gnap’ Yy, Y2, ..., Yo hnthnfuwluGitph dhgngny (2)-p ptp-
gnud b f(Xy, X2 ..., Xn) = 9(Y1, Y2 ..., Ya) = Y By wntuph, npuntn
B =Q"A-Q, plin npnud’ R(B) = R(A): UwuGwynpwpuwp, tpk by, = 0, tipp
1 # j, wyw wunud GG, np f pwowyniuwgh0 dbp Q sytipwubpywé qowh
Suwthntumpjwip plipdby t 9 YwilnGwlwl wnbuph (huy A dwwnphgp” B
wiyntbwqdwihl wbuph): Spywéd pwnwyniuwihl dkp Yuwlnbwlwh
nbiuph Ywpbih b ptiptp wwppbp GnwawyGtpnyg, wybipl, Gpw Ywinbw-
Ywl whupp shwyp st Gpb B-G L C-0 (2) pwnwyniuwghG dLh Gpyme
nwpptp YuwanGwywl nbuptiph hwdwwywunwujuwd (wiyplbwqdwih)
Gwwnphglbnb 66, www pwgh wyl, np R(B) = R(C), hwdpGybnid &G Gub
B L C dwwphglbph ppuwywl (nptidh’ b pwgwuwwa) tbdkGunGtph
pwlwlotpp (pGbpghuyp opbilpp): A (ng qpnjwlwl) dwwnphgny pwnw-
YnruwghG abp Yupbh b pbptp yulnOwlwa wntiuph, ophGuy, thnthnjuw-
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ywhGlph pwnwynwuhGtiph hwenpnwywl whowwniwbG Jdheongny: btpb
dwwphgh a;, wllynbwqéwiht tLdkGnGephg qnGt OLYp qpnjhg
wnwpptip t, ophlwy, a # 0, www Ywwnwpbing yy = agXy + a5Xy +
+ .+ A1Xp, Y2 = X2, ..., ¥n = Xn QOugh0 dhwithnjunipjwl hwlwnwpd
SLwihpnbuntpynilp unwOnid LG

1 ”
h(y2, ..., ¥n) = (X4, X2, ..., Xp) - — (@nXy + QX + ...+ 34pXp) 7,
all

wpntl n — 1 ginthnfuwywGGtpng h pwnwynwuwghG dup (wipwwnybp b w-
nwphl thnthnfuwlwbh pwnwyniupb): bpt dwinphgh pninp walynilw-
qéwjhb LEUGGnGEpp qpnbbp 64, L, ophlwy a,;, # 0, www Owhu Yu-
wnwpyntd £t odwlnuly pwy” X4 =2y — 23, X2 =21+ Z5, X3 = 23, ..., Xp = Z
qowyht dbwihnfunip)nilp, unwbwiny 2,2 -nt nsg qpnjuljwld gnpéwlyhg,
wjlnithbinbk’ wpnbb Gywpwgopwd dbny, wlpwwnymd t uyn thnihn-
huwywbh pwnwyniuhl: LOwO bnwlwyny, hwenpnwpwp wiownbiiny
Owl djny hnipnfuwwGbbph pwnwyniuhbbipp, unwand G0 pwrwynt-
uwjh0 abh YubnGuiwh nbupp: (2) pwrwyniuwhG dup (Gpw A Jwwnph-
an) Ynsdnd t ppwlwl npnpjuy, Gpb f(X,, X, ..., Xp) > 0 wikh dh ns qpn-
Julwl x-h hwdwp: Ypwlwh npnzjw) pwewyniuwihb dup syipwutipwé
t, puy Gpw QulnGwlwl wnbuph hwiwwywwwuprwb Jdwwnphgh poinp
wayniGwqswyhb b boGGwnGEpp npwywb pytp G0: Npwtiugh pwrwym-
uwjhG alp (hGh npwlwh npn2jwy wihpwdtn t b pwywpwp, np Gpw A
dwwnphgh htinlywy’

A = A = a;, 4y
1 - '-l“| = g een s
a, a,
a, a;, ... a,, a, al, ...... a,n
d, a, ... a,, ag| A, ... a,,
Ak = ’ Au= .......................
a“ Aps ooneen (l“, a,,, a", ...... a""
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(qutuwynn) dhGnplbpp (hGGG npwywh (Updbunph wuydwlp): Gpb
f(X4, X2, -...Xp) < 0 Ywdwjwywb ny qpnyuwlwl x-p hwdwp' wyuhGpl
(-f-p npwywl npnwy b, www -6 widwlnd 66 pwgwuwlywl npnyuy
pwrwynwuwhG aL: Wn nbwypnud wbinh mGsG A, <0, A, A,,, <0,

k=12, .. n-1, yudwlatpp:

14.1. 8nyg wnwy, np @ (u) = au, a € R, dLwthnfunip)niGp qéwyhG t:

14.2. Ghgnip @(U) = U + ug, U, Uy € L (up #6): Q6wyh™a t wpnynp
uwhiwOywé dbwhnfunipynilp:

14.3. Thgnip npdwé t Gpypwswhwywh Jeynnplbtpp qéwjhl wwpw-
onpjnilp: @ dLwdhnfunipynibp jnipwpwginup yiluwnph hwiwwwunwu-

howGbglnud t Ox wnwbgph 4pw hp pwnwnphgp: 3wOnhuwGnl®d t
wpnnp @ -0 qdwjpl duwhnfunipjniG:

14.4. Thgnip u-0 bpypwswhwlwa ybyunnp t: G6wh’G t wpnnp
@ (u) = |u|-u dLwihntunLpynilp:

14.5. Yhgnip u = (1, u,, Uy, Uy, ug)-h hwiwp @, u,, uy, u,, us)=

=(uy, Uy, Uy, Uy, ug): uwha t wpnnp wyn duwihnfunipyniGp R3-nud:

14.6. ¢ -G q6wjhG duwhntunipynil t: Iwingyby, np W (1) = @(u) —2u
dLwthnfunipynilp GnuyGwbiu QéwjhG t:

14.7. Oxy YnnpnhGwinwhlG hwppnipjnilp wwnwé t hp ulyqplwlybnh
2nipep (dwdwgnegh upwph nuinnnpjwdp) & wilywh swehny: YSwh’a t
wpnynp wyn duwhntunip)nilp:

14.8. QG £ GnuyGwlwh duwihnfunipywl dwnphgp R” -nui:

14.9. Qunlit; @ x = ax duwthnfunipyjwl dwwnphgp R” -nud:
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14.10. R*-nud wpyuwo t {e, e,,e,,¢,} pughup L Qe =e, +e,,
Qe,=e te,, Qe,=e,+e,, @Qe,=e,+e, hwjwuwpnpniGbbipny
npnadnn @ qowyhG  dLuwihnfunipynibp:  QunGkp, @ u-G, bphk
u=xe +x,e,+xe txe,:

14.11. @ qbéwshG dLwihnfunipjniGp YuywlGmd b GpwGmd, np Oxy

YnnpnhGwwwihG hwppnipjnilp wywwnnd £t hp ulqplwybinh 2nepep
(dwdwgntygh viwph ninqmipjudp) & wilywd swihny: bk win
dLwihnfunipjwl dwwnphgp:

14.12. Nhgnip u-G (e, e,,e,,e,} puwghumd Gbpywjugymyi t
u=xe +xe, +xe +xe ntupny: Iwdnqybii, np Pu=xe +xe, +x.e +xe,
dLwihnfunipynilip qéwihG t L qunGh| Gpw dwwnphgp:

14.13. @ qbwjhl SLhwdhnfunipynlp YwywGmd t GpwlGned, np Oxy
YnnpnhGwtnuwiht hwppnipjnip wwwnnd £t hp uyqplOwlybtinh 2nipop
(dwdwgnigh upwph ninanipjwidp) @ wilywld  swhnyg:  QnGhp
(p2 +\/5(p+8 Lo+o@ ' dLwthnfunipyniGGph SwwnphgGtpp, bpt € -p
GnyGulwl dLwdwnfunep)niGa t:

14.14. R’-ma wpdwsé  BG @o(x,y,2)=(x+y, v+2z,z+x) L
Vx,y,2)=(y+z, z+x, x+y) duwhnpumpnilltpp: b @y L
Yo dLwihntunipynihGlph dwwnphglbpp:

14.15. Tthgnip tplswih Jtyunnplbph wwpwénpintind vwhdwidwd
G0 @ L ¥ duwihnfunipyniblbpp: nGhp @y L Y@ dlwhnfunipyniGht-

nh dwwphgltipp, tpb
1) @ -G jnpwpwlynip tywnnpp hwiwywwnwepuwbtglnid t Gpw

pwnuwnphsp-OXx wnwigph Ypw
2) y -0 wdkO dh JEYwnp hwjbw)ht wpinwwwwnltipad b y=x ninnh
GYwndwadp:
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14.16. R° -nud wipdwsé t @(x, y)=(x+y, 2x+2y) qéwjhl duwthn-
funtpynilp: QunGb; @ ~' -p:

14.17. @ qoéuwyhl &Lwihntunipynilp YuwjwGnid t Gpwhned, np Oxy
YnnpnhGwuwwjha hwppnipjnibp wwwnud £ hp uyqplwlybinh nipop (dw-
dwgnigh upwph ninnnpjwldp) & = 45" wilywl swginyg: dnlbp hwlyw-
nwnd dbwhnfuntpjwl dwwphgp:

14.18. A wwpwdbnph n°p wpdbph nbwpnd R*-nud npnaquwé
O(x,v.2)=(-2x+y+z.x=2v+ 2z, x+ y+ Az) qduyhl dLw-
thnfunipjwl hwijwnwpdp gnynipjnil sniGh:

14.19. Qulbt; wyl qbéwjhG dLwihnfunipynilp, npp u, = (2,0, 3),
u=04,1,5), us= G, 1, 2) ytywnpltphl hwiwwywunwufuwbtighnd t
vi=(, 2,-1),v;=(4, 5,-2),vs=(1,-1, 1) ytyunnpatipp:

14.20. QunlGb; qéwjhl dLwinfunipjwl ubthwlwl wpdbplbpt no
ubthwlwhb ysywnpbbpp, Gpb w)l wnnpynid t hbnbyw dwwnphgny

Gf@ 0) (e =B} (-4 0) (6 -4
(o0 ) o5 ) o[

300
5)(l 6) 6) 2 2) 70 3 3 8) (1) 062:)
7 2 2 5
11 3 0 08 0
2 3 7 1 -2 2 -4 4 1
91 2 4| 100-2 0 0] 11)] 0 1 O
1 1 3 2 0 2 0 0 1

14.21. @ qbéwihG dLwhntunipynilp YujwGnid t GpwGned, np Oxy
YnnpnhlGwuwwhld hwiwlwpgp wuwnd t pp uyqpluwybnh 2npep
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(dwdwgnijgh upwph ninnnipjwdp) @ wllywh swhny: PGy Yupbh t
wub Opw ubthwywh wpdtipGbph dwup:

14.22. Qhuntlwind @ qéwjhl dLwihnfunipjwl ubithwlywl wpdkplbpp
quGt| Gpw hwhwnwpd @ ' dLwthnfunipjw( ubithwiwb wpdtipGbpp:

14.23. dwpdnipjmii 14.20. -h 3), 5), 6) dwuwphgltpp pliptg
wbyynibwqdwjhl wnbuph:

14.24. Mwpqbi|, npwyw'6, pt" pwgwuwlwl t npndwé htwnbyuy
pwnwyniuwihb dlp.

1) x} +2x,x, +2x; 2) x7 +2x,x, +x; 3) x\ +4x,x, +2x5:

14.25. Ywquit) htinbjwy pwnwyntuwghl dbh hwiwwywnwupuwl Jwwn-
nhgp.

1) x; +6x,x, +10x;

2) —x} +2x,x, —4x;

3) 7x; —4x,x, +6x; +5x —4x,x,

4) = 3x] +2x,x, —3x3 +5x] +2x,x, —2x, x,

14.26. Oquiytiny Uptytuwnph hwpnwGhyhg wwpqby, npwlw G, pb”
pwgwuwlwi t npndwd hbinbyw) pwnwyniuwihG dup.

1) x} +4x,x, +x3 +3x] + 2x,x, +2x, x,

2) 2x, 0, + 20,0, +2x, X, +2x, x, +2x,X, +2x,X,

3) 2% + 2x, x5 + X7 +3x] + 20, x, +2x, X,

14.27. 3bwnbjwy pwnwyniuwghG dup ptiptp ywbnGuywb nbuph.

1) x} = 6x, x, +2x2

2) 4x} +2x, x,

3) - x} +2x,x, +4x]

4) 4x, x, +3x22 + 3)(_,2 —2x,%, +4x, x,

5) 6x; —4x, x, +5x; +7x} +4x, x,
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15. @OU3bL ULIUYLLUNrNFULENP IUUUYUNrGED

15.1. YhwwpykGp X L y tpym whhwpnnyd qéwjhl whhwywuwpnil-
Gtiph
ax+byzc
a,x+b,vzc,
(1)

a,x+b y2c,

hwiwywnpgp U K-ny GowlwybGp wn hwiwlwpgh (nuéncdGliph pwqdne-
pinilp, wyjuhlpl™ M(x, y)e K, tipt (x, y) qnyqp pwywpwpned t (1) huw-
dwlwpgh pninp wlhwywuwpnudGbphG: Yhuwpytlp twbk hwiwwyw-
nwfuw@ hwiwutn whhwjwuwpndbtph

ax+by=20

a,x+b,y20

..................... (2)
a,x+b, y20
hwdwlwpgp' (nénuibtph Ko nppnypny b hwyjwuwpnidGbiph
ax+by=0
a,x+b,y=0
| (3)
a,x+b y=0

hwiwubin hwiwywpgp' ypnudmdGeph L whpnegpnd:

15.2. Lnpdw hwdwlwpqbp: 36w)hl wihwywuwpniibtpp (1) hwdw-
Ywpgp Ynsgynd t Gnpduy, tipt hwlwwywwnwubuwl hwiwubn hwywuw-

pnudGbpp (3) hwdwlwpgl ntGh dhwylG qpryjuwluG (peond” L = {O(0, 0)}:
Unpiwg hwiwywpgh (nudmdGtph K whpnypp sh wywpniGwymd ninhn-
Gtp L, hGwnLwpwp, bpt K-0 ququplbp smbh, www hwiwywpgl

126



wlihwiwwbnbh t: UGwgwd nbwptpnd® K = {Z: z = p + q,
Pe (A,, Az,...,A,\,>, Qe K}, npuntin A, A,,..., A, -tipp K -h pnop qu-

quiplpl &G, huly (A,, Az,...,Ak>-ﬁ‘ GpwGg manighy pwnwipp: K -h
ququpltipp quimd GG 9-pn pwdlnd GYwpwgpwé bnwGuwlyny
(tneénud GG Gpyne hwywuwpnuitlphg Yuwqidwéd pnpnp Gopwhwdwywnp-
qlipp L pOwpnud wyG (nénudGbpp, npnGp pwywpwpnd 66 (1) hwdw-
Yuwpghb): Lnpdw] hwiwlwnpgh hwiwp K-G0 Ywd hwdpGyaned £ O(0, 0)
ytwnp htiwn, yud O uyqplwytinny Swowqu)p t, jwd O ququpny
waynila: Snipwpwbsgnip YnGypbinn nbwypnid 8qpuinudp Yuptigh t Q-
nwpt] wyjuwbu. (3) hwiwlwpgh wewehb ninnp dpw pGunpydnid t qpn-
jwiwlhg wwppbp npbt C(Xo, Yo) Ytin: Uwnignidng wwpqynud L,
wwwnlwint'd t wpnnp C-0 Ko-hG, wyuhlpl pwdwpwpnl’d t wpnnp
(X0, ¥o)-0 (2) hwiwywpght: bpt C& Ko, wuyw OC Swnwquypp sh dwu-
Guygntd Ko-h dLwynpiwbp b uinnigyned £ Cy(-Xo, -Yo) Ytinp: Gpb Guk
Ci¢ Ko, wyw wnwohl ninnhg Ko-p dbip ny qpnywiwl Ybinbp syuwb:
UjGnihtwnb, Gowh duny pGwpdnud t Ybwn (3) hwdwlywpgh Gpypnpn ninnh
dpw U wyil: bpt ng dh nunnp Ypw sqinlytig Ko-hg ng qnnjuljwl Ytw,
wyw Ky = {0(0,0)}: bpb qulytig wynwhuh by Yt Be K, wwyw Ko-0
OB Swpwqupl t' Ko = (Z: z = t b, t > 0} bpt qulytghlG wynwhuh
Gpym yewbp” By L B, wwyw Ky-G OBy L OB, SwnwqupGtpny
Juqiywé walynaa t Ko = {Z z= t1b1 + tzbz. ty, t22 0}

15.3. QSwjhG wlhwywuwpndGtph ng Gnpdwy bwdwlwpqbp: Uu
nbwpnud L # {O(0, 0)}, wyuhGph (3) hwiwywpgh pninp hwywuwpnud-
Gbpp hwppnepjwl Yypw npnznid BG ShuGniyG ninhnp, nph Ytwnbpa b hbGg
Yuquintd GG L pwqinpynilp: bpt PeK, QelL Lz =p + q, wyw Ze K,
wjuhlpl’ K-0 2tpwn t: Uyn 26pinp Gywpwgpbpm hwiwp wbwnp t ytipglb)
Gpwh hwwinn U L-pG ng qniqwhtn T' ninpnp (hwpdwp t ogquiwgnpéli
X = 0 Jwd y = 0 nunpnGtiphg dkyp), Gt Gpw [k htinpp (K 2bpnmd
pGYwé hwnydwép) L wyn niwpmy’ K={Z:z=p + q, Pe I'k, Qe L}):
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15.1. Mwpqb|, pt wihwywuwpnuiGpp hwdwywpgbiphg npn’Gp GG

Gnpdwy, huy npnbp’ ng.

3Ix—-yv-420

1) { 2lx—-7v-620 2) 4

X oy
-—+=+120

-2x+y-120
2x-3y+6=20

2x+v-5<0

R AT DY 4)
2 4

x+2-1<0
2

x-2y+6<0
-x+2y+220
x-2y-20<0

5) < 6)

16.2. Qun0h) htiwbjw|] wihwywuwpnuiGtiph hwiwlwpgny npn2dwéd

tnhpniyph pninp ququpbtinp.

x+y+120 -x+3y-9<0
1) {x-2y=-220 2){ x—2y+120
2x-y-420 2x-2y-1<0
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x+2-120
3

2v2>2
3x+4y-9<0
-2x-8y-82>0

2x+2y-1<0
-3x+y-2<0:
5x-10-520

2x-v+420
3x— 2y+120:
x—-120

3)



15.3. Qunlb hwdwubin hwdwlwpgh | nLsnudGbph pwqunpynLGp.

x—2y20 -3x-2y<0 2x+y<0
1) {3x+5y<0 2){ 6x—y<0 3){—-x+2y<0:
2x+ y 20 x<0 x=-3y<0

15.4. Lmét, wihwywuwpniGiph hwiwlwpgp L wwuwybpty Gpuw
tnuonudbepp pwqineg)nilp YnnpnhGwwnwiht hwppnipjwG ypw.

([ 3x-y-420
1) | x y 4

————— 20 2) —2-x—y+220
2 6 7 3

2x-y+120

3x+y-320
2x+y-2<0
LSx+y-320
2+ Lilso 8)]05x-y+1<0
10 20 5 0'75 Y oo
IS5x +y 2
x+1—§50
2 2

(-1,5x +3y -9<0 x-2y-220
6):3x+5S5y-15<0
2x+y =220

5)¢ x-2y-220

05x-y-10<0

[(x-0,5y+4>0

x+y-05<0
N<3x+ 2y-120 8){3x—-y+2<0
4x-320 x—-2y-120
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-1,5x+3y-9<0 y—-120

9) x—-2y-220 10)10,75x+ y—-3<0
05x-y-10<0 x+4y+420
3x+2y-6<0 x+y—-2<0

1){3x- y+3<0 12)<x-2y-220

x+2<0 0,5x-y—-10<0

15.5. fhgnip C htnwdhGh wlhpusdtwn uyuwpp (pwgynid £ X hwan
GuphGg L y hwwn juGdnp munbiny: Spdwéd b, np GuwphGeh hwwnb wpdb
75 n., [uGadnphGp’ 50 n., puy Gpwlg qGiwl hwdwp Gwhwwnbujwsd
gnuiwpp Yuquind t 300 n.: QuGk; wyn pwphplGtiph dtinp phipdw
pnypunnptith hwywpwéniGtiph pwqinepynilp:

15.6. Fhgnip dbnGupynipyw nbuntpulGbnp Yuqimd 60 welw w2buw-
wninudp, hnudpp b PhGwbuwlyw dhengltpp L, B L I dwywibGbipny hw-
Jwwwuwnwulpwlwpwp: Iwnbh t, np j -pn wypwlpwuwnbuwyh dkY dhw-
ynph prnwnpliwG hwdwp i1 —pn nbuntpuh Swhuup Yuqdmd t a, dhwynp:
Ljwpwqpb dGnGwpynpjwlé pnnupydwl hGwpwynpnp)nGGtipp, tpb
ponwpyymad t bpynt wbuwyh wypwbp, L= 10, B = 112, [ =135, huy

1 1
6wfuutipp npnaymud 6G | 14 8 | dwwnphgny:
9 15
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